KEER —#EIh— (1) \
Bl HEM K%t FAR NI w14 By k184 20064F)
I E} Mgy | 1/18 | 2/8 | 3/8 | 4/19 | 5710 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |ERAE|m/IME | EHE
x & & & i E] 5l & & = & ] N Z
KRR W4y | 11:08|10:55] 9:30 | 9:09 | 9:47 | 8:30 | 9:01 | 9:41 | 9:11 | 9:59 | 11:40| 9:42
2K m |3.94]381[375]|372]370]359([3.68]3.62]3.60]3.8|4.02]( 3.69
IR m 0,50 | 0.50 | 0.50]0.50]0.50]0.50]0.50]050{0.50]0.50] 0.50]0.50
& R °C 7.2 | 8.9 | 16.1[127]18.0] 25.3| 23,4 25.1|25.9]27.0]21.2] 13.0 .
KR C 5.1 | 3.7 | 89 | 13.5]17.7]21.8[26.2] 252 | 24.1]223]18.6[10.5]26.2| 3.7 | 16.5
N B PUMDIE | AR | SRR | B8 | 90 | RIBE | F8E | HERR | K83 | R8E | fken | ages
2 K(WR) g | e | e | R [ fer | kR | s | R | es [ deR meow| R
SEIRE em | 23.5]10.8] 125|107 17.0] 155 | 12.5[ 15.0 | 14.0| 17.0 | 14.5 | 19.8
B m |07]0233]055]02052]046[0.56/|060][0.44]0.44]0.47{0.64]0.75 | 0.28 | 0.50
A& 17 18 17 18 18 18 18 18 18 19 19 18
p H 8.0 | 7.8 7982|8082 77]|s82|86]|78]|89]81] 89| 77]38.1
DO ng/l [ 13.78]13.30]12.96|11.46| 8.85 [10.21] 6.46 [ 9.79 | 8.82 | 8.52 [13.01|11.21]13.78 | 6.46 | 10.70
BOD m/l [ 3.05|4.11]3.56]3.70|3.45| 4.39] 2.35 [ 2.62 | 1.94] 2.64[6.13]2.75]6.13 | 1.94 | 3.39
COD ya m/l | 7.37|8.86]8.51|9.79] 836 7.55]|7.96|6.93]798]7.33]|8.58]|6.50]9.79]| 651|798
D+ CODy, m/l | 4.64] 4,99 3.24 ] 4.69] 5,31 5.30 | 4.55[4.79]4.70] 4,95 | 4.30 | 4.07 ] 5.31 | 3.24 | 4.63
‘P CODy, m/l | 2.73]3.87|5.27|5.10|3.05[2.25]3.41|2,14]3.28|2.38[4.28|2.44]5.27 | 2.14 ] 3.35
CODe, ng/! — — — |21.23]16.80|17.13]|13.18]14.71[13.72]17.22| 14.77[ 12.14] 21.23 | 12, 14 | 15.66
D: COD¢, me/l — — — — — — — — — — — — — — —
S8 m/l | 17.0| 31.5] 30,0 | 37.0| 22.5[ 22.0] 29.5| 18.0 | 20.0 | 19.5 | 23.0 | 18.0 | 37.0 | 17.0 | 24.0
IR R Mvioond | 1, 1E#3[ 1. 7B+2| 1. 16+2 1. 3B+3| 2, 3E+2| 3. 3642 | 1, 1E+3| 3, 3E+4 | 1. 36+3| 7. 9F+3| 4. 9E+3| 3, 3E+3] 3. 3B+ | 1. 1E+2 | 4. 6E3
FEEEXIBMRE | /100m [ 1. 1E+1]3. 3B+ [ 7. 0E+0(3. 0B+0] <1 [4.0E+0| <1 <1 |s5.0E+0]6.6E+2[8. 0E+0] 4. 8E+1 6. 6E2] <1 |6.5Er1
REFR(IY m/l | 1.29] 1.13] 1.53 ] 1.04 | 0.70 | 0.93 ] 0.82] 0.88 ] 0.75] 0.98 | 1.32 | 1.47 ] 1.53 | 0.70 | 1,07
Y v (TP) me/l [0.082|0.093]0.108|0.122(0.090|0.100]0.104{0.098]0.090|0.101f0.101]0.083]0.122 | 0.082] 0.098
i$4(Zn) /| — Jo.002] — [0.005]0.002]0.031]0.030]0.002]0.002]0.004]0.002{0.002]0.031]0.002 | 0.008
TR HONG-N | me/l | 0.03 | 0.03 ] 0.05] 0.03] 0.01] 0.03[0.17 | 0.02[0.01]0.02]0.03[0.03]0.17 | 0.01 | 0.04
TR IEEH(NG-N | me/1- [ 0.008{0.008]0.016(0.007]0.002]0.003|0.011]0,012[0.016]0.011]0.013|0.013|0.016|0.002| 0,010
FmiEEHG-N | mn [ 0,55 [ 0.33] 0.53 [ 0.10 | 0,00 [ 0.00] 0.04 [ 0.11 ] 0.07 | 0.14 [ 0.29]| 0.89] 0.89 | 0.00 | 0.25
i E G m/t 10.59]0.37]0.60] 0.14]0.01]0.03)0.22]0.14] 0,10 0.17 ] 0.33] 0.93] 0.93 | 0.01 | 0.30
RS (N me/l -] 0.70 | 0.76 | 0.93] 0.90] 0,70 | 0.89 | 0.58 [ 0.74 | 0.66 | 0.80 | 0.99 | 0.54 | 0.99 | 0.54 | 0.77
iakerkaEERo o ma [ 0.33]0.34 ] 0.47( 0.39] 0,41 [ 0.31]0.36 [ 0.53]0.38] 0.39|0.42|0.30] 0.53 | 0.30 | 0.39
wrtiEssce o m/d [ 0.37 [ 0.42 [ 0.46 ]| 0.51 | 0.29] 0.58 [ 0.22 [ 0.21 | 0.28 | 0.41 [ 0.57 | 0.24 | 0.58 | 0.21 | 0.38
ket ™ | me/t [ 0.92 ] 071 1,07 0.53 ] 0.42 ] 0.34 [ 0.58 | 0.67 | 0.48 ]| 0.56 | 0.75 [ 1.23] 1.23 | 0.34 | 0.69
pER(™N me/l | 1.29 | 1.13 | 1.53 | 1.04 | 0.71 ] 0.92 ] 0.80 [ 0.88 [ 0.76 [0.97 | 1.32 [ 1.47 [ 1.53-[ 0.71 [ 1.07 ]
A ERRIV (PO, -B) | e/t ]0.047]0.084(0.072]0.075]0.040]0.049]0.081]0.047{0.045]0.060]0.059] 0.010] 0.084 [ 0.010] 0. 056
B0 o-n | me/l [ 0.003[0.006]0.006[0.003[0.000]0.003]0.025]0.008]0.011[0.009]0.005]0.007|0.025] 0.000] 0.007
sty (> 1 | mg/l [ 0.018]0.018]0.021]0.014]0.015[0.019{0.075|0.025]0.032]0.024|0.019]0.016] 0.075| 0.014 | 0. 025
iy ~ b | m/l [0.064]0.075]0.087(0.108]0.075]0.081[0.029]0.073|0.058]|0.077|0.082|0.067 0.108 | 0.029 | 0,073
FHERHO O m/l | 13.9]13.413.9| — — — — — — — — — | 13.9] 13.4 | 13.7
FEERR(TO m/l | 6.4 | 5.0 | 87 | 5.9 | 6.1 | 5.9 | 5.6 | 4.0 | 5.2 | 5.5 | 6.0 | 47 | 8.7 | 40 | 5.8 |
BRRCTO m/t | 20.3 | 18,4226 — — — — — — — — — [ 22.6 | 18.4 | 20.4
weapre o | ma | 5.1 | 40 | 5.0 | 55| 5.6 [ 5.2 | 5.2 ]33] 38| 43| 43| 26 [ 56| 2.6 | 4.5
BrisrReRsce @) m/ 1.3 10|37 )04f05]07]04a]07]| 14|12 1.7]21])37]04]13
) m/1 | 0.09]0.10]0.16]0.11[0.03[0.03]0.20]0.07]|0.09]0.06]0.04]0.04[0.20][0.03]| 0.09
witeey D> M) | me/t | 0.004] 0,007 0.007]0.005]0.007]0.007]0.007]0,004|0.005]0.004|0.006]|0.006 | 0.007 | 0.004 | 0. 006
" #h(Fe) m/l [ 0.68] 0.8 | 1.02[1.28]0.72]0.68] 1.51]0.63] 1.04|0.98]-0.50 | 0.60 [ 1.51 | 0.50 | 0.87
< (M) me/l | 0.038]0.055]0.063]0.081]0.064]0.068]0.067]0.012]0.041]0.126]0.046]0.046 0.126 ] 0.038 | 0. 061
ERES g | 17.9]928.4]27.3|20.8[19.1[19.9]22.1]16.7]20.5[21.2]21.2]13.6]29.8]13.6] 2L.5
HAEH(20C) ne/m | 27.1 ] 28.3 ] 27.7| 27.56] 28.8 | 28.3 | 27.8 | 27.6 | 25.8 [ 26.3 | 22.4 | 22.3 | 28.8 | 22.3 | 26.7
W A7 () m/l | 19.7]17.4]18.1 ]| 17.0| 16.2] 18.2|18.9 [ 15.9| 18.7 | 17.5 | 16.2 | 18.4 [ 19.7 | 15.9 | 17.7
<737 h(M) m/l | 7.85|7.35] 7.34]6.93]6.84 | 6.54[6.50] 6.68]6.89[6.49] 5.67|5.92] 7.8 | 5.67 | 6.75
pHABTANVE | we/t | 60.6 | 57.5 | 61.3 | 57.6 | 59.7 [ 60.7] 61.9] 60.5]| 68.0[ 61.1|55.4| 53.4 | 68,0 | 53.4 | 59.8
p HO. 0B m/l |10.57|13.71]11.58] 5.76 | 6.17 | 6.56 | 14.34] 8.20 | 6.59 [11.47| 2.66 | 7.00 [ 14.34 | 2.66 | 8.72
pHIOZTANY E | me/l — — — — — — — - | = - — — — — —
A A (502 7) | ug/t [ 29.6 ] 29.1] 283 [29.1(29.1]28.7|27.5)|25.026.2]25.1|24.1(20.6]29.6| 20.6 | 26.9
i) | m/ | 36.8 | 35,0 | 34,6 20.3]33.5(32.6(33.7|34.5[34.2]29.3|24.2]23.0]36.8]230]3L7
TR A(N) m/l | 26.8|27.6( 26.3[27.5]29.0(27.0|26.8]24.9|26.1|24.0]| 18.3|17.7[29.0| 17.7| 25.2
HY 5 AR m/l | 5.40 | 5.07 ] 5.00 | 5.12[5.18| 5.44 | 5.36| 5.06 | 5.43 | 5.52 | 4.88 | 4.72 | 5.52 | 4.72 | 5.18
#ey 0 sio) | me/t | 26.6 (30,2 25.7[20.0]10.1]11.8[19.8|15.1[15.1]12.0] 9.54[16.9]30.2 | 9.54 | 17:7
[T me/t |15.55)10.80) 9.99 | 2.41 | 1.81 | 4.30 | 5.16 | 7.24 | 4.40 [ 3.31 ] 6.87 | 9.89 | 15.55] 1.81 ] 6.81
yoo7gha (Ci=a) | wg/t | 52.8 | 77.8 | 82.1 [ 100.1]49.1| 78.5| 25.6 | 66.0 | 66.4 | 58.5 | 110.4| 61.9 [110.4| 25.6 | 69.1
sapzgi-b (Q-v) | ug/t | 4.1 | 4.0 | 6.3 | 144 7.4 | 7.4 | 6,0 | 9.8 | 6.4 | 7.2 [13.5| 1.6 | 14.4| 1.6 | 7.3
poozgaec (l-e) | pg/t | 9.1 [ 11.3]76.4 [ 32,9]19.6]28.7]12.4]18.0[10.2 ] 12.8]| 18.3[ 7.0 | 32.9| 6.4 | 15.6
7= A T4 FY ped | 4.0 7.7 [ 9.3 [ 238 16.2]11.9[11.2] 8.5 [ 16.3]| 7.7 | 15.6 [ 18.8]| 23.8| 4.0 [ 12.8
Ay mmEtes | men [ 0.01 ] 0.03] 0.03[0.02]0.03]0.02[0.01]0.03]0.03]003]0.03]0.02]0.03]0.01|0.02
ik *HIOTE B RO FEITL D Kk, 3.P-ON=(ON)—(D-ON) 6.P-TP =(TP)—(D-TP)
I.LP-COD=(COD)—(D-COD) 4.D-TN=(I N)+(D-ON) 7.TC=( C)Y+(TocC)
2.1 N=(NH4-N)+{(NO2-N}+(NO3-N) 5 TN=(I N)+{ON) 8.P-0C=({TOC)—(D-0C)




KEER —HEH— (2)

B4 Bk X2 FlEIH FIE il SRR 1 84E( 20064F)

H | Bifr | 1718 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |feA M| Fe M | E 48
2 —Ml B ng/l 7 6 4 13 28 11 5 2 20 6 3 4 28 2 9
PAAL L ng/1 5 11 12 5 19 6 3 2 3 3 2 5 19 2 6

R ARE | e/l — — — — — — — — — — — — — — —

yoEE R g/l - - - — - = - - - - - - - - -

7' o¥/ oy AR e ng/l _ _ _ — _ _ _ _ - — _ - _ - —
Y 7 R Rkde| e/l — — — = — — — — - - — — - - -
7 wBERERE | m/l — — — — — — — — — — — — — — —
RER(TN LR mg/l | 1.29 [ 1.13 | 1.53 [ 1,04 [ 0.70 ] 0.93 [ 0.82 [ 0.88] 0.756 | 0.98 [ 1.32 | 1.47 | 1.53 | 0.70 | 1.07
RER(TN B mg/l | 119109 1.44]1.01]0.64[0.79]0.76]0.83[0.74[1.03]1.33]1.45]1.45[.0.64] 1.03
REF(N TE mg/l | 1.30 [ 1.10 ]| 1.53 [ 1.01 | 0.62 ] 0.69 [ 0.76 | 0.77 [ 0.73 [ 1.06 | 1.38 | 1.47 | 1.563 | 0.62 | 1.04
PR ug/l ]0.082]0.093]0.108[0.122]0.090{0.100]0.104]0.098{0.090]0.101]0.101]0.083]0.122]0.082] 0. 098
Y 2 (TP g mg/1 ]0.080[0.093]0.098[0.117]0.090{0.102]0.106]0.093[0.090]0.106]0.082]0.076] 0.117[0.076] 0. 094
@Y~ (1P) TR mg/l [0.092]0.097]0.115]0.119]0.096]0.092]0.118]0.089{0.095]0.110]0.087|0.071]0.119 0,071 0. 098
coD kR mg/l | 7.37 | 8.868.51]9.79[836]7.55[7.96]6.93[7.98]7.33]8.58][6.51]09.79]86.51[7.98
COD®E mg/l | 6.50[8.32]8.23[8.95]|7.29[6.80[7.69]650]707]747[694]6.35]8.95]86.35]7.34
COD A ng/l | 6.73]8.32]8.15[8.75] 7.25[6.41|6.68]|6.30]6.61[6.83]6.17]6.21]8.75]6.17]7.03
il Kbk °C — — — — — — — — — — — —
Ei] °C 5.1 | 4.0 | 89 |13.6]17.7[21.8] 26.2 ] 25.2| 24.1 | 22.3]18.6] 10.5
0. 5m °C 5.1 | 3.7 89 [135]17.7]21.8]26.2]25.2]24.1]22.3]18.6]10.5
1.0m C 50| 37 ]88 [13.5]17.4]21.6[26.3]24.9[24.1[22.1] 1837102
2.0m C 4.3 | 3.7 ] 86 [ 13.5]17.2]21.5]26.3] 24.8]23.9]21..8]18.2]10.2
3. 0m °C 4.3 ] 3.6 85 | 13.4[17.0[21.4]263[24.8[23.8][21,7]18.0]10.2
4, 0m °C — — — — — — — — — — 180 —
5.0m C — — — — — — — — — — — —
6. 0m C — — — — — — — — — — — —
i ‘C 43| 3.6 | 85 |13.0]17.0[21.4]26.3]24.7[23.7[21.7]18.0] 102
*DO Al | mg/l — — — — — — — — — — — —
Fil g/l | 13.3 | 141129110 10.5] 101 6.5 ] 9.2 ] 89 | 84 | 10.8]10.6
0.5m mg/l | 13.4]14.3]12.8]11,1[10.2]10.2] 6.4 [ 9.2 | 8.9 ] 84 ]10.9]10.5
1.0m mg/l | 13.4]14.2]12.9]109[10.2] 9.8 ] 6.2 | 9.0 ] 8.8 ] 83 [10.9]10.1
2.0m mg/l | 18.7 141 12.7(10.7] 9.3 ] 9.3[6.1]s80] 85| 7.4 [101] 9.9
3, 0m mg/l | 13.6 [ 14,2126 10.7] 9.3 | 9.0 ] 6.0 | 7.4 ] 81 ] 7.1 [10.0] 9.8
4. 0m g/l — — — — — — — — — — 99| —
5. 0m g/l — — — — — — — — — — — —
6. 0m e/l — — — — — — — — — — — —
R me/l | 13.4]14.2]125] 98 9.2]90]60]72]79]71]299]097

AFHE kbl | Lux [20140]35900|57200| 8610 [ 15040 27130 | 3970 | 29410 | 58100 | 17410 | 44100 | 29900
#il Lux | 18980 34000 [ 31200 5420 | 10300 19400 | 2680 | 24310 [ 46500 11570 | 30100 | 18270
0.5m Lux | 4010 | 3420 | 2510 | 569 | 2063 | 4250 | 339 [ 7490 | 4020 | 3310 | 6570 | 3960
1.0m lux | 895 | 370 | 366 | 66 | 485 | 881 | 47 [ 1908 | 715 | 261 | 1269 | 850
2.0m Lux 79 10 11 2 47 19 1 170 | 37 10 | 130 | 83
3.0m Lux 5 2 3 0 4 3 0 9 4 1 10 [ 4
4, 0m Lux — — — — — — — — — — 3 —
5.0m Lux — — — — — — — — — — — —
G‘Om LUX _ — — — _ —_ _ — — — — —
T Lux — — — — — — — — — — — —

iR EOR P mv | 279 | 95 | -88 [ 235 | 228 | 198 | 232 | 235 | 136 | 159 | 98 | 218
(85 * DOIIDOFHIL 5 MER 2




. KEER —AKRFEM— (1)
BT 4 B X3 FIRI [GHIES By SR BLE( 20065F)
H B | B{L | 1/18 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |SHefife| o )M i | SEEfi
ER S [ W & 5] ] & & i3 & s i
Ak sy | 10:27 9:00 | 8:26 | 9:28 | 8:00 | 8:46 | 9:24 | 8:54 | 8:51 | 9:31 | 9:25
2KiE m 5.85 5.97 | 5.84 | 5.75 | 5.87 | 5.81 | 5.42 | 5.22 [ 4.75 | 65.10 | 5.71
AR m 0. 50 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
iR °’C 5.8 9.9 | 11.9] 17.5 [ 22.0 | 24.2 | 23.0| 25.8 | 22.2 | 19.4| 7.5
K iR °C 4,8 8.5 | 13.1|17.3[ 21,0 26.2|25.0f23.5]21.2]19.4]10.7]26.2] 4.0 | 16.2
% ekt o] awm | ane [sos| aee | aue | awe | wee | ane [aees
B KA 5L fmp | fes | s | el | S | S ) R | R ) ER | R
FERE em | 21.4 ‘8.8 | 11.0]19.8] 19.5 [ 15,47 16.2 | 18.5 | 21.5| 19.7 | 18.3
ERE m 0.72 0.36 | 0,29 | 0.64 | 0.69 | 0.62 | 0.62 | 0.54 | 0.56 | 0.75| 0.51 | 0.75 | 0.29 | 0.56
KB 17 17 17 18 17 18 18 17 18 17 18
pH 8.0 80| 82|81 [81]78]|80][86]78]|88]86]s88] 77] 8.1
Do mg/l | 14,32 12.70[10.98] 9.34 [ 8.84 | 6.03 | 8.65 [ 9.68 | 9.68 [11.14[11.44]14.32] 6,03 | 10.52
BOD me/l | 3.07 4,02 | 3,08 | 3.07 | 2.43]2.08]2.57]2.23|1.92]2.64|2.97]4.02 | 1.92] 2.80
CODyy mg/l |'7.53 9.63 | 8.59 | 7.56|6.90| 6,564 | 6.69| 7.13 | 7.13] 7.04 | 7.94| 9.63 | 6.54 | 7.59
D' CODy, e/l — — — — — — — — — — — — —
'P- CODy, mg/l — —_ — — — — — — — — — — — —
CODg, e/l — — — — — — — — — — — — — —
D+ COD¢, ng/] —_ — — — —_ — — — — — —_— — — —
EE me/l | 13.5 45,5 | 40.5 [ 19.5| 14.0 | 23.5 | 19.0 | 15.5 | 12.0 | 15.0 | 20,5 | 45.5 | 12.0 | 21.8
KIBTHRER anv100m | 3. 3E+2 4, 9E+1| 4. 9E+2| 7. 96+1 | 1. 36+2| 4. 9B+2| 7. 9E+3 [ 3. 36+3| 7. 96+3[ 7. 9F+2| 1. 3B+4| 1. 3E+4 | 4. 951 [ 2, 0B+ 3
SEmrRIEE R | w0 [ 1.oE0| <« <1 |1.08+0[2. 0Er0 5. 05+0] 2. 0E+0[ 3. 5B+1| 7. 0B+0[ 1. 7E+1| 3. 5B+1| "~ <1 |85.8E+0
RER(TN me/l | 0.89 1.18] 0.93 | 0.76 | 0.59 | 0.80 [ 1.07 [ 0.70 ] 0.82 | 1.00) 0.66 | 1.18 | 0.59 | 0.85
@y > (1P) me/l | 0,079 0.1200.130[0.088]0.095[0.105[0.109]0.074[0.097]0.077]0.083]0.130( 0.074] 0.096
TE8( Zn) 1/l — — — |o0.003] — — ]0.002| — — 10.001] — ]o0.003[0.001]0.002
TAMEERN N | w1l | 0,02 0.04 ] 0.02 ] 0.02]0.01]0.21]003][0.02[002]002]002]0.21]0.01]0.04
EHEEERNG-N | m/l |0.005 0,011 0,003{0,001]0.001{0.019{0.026]0,004{0.003{0,01110.000]0.026]0.000}0.007
WEIEERNG-N | myl | 0.17 0.14 | 0,04 | 0.02] 0.00 [ 0.04 [ 0.25 ] 0.03 [ 0.01 ] 0.21 ] 0.00] 0.25 [ 0.00 | 0.09
EREERCIN mg/l | 0.20 0.19 | 0.06 | 0.04 | 0.01 [ 0.27 [0.31]0.05[0.03]0.24]0.02] 0.31 [ 0.01]0.13
HEREH( O me/l | 0.70 0.98 | 0.85 | 0.70 | 0.57 | 0.53 | 0.76 | 0.64 | 0.78 | 0.75 | 0.67 | 0.98 [ 0.53 | 0.72
R ERESRD | — — — — — — — — — — — — — —
BFEARESECr ] me/l — — — — — — — — — — — — — —
ERERERCD N | m/l — — — — — — — — — — — — — —
REZ(N me/l | 0.90 1.1710.91 ] 0.74 [ 0.58 ] 0.80 | 1.07 [ 0.69 | 0.81 [ 0.99 [ 0.69 | 1.17 | 0.58 | 0.85
AWYVEEAIAPO-P) | me/l | 0,038 0.092|0.081]0.034]0.031|0.089]0.053|0.030|0.048] 0.039]0.004] 0.092| 0.001 | 0. 049
it aus> ro-n | g/l | 0. 005 0.008 | 0. 005 | 0.000 | 0.005|0.035|0.008]0.008]0.011[0.006]0.000]0.035]0.000]0.008
EAHERY (D TP | e/l — — - — — — — — — - — - - —
HFERY L O ) | my/l — — — — — — — — — — — — —
EREHH(O m/l | 13.1 13.8| — — — — - — — — — | 13.8]13.1] 13.4
HIHERH(TDO g/ 6.1 7.5 | 6.0 | 53| 5.6 | 4.9 | 4.6 | 4.8 | 4.9 | 5.4 | 5.1 ] 7.5 | 4.6 | 5.4
e ] mg/l | 19.2 21.3| — — — — — — — — — |21.3]18.1]19.5
gpe s ©| — — — — — — — — — — — — — —
HTHEATREGHCP | e/l - - - - - - - - - - - - - -
TRFRYER(D Te) /] — — — — — — — — — — — — — —
AR AD M) | e/l — — — — — — — — — — — — — —
$k(Fe) mg/l — — — — — - — — — — — — — —
2 H (M) g/l — — — — — — — — —
B 15.6 38.4 | 30.6|16.2]12.8]18. 1| 17.2| 14,2 |'15.6 | 13.1| 12.4] 38.4 | 12.4 | 18.8
n6/m | 26.8 28.0 | 27.7 | 28.8]29.4 | 28.0 | 26.4 | 30.8 | 27.9 | 23.3] 23.6 | 30.8 | 23.3 | 27.4
HALY h(G) my/l — — — — — — — — — — — — — —
=7 2y Ak e/t bl —_ — — - — - — — — - — — —
p HA87 ARV B | me/l | 60.4 60.7 | 57.6 | 60.9| 61.9 | 63.1 | 60.7 | 65.6 | 62.7 | 56.6 | 55.4 | 65.6 | 55.4 | 60.6
p HY, 0B4IE e/l | 10,16 9.55 | 4.57 | 6.77 | 8.15 | 13.14]10.39] 6.19 | 10.46| 2.85 | 2.80 | 13.14| 2.80 | 8.13
p H9.07 V) B me/1 — — — — — — — — — — — — — —
BEEA A (50,2 7) | m/t — — — — — — — — — — — — — —
e Av@ [ me/l | 38.9 34.4 | 33.2(33.2]39.7]33.6]230.7]|34.7[325]26.2[29.2]39.7] 2.2/ 33.6
Fh U Y A(N) e/l — — — — — — — — — — — — — —
eI e/l — — — — — — — — — — — — — —
U (T 81 0,) mg/1 — — — — — — — — — — — — — —
Wy i e/l — — — — — — — — — — — — —
panzgt-a (Gl-0) | we/l | 64,0 102, 4 43,1 [ 38,8 17.6 | 63.9 | 58.2 | 58.4 | 80.7 | 71.4 | 102.4| 17.6 | 62.8
yamzq-b (Gl-b) | we/l | 2.7 5.4 7.6 | 7.7 | 29 [ 89 |100f 81| 80| 2.0 |11.5] 2.0 | 6.8
pazqime (Ql-e) | pg/l | 7.1 2.3 . 10.1 | 14,1 | 2.7 [15.2]16.0 [ 14.8]| 21.4| 4.7. [ 36.0 | 2.3 | 13.5
7wk T AT ug/l | 3.9 8.4 | 6.4 | 7.5 1.9 | 53| 80 [34.2| 55| 6.5 |18.8|34.2[ 1.9 ] 9.2
A L REEIER | uw/l — — — — — — — — — — — — = =
(GE3 IO H R OHEIZL Y Rdie, 3.P-ON=(ON)—{(D-ON) 6.P-TP=(TP)—(D-TP)
I.LP-COD=(COD)—(D-COD) 4.D-TN=(l N)+(D-ON) 7.TC=(I C)+(TOC)
5. TN=(I N)+(ON) 8.F-0C=(TOC)—(D-0C)

2.1 N=(NH4-N)+(NO2-N}) +(NO3-N)



KEFER —AKE— (2)

B4 A KR4 FHRJ % S il SR 184E( 20064E)

H B Bpr | 1718 | 2/8 | 3/8 | 4719 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 1074 | 11/1 | 12/6 |Sekfi| B/ M| 0 1E)
2 —Ml B ng/l 6 6 4 12 39 8 6 3 8 7 3 4 39 3 9
DARI L ng/1 4 7 12 8 14 5 4 2 2 2 2 7 14 2 6

#hyangte | mg/t [0.050] 0. 054]0.088]0.092] 0.088] 0.112]0.085] 0.099] 0.101] 0.062[0. 098] 0. 063 0.112] 0. 050 | 0. 083
prndaipkte | me/1 | 0.025]0.025]0.0510.050] 0.048]0.0551]0. 0410]0. 0543]0. 0580]0. 0300[0. 0655(0. 0331] 0. 066 | 0. 025 | 0. 045
7 we/ pomppite| ne/1 [ 0.018]0.019]0.027] 0.030] 0.029 0. 0377]0. 0291]0. 0323]0. 0311]0. 0220]0. 0256]0. 0200] 0. 038 | 0. 018 | 0. 027
3 7 peyonsge| e/l [0.007]0.009 ] 0.009]0.011 [ 0.011 0. 0174]0. 0141]0. 0116[0. 0113]0. 0091]0. 0069]0. 0092] 0. 017 | 0. 007 | 0. 011
7 webiEseE | me/t ] 0.000]0.001]0.001]0.001]0.000]0.0015]0.0010[0. 0007]0. 0004] 0. 0004]0. 0002]0. 0008] 0. 002 | 0. 000 | 0. 001
faE®(NEB | mg/l [ 0.89]0.85] 1.18]0.93]0.76 ] 0.59 | 0,80 | 1.07 [ 0.70 | 0.82 | 1.00 | 0.66 ] 1.18 | 0.59 | 0.85
pEFNTE | m/l | — | — — — — =17 =71T-= — — | = 1= — — —
BEXR(NTE | wg/l [0.87[0.87] 1.15 [ 0.85| 0.67 | 0.57 [ 0,80 | 1.04 | 0.69 | 0.80 | 0.98 | 0.68 | 1.15 | 0.57 | 0.83
@y (i@ | mg/t [0.079]0.089]0.120]0.130] 0.088] 0.095] 0.105]0.109]0.074] 0.097] 0.077] 0. 083 0. 130 | 0. 674 | 0. 096
woranEm | ng/l | — — — — —TT=T1= - | =1 = - = — — —
T | me/l [0.080{0.093]0.124[0.188]0.091]0.087]0.116]0.1140.087] 0.108]0.082]0.085] 0.188 | 0. 080 0. 105

COD LR ng/l | 7.53 | 8.44 | 9.63 | 8.59 | 7.56 [ 6.90 [ 6.54 [ 6.69 | 7.13 | 7.13| 7,014 | 7.94 ] 9.63 | 6.54 | 7.59
COD¥E mg/! — — — — — — — — —. — — — — — —
COD TR g/l | — | - [ - =] -] -1 -1 -T-T=-1-1-1- — —
A AL | C | -1 — 1 -1 -1 -1 -1 -1-1 -1 -1-1-
Xifi RO I e I I e e e e e e
0. 5m T — — — — — — — — — — — —
1.0m c - - — — — — — — — — — —
2. 0m C - | - 1=71T= — — | = 1 =1 = — =1 =
3.0m C — T -1 =-1T= - = 1T =1T= — — | - 1 =
4.0m C — — — — — — — — — — — —
5. 0m °C — — — — — — — — — — — —
6. 0m c | — | = — - - — [ =1 =1 = — — =
A Tl - | | = [ - - == -[=1=1=1-=
*D O Al | mg/l — — — — — — — — — — — —
R N | - | - | = [ - [ == =T —=—T—T-T~-1-=
0. 5m me/| — — — — — — — — — — — -
1. 0m ng/! - — — — — - - — — — — —
2.0m ng/! — — — — — — — — — — — —
3.0m g/l — — — — — — — — — — — —
4.0m mg/1 — — — — — — — — — — — —
5. 0m ng/! — — — — — — — — — — — —
6. 0m mg/| — — — — — — — = — — — —
B e I e e e e e e e e e e
AFRE AL | x| — | — | -1 -1 -1 -1 -1-1-1-1-1-<
< Lux — - — — — — — — - — — —
0.5m Lux — — — — — — — — — — — —
1. Om Lux — — — — — — — — — — — —
2.0m Lux — — — — — — — — — — — —
3.0m lux | — — [ = — — - - - — — - | -
4, 0m Lux — — — — — — — — — — — —
5.0m w | — T - -1 -=-1-=-1-1T-1-1T-="T-"T-=-1T-=
6. 0m Lux — — — — — — — — - — — —
I i Lux — — — — — — — — — — — —

EiRH EOR P mv — — — — — = — — — — — —

% * DOMD ORI 5 MERE

=y




KNEHER —Hamh— (1)

BURIFT4 =AM KR FlJH 1144 By il SR 184E( 2006 4F)
] H wWer | 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21°| 10/4 | 11/1 | 12/6 |BeK{E| &/ ME|FE
EE [ [ [ & 5 & e £ [ £ I i
A B4y | 10:11{10:05] 8:45 | 8:09 | 8:57 | 7:44 [ 8:32 | 9:07 | 8:39 | 8:38 | 9:17 | 9:07
BKIE m 5.99 | 6.08| 6.09| 6.12|5.95| 6.09 | 5.88 | 6.20 | 5.97 | 6.09 | 6.03 | 6.12
FRAKIE m 0.50 | 0.50 | 0.50 | 0,50 | 0.50 | 0,50 | 0.50 | 0.50 | 0.50 [ 0.50 | 0.50 | 0.50
M ‘C 4.7 | 6.5 | 9.5 [ 12.4]18.0]21.2|.24.0]22.9| 256.8[21.8[19.2| 5.2
K iR T 4.0 3.9 8.0 | 12,9 17.5119.9]26.3| 25,2 | 23.56(21.8] 18.2] 10.9] 26.3 3.9 16. 0
] weE | niem| s | sem | ses | sne | ses | s | aes | ses | ses [ eees
8 KR R s | s | e | e e | &R | s | s | R ) g | Es
SERE em | 22.9]14,0] 11.8] 11,3 ]20.5] 19.6 [ 20.0 | 21.0 | 20.5 | 28.5 | 22.0 | 18.5
B RE m 0.7210.45] 0.52|0.30 | 0.65 ]| 0.69 | 0.65 ]| 0,73 ] 0.61 | 0.82] 0.83| 0.50] 0.83 | 0.30 | 0.62
A 17 17 17 17 18 17 18 18 17 18 17 18
b H 7.8 7.7 8.0 8.0 8.0 8.1 7.8 8.1 8.6 7.9 8.8 8.9 8.9 7.7 8.1
DO me/l | 14.20]13.14]13.53|11.72] 9.33 | 9.52 | 6.52 | 9.33 [ 9.35 ['7.60 [10.87] 12.03].14.20| 6.52 | 10.60
BOD g/ 2.05| 3,17 | 4.52|3.04| 2.54|2.89| 2.49 | 2.32 | 2.11 | 1.67 | 2.88 | 3.11 | 4.52 | 1.67 | 2.73
CODyy me/1 6.87 | 8.789.49|8.23 | 7.21| 6.56 | 6.69 | 6.50 | 6.77 | 6.54 | 6,72 | 7.54 | 9.49 | 6.50 | 7.33
D' CODy, e/ — — — — — — — — — — — — — —
‘P CODy, ng/! — — — — — = — — - — — — — — —
COD¢, me/1 — — — — — — — — — — — — — — —_
D+ COD¢, g /! — — — — — — — — — — — — — — —
.83 g/l 11.5( 25.0 | 32.5| 37.0 | 17.5| 14.5 | 15.5 ]| 13,0 | 14.0 [ 19.0 | 14.5| 18.5] 37.0 | 11.5 | 19.4
RIBEREK wavioon | 3, 3Be1] 7. 9B+ L] 1. 3B+ 1] 1. 3Ee3] 1, 3E+2] 4, 9Er2( 2, 3E¢3] 3, 3E+4 | 7. 9E+3| 7, 9B+ 317, 9B+31 4, 9E+3] 3. 3E+4 | 1, 3B+ 1| 5. BE3
HmERgdEek | Maood | <L |3.0E+0]2. 0B+ <1 <1 [2.0B+0| <1 |L.OEt1| <1 [1.2Br1|1.8F+1]|9.0E+0|1.8E+1| <1 - [4.7E+0
REHR(TN mg/! 0.80 | 0.99] 0.95|0.86 | 0.61 ] 0.64| 0.66| 0.83] 0.55[0.70 | 0.87 | 0.66 | 0.99 | 0,55 | 0.76
#Y (1P ne/l | 0.0810.095|0,108|0.134|0,090]0,091(0.087|0.095]|0,113[0.089|0.078|0,081]0.134] 0,078 0.095
HEN Zn) ng/| — — — — [0.002] — — ] 0.001 — — | 0,001 — 0.002 ] 0.001 | 0. 001
TADMEREF(N-N | my/l 0.000.01|0.04]|0.02|004]0.01]0.11]0,02]0,03]0,02f0.02{0.02]0.11 | 0.00 | 0.03
FEMBEERONG,-N | m/l | 0.004|0.006(0.003|0,002|0,001|0.000|0.008]0.014(0.000|0.000]|0.008]0.000] 0.014] 0.000 | 0. 004
PRk -N ag/! 0.15| 0.22 1 0.01 | 0.05| 0.00| 0.00] 0,01 | 0,12 0.00] 0.00| 0.06 | 0.00 ] 0.22 | 0,00 [ 0.05
RSN g/l 0.15| 0.24 | 0.05] 0.07 | 0.04 | 0.01 ] 0.13 | 0.15| 0.03 ] 0.02 | 0,09 | 0.02] 0.24 [ 0.01 | 0.08
HREER( QY mg/1 0.650.76 | 0.88 | 0.80 | 0.58 | 0.62 | 0.51 | 0.68 | 0.53 ]| 0.68 | 0.77 | 0.64 | 0.88 | 0.51 | 0.68
st iRERO O w) | — — — — — — — — — — — — — — —
PRI HCP V| e/l - - - - - - - - - - - - - - -
BRHLRERCD ™ | my/ — — — — — — — — — — — — - — —
BERCN /! 0.80| 1.00| 0.93] 0.87 | 0.62] 0.63 ] 0.64| 0.83 | 0.56 | 0.70 | 0.86 | 0.66 | 1.00 | 0.56 | 0.76
A YVRERRY A PO, —P) m/l 0,026 0.056|0.063]|0.069(0.035]|0.031|0.054]|0.041]0,030]0.032{0.037|0.009]0.069 | 0,009 0.040
iR ra-n | me/i | 0,003 0.005) 0.006]0.006] 0, 000] 0,005]0,022]90,011]0,011]90.009]0.003)0.006])0,022) 0.000 | 0,007
ERHERY v (D TP | my/l — — — — — — | = — — — — — — — —
HFHERY v (P 1) | g/l — — — — — — — — - — — — — — —
FRERFO g/l | 144 13.1] 13.4 | — — — — — — — — — 14.4 | 13.1 | 13.6
HIgERE(TO g/ 5.7 4.5 6.6 5.0 5.2 6.6 3.9 4.4 5.2 4.8 5.5 5.4 6.6 | 3.9 5.2
 apECT ug/! 20.1 | 17.6 | 20.0 — — — — — — — — — 20,1 17.6 | 19.2
R # | e/l — — — — — — — — — — — — — —
wFERERECr ©| m/l — — — — — — — — — — — — — — —
HRRIESK(D: Fe) me/} — — — — — — — — — — — — — — —
iBRHEA (D M) | g/l — - — - — — — = — - — — — — —
$i( Fe) ag/| — — — — — — — — — — — — — — —
< A (M) mg/) — — — — — — — — — — — — — —
I i3 13,3 22.7|30.9|27.7| 155 12.1 | 11.4]11.8 | 11.5| 9.0 | 13.2 | 12.2] 30.9 9.0 15.9
S AH(207C) mi/m | 27.1 | 27.6 | 28.0 | 27.8 [ 29.1[29.8]29.1|27.9] 31.0] 28.4| 24.6]23.7] 31.0 | 23.7 | 27.8
By K(Q) e/l — — — — — — — — — — — — — — —
<7330 A e/ — — — — — — — — — — — — — — —
p H4.87 W50 g mg/1 60.6 | 58.5| 61.3 | 55.6 | 60.1 | 62.3 | 64.1 | 62.3 | 65.0 | 66.4 | 58.4 | 52.0 | 66.4 | 52.0 | 60.6
p H9. ORSLE ng/} 8,13 [14.11| 8.94 | 5.56 | 6,97 | 7.95 [13.14] 8.80 | 5.79 [11.07| 3,04 | 2,00 | 14,11| 2,00 | 7.96
p Ho.07 Ary B e/l — — — — — — — — — — — — — — —
Bt A (50,27) | ne/l — — — — — — — — — — — — — — —
ik Av(a”) g/l 41.1 | 36.2 | 34.8 | 31.1 | 35.7 | 36.4 | 36.4 | 33.9 | 36.0 | 33.6 | 28.6 | 30.1 ] 41.4 | 28.6 | 34.5
Fh Y A (M) /) — — — — — — — — — — — — — — —
A9 7 A e/ — — — — — — — — — — — — — — —
#) (T SiG) mg/1 — — — — — — — — — — — — — - —
Hta ) A ng/l — — — — — — — — — — — — — —
yoa74f-a (Chl -a) g/l 46.3 | 63.6 | 114.5| 58.2 | 47.5 [ 31.7 | 25.8 | 56.6 | 22.6 | 51.8 | 80.1 | 75.9 | 114.5] 22.6 | 56.2
yomzqib (Ql-b) | pg/l 1.0 | 1.0 | 3393|8163 43]|89]| 29] 66| 84| 1.3 ] 9.3 1.0 | 5.1
50740 (=) ue/l 0.9 | 6.2 | 5.3 [26.8]16.8]|18.0| 8.4 | 12.9| 4.2 | 15.6]19.0| 4.5 ]26.8| 0.9 | 11.6
T AT 4 FY n e/l 3.1 0.4 3.6 | 24.6 1 12.4] 8.9 | 13.1 5.6 5.6 9.2 | 16.0 ] 24.6 0.4 9.3
TaA o REEEA | /) — — — — — — — — — — — — = — —
23 FHIO IR TR O FRICLY R, 3.P-ON=(ON)—(D-ON) 8.P-TP=(TP)—(D-TP)
1.LP-COD=(COD)—(D-COD) 4.D-TN=(l N)+(D-ON) 7.TC=( C)+(TOC)
2.1 N=(NH4-N) +(NO2-N) +(N 03-N) 5. TN=(I N)+(ON) 8.P-0C =(TOC)—(D-0C)




NEFER —Hdm— (2)

BHIPTA “F3A T SERR1BLE( 20064F)
bl A B N AP YN
2 —Ml B ng/l — —
TARAL v ng/1 — —
MR e/l — —
Jomiidl R g/l - -
7 we/ Jupy | me/l - -
Y 7 nyoeib kA | me/l — —
7 volE K g g/l — —
REHCIN BB g/l 0.99 | 0.55
g/l — —
(TN T g/l 1.02 | 0.57
#Y (TP LR mg/! 0.134]0.078
29 > (TP $JF g/l — —
®Y (TP T me/| 0.129] 0,073
" CODLR g/! 9.49 | 6.50
coD%g me/| — —
CODTHE e/l — —
A KE C
il °C
0.5m °C
L. 0m C
2.0m C
3.0m T
4. 0m C
5, 0m C
6.0m T
g} °C
*DO AKE | g/l
Edii] mg/1
0.5m e/l
1.0m g/
2.0m g/l
3.0m ng/!
4. 0m g/l
5.0m mg/)
6.0m mg/|
S g/l
KHERE kb | fux
Rl Lux
0.5m Lux
1. 0m Lux
2.0m Lux
3,.0m Lux
4. 0m Lux
5.0m Lux
6. 0m fux
JE T fux
EiRf EORP m

o D WIER R




.. KEFEER —@Elmm— (1)
BT 4 =l i KRt FURJI] 114 o SRR 184E( 20064F)
" H AL | 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/56 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 | K|/ Ml | i
xRk I [ Ii# & il ] [5E} = = & I e
AL Wy | 14:03]13:23|11:13|11:45(11:51]10:28 | 10: 51| 12: 18| 10:57 | 11: 00 | 12:50 | 11: 24
DK m 3.61 | 4.13]3.98]3.92]3.81|3.91[402]3.8]3.72]3.87]3.70]3.72
B m 0.50 [ 0.50 | 0.50 ] 0.50]-0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
R °C 5.9 [ 11.9]15.2 | 14.2 ] 18.5 | 22.0 | 21.9 | 27.1 | 26.7 | 23.5| 22.9 | 12.8
K iR °C 5.7 ] 5.0 ]10.9|14.7]18.6[22.1[26.6]26.4]|25.0]22.2]18.9]10.2]26.6( 50 | 17.2
o # wam®| wvem | sum | aum | ans | xem | aee | xae | cee | aee | aee | aees
B K(HR) ME | ER | R | ER | ER | ER | ko | kb [ L) R | Tk ) ;i
HIRE cm | 15.2 | 13.6 ] 14.6 | 11.5[13.9 | 16.0 | 11.5| 13,0 | 12.0 | 14.5 | 15.5 | 20.8
E m 0.45 | 0.39 | 0.64 | 0,31 | 0.45| 0.48 | 0.56 | 0.54 | 0.41 | 0.41 | 0.61 | 0.66 | 0.66 | 0.31 | 0.49
K (A 18 18 18 17 18 18 18 17 18 18 17 18
p H 8.7 /83| 8685858276 80]81]77]89]382]389]|76]8.3
DO me/l | 15,26]13.53]15.67[11.19|11.12|10,19| 5,73 | 10.04| 8.11 [ 9,91 |13.42|12.38] 16.67| 5.73 | 11.38
BOD me/l. | 5.90 | 5.12 | 3.66 | 5.42 | 5.05 | 5.80 | 5.15 | 4.20 | 5.73 | 4.13 | 4.40 | 3.70 | 5.90 | 3.66 | 4.86
CODyy mg/l ] 9.41]9.80| 7.30 | 9.99 | 10.95| 8.41 | 9.51 | 9.01 | 8.60 | 8.72 | 7.14 | 6.29 ] 10.95| 6.29 | 8.76
D: CODy, me/l | 4.52 [ 5.19 | 4.51 | 4.97 | 5.13] 6,33 5.35| 5.09 [ 4.58 | 4.95|3.70 [ 3.47] 6.33 | 3.47 | 4.82
‘P CODy, m/l | 4.89 | 4.61 ] 2.79 | 5.02 [ 5.82 | 2.08| 4.16 |.3.92 | 4,02 | 3.77 | 3.44|.2.82] 5.82 | 2,08 ] 3.95
COD¢, g/l — — — [23.35[22.88[18.04(15.9117.65|17.29]18.16] 12.89]13.68] 23.35[12.89| 17,76
D« CODg, ne/l — — — — — — — — — — — — — — —
55 me/l | 27.0[30.0]21.5|28.0]29.5]|24.0]37.0| 250 265|250 17.0| 19.2 | 37.0] 17.0 | 25.8
RIS RERL aev100a | 3, 3E+3| 1. 71+3| 3. 3B+ 1 | 1. 3E+3[ 3. 3E+4 [ 1. 1E+3| 4. 9E+3| 3. 3E+4 | 3. 3E+3| 1. 1E+4| 7. 9E+3| 3. 3E+3] 3. 3E+4 | 3. 3E+1 | 8. 7E+3
JEMIREAIBRES | t/r0om |2, 6E+1(7.0B+0) <1 | 1.0E0[2.0E+0] <1 <1 |1.6E+1|3.0E+0]9, 2E+1| 1. 8E+1| 2. 2B+1| 9. 2B+1| <1 | 1.6E+1
BERTY mg/t | 1,98 [ 2.13 ] 2.11 | 1.65 | 1.60 | 1.21 | 1.55] 2.07 | 1.71 | 2.10 | 2.567 [ 2.70 | 2.70 | 1.21 | 1.95
@Y > (1P mg/l |0.111{0.110]0.095)|0.143|0.182]|0.164]0.204]0.160(0.103[0.142[0.096{0.092]0.204 | 0.090 | 0.133
T4 7n) g/l — — — — [0.003| — — [0.003] — — |0.001] — |0.003]0.001]0.002
TAMEEFRN-N | me/l | 0.01]0.02 ] 0.03 [ 0.03|0.07]0.04]0.27]0,06[0.05[0.02]0.01[0.02]0.27]0.01] 0.05
ERRIEER(NO,-N | ng/l [0.024]0.022(0.025]0.019]0.009]0.010]0.025|0.037[0.103|0.037[0.038]0.035]0.103| 0.009 | 0. 032
FEIEER(NO,-N | mg/) [ 1,10 1.15 [ 1.29 ] 0.85| 0.18 | 0,07 [ 0.19 [ 0.54 | 0.64 | 1.06 | 1.61 | 2.02 | 2.02 | 0.07 | 0.89
ERESER(IN mg/t | 1,13 1.19 [ 1.35]0.90]0.26 [ 0.12 ] 0.49 | 0.64 [ 0.79 [ 1.12 [ 1.66 | 2.08 | 2.08 | 0.12 | 0.98
HRIEER( QY mg/l. 1 0.85[0.93]0.78 0.75|1.33| 1.09 | 1.06 | 1.43.{ 0.93 ] 0.97 ] 0.91 | 0.60 | 1.43 | 0.60 | 0.97
A RIEE R ®| m/l ] 0.34]0.29 ] 0.31 | 0.37 [ 0.51 | 0.45] 0.40 [ 0.63 ] 0.46 | 0.46 | 0.43 | 0.10 | 0.63 [ 0.10 | 0.40
wrtatasce o me/l | 0.51 ] 0.64 [ 0,47 0.38] 0.82] 0.64 ] 0.66 | 0.80 | 0.47 [ 0.51 | 0.48 | 0.50 | 0.82 | 0.38 | 0.57
weppbezER(> N | m/t | 1,47 | 1.48 | 1.66 [ 1.27 [ 0.77 [ 0.57 | 0.89 | 1.27 | 1.25 | 1.58 | 2,09 | 2.18 | 2.18 | 0.57 | 1.37
REFCWN mg/t | 1,98 | 2.12 | 2.13 | 1,65 | 1.59 | 1.21 | 1,565 2.07 | 1.72] 2.09 | 2.57 | 2.68 | 2.68 | 1.21 | 1.95
ALV APG -P) | me/l [ 0.058]0.059]0.051|0.055]0.0580.052|0.134|0.0580.067|0.062]0.047]0.004| 0.134 | 0.004 | 0. 059
vt ey ra-m | omg/1 | 0.005 | 0,003].0,005 | 0.005]0.010|0.008|0.051(0.020]0.014]0.011[0.003]0.000| 0.051]|0.000( 0.011
FApERY (0 1) | mg/l |0.018[0.013]0.017/0.017(0.029]0.032] 0.041| 0.044 |0, 043 |0.030]0.013|0.018] 0. 044 [ 0.013] 0. 026
BFERY ~ (P TP | me/t [0.093)0.097)0.078{0.126]0.153{0.132[0.163[0.116]0.060]0.1120.077]0.074f0.163]0.060 | 0. 107
ERERIN 0 mg/l | 14.1 | 11,5 | 10.7 | — — — — — — — — — |14.1] 107 12.1
HHIEBIHR(TO e/l 6.3 | 5.4 | 4.9 | 4.8 | 6.1 | 6.0 | 6.5 | 4.1 | 5,4 | 5.8 | 5.4 | 4.3 ] 6.5 | 4.1 | 5.4
HBFCTO mg/l | 20.4] 16,9 | 15.6 | — — — — — — — — — | 20.4] 15,6 | 17.6
ERIEFRENED ©| me/l 4.3 | 3.8 |1 3.8 [ 38|45 | 55|50 3239 ] 44] 43| 23] 55 23]4.1
A ERECr ©| m/l 20 1.6 | 1.1 | 10| 16| 05|15]| 09| 15| 14| 121] 20| 20] 05/ 1.4
) mg/l | 0.04 ] 0.06| 0.05) 0.03 | 0.03|0.00]0.24] 0.05]|0,05|0.04] 0.02]0.04] 0,24 | 0,00/ 0.05
gtk (D M) | mg/l | 0.005) 0,006 0.007 | 0.008|0.008|0.006|0.007|0.004]0.005|0.004]|0.004]0.005] 0.008 | 0.004 | 0. 006
%( Fe) m/l | 0,48 0.71 ] 0.47 | 0.68 | 0.72 | 0.58 | 1.52 [ 0.73 | 0.84 | 0.76 | 0.49 | 0.49 | 1.52 | 0.47 | 0.71
2 H (M) ug/l ] 0.047[0.051]0.058]0.0950.096|0.069] 0.098] 0.079]0.079|0.156) 0.044 | 0.056| 0. 156 | 0. 044 | 0. 077
S B 30.4 | 30.8[25.1|28.4]283]|20.2[26.4]20.8]20.3|24.4|16.4]|12.4]30.8] 12.4 ] 23.7
HIREH(20°C) o6/m | 23.3 | 24.1 | 21.8| 22,6 | 26,3 | 24.7 ] 22.2] 20.5| 21.5|20.7| 17.5 | 17.4 | 25.3 | 17.4 | 21.8
HALY M) mg/l | 17.9]16.3 ]| 147 14,2150 16.3 | 15.8] 13.3 | 15.2 | 14.5 ]| 12.8 | 14.2 ] 17.9 | 12.8 | 15.0
<7 7Y AOM) mg/l | 7.07 | 6.54 | 5.81 | 5.64 | 6.04 | 5,92 | 5.33 [ 5.18 | 5.36 | 5.28 | 4.57 | 4.89 | 7.07 | 4.57 | 5.64
pH4.87 AV B | ng/!t | 60.2 | 52.4 | 49.9] 50.2 | 56.3 | 80.4 | 60.1 | 53.5| 55.3 | 50.8 [ 44.0 [ 39.7'] 80.4 | 39.7 | 54.4
p HY, ORSHE me/l | 5.49 [10.08f 8.33 | 2.58 | 5.77 | 7.35 | 14.73| 8.80 | 7.58 | 12.07| 2.85 | 5.20 | 14.73| 2.58 | 7.57
p H9.07 V7Y g/l — — — — — — — — — — — — — — —
B A (50,%7) | me/l | 24.9 ) 24.4 | 22.9 ] 25.4 | 27.1 (22,6 [ 20.9 [ 19.4]| 21,7 |20.4|20.2]17.2] 27.1| 17.2 | 22.3
s Av(a) | m/l | 30.4] 26.3 ] 20.6 [ 22.0(25.5|26.8[26.1[18.0] 24.5]17.5]19.3] 13.0] 30.4 | 13.0 | 22,5
Fh U Y A(N) mg/l | 22.0 ] 21.1] 185|225 24,3]229|19.115.6] 18.5| 17.1] 12.3 ] 13.5| 24.3 | 12.3 | 19.0
HY U AR mg/l | 4.30 [ 3.95] 3.581 | 3.95| 4.55|4.73| 4.56 | 4.24 | 4,31 | 5.14 | 3.96 | 3.49 | 5.14 | 3.49 | 4.22
@y AT sio) | mg/l [ 21.1]21,8]18.9]19.8]12.2]15.2]26.2]|23.5[23.3]17.5]12.7[20.8]26.2]12.2 19.4
ey 7 me/l | 11.13]10.13] 8.54 | 1.86 | 3.73 | 6.56 [12,75|14.78| 16.67| 11.88|10.30| 15.08| 16.67 | 1.86 | 10.28
ponzgpn (Ql-a) | wg/t | 89.3 [ 92.7 | 93.5 |155.6]140,4]117.0| 86.8 | 105.7| 99.4 | 95.2 | 92.8 | 94.3 | 155.6| 86.8 | 105. 2
pomzqp-b (Ql-b) | g/l 1.8 | 42| 44 ]18.3|17.4|13.0] 13.5]| 15.5| 11.4 | 14.4 ] 10.3| 1.4 | 18.3 | 1.4 | 10.5
pomzqpe (Gl=e) | pg/l | 9.7 [17.3] 9.7 [ 40.2]33.3 | 31.8[20.3 | 15.1]10.1[18.6[21.0( 16.6] 40.2 ] 9.7 [ 20.3
T AT 4 FY pg/l [ 20.0 | 11.0| 8.5 [35.5|27.2]24.2(26.8[25.9|46.1[17.2[21.627.6] 46.1 ] 8.5 [ 24.3
[ Ay pEEER | me/l | 0.01] 0,02 ] 0.02 | 0.02 | 0.03[0.03]0.02]0.05]0.05]0.04]0.03]0.02]0.05(0.01]0.03
e *HIOHEBITRAOHBICL Y ki, 3. P-ON=(ON)—(D-ON) 6.P-TP=(TP)—(D~TP)
LLP-COD=(COD)—(D-COD) 4.D-TN =(I N)+(D-ON) 7.TC=( C)+(TOC)
2.1 N=(NH4-N)+(NO2-N)+-{NO3-N) 5 TN=(1 N)+{ON) 8.P-OC=(TOC)—(D-0C)




AREER —mEHh— (2)
B4 s KA FARJI )14 vl i1 84E( 20064E)

H B Hfr | 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 | Bk {E| & ME| FHE
2 —MI B ng/1 11 7 9 32 [ 180 | 18 4 3 10 7 6 3 180 3 24
SARAI v ng/1 4 8 13 23 31 2 2 2 2 3 4 1 31 2 |8

BN R g/l — — — — — = — — — — — — — — —

JomiE RS g/l — — — - - - - - - - — — - — -

7 v/ junpb ke me/l | — — — — - - — - — — — — - — -
Y 7 eymnph ke e/l — - — — — - — - - - - - — - —

7 nepERRE | o/l — — — — — — — — — — — — — — —.

BEFRTN EE e/l 1,981 2,13 | 2,11 | 1.65| 1.60 | 1.21 | 1.55 | 2,07 | 1.71 | 2.10 | 2,57 [ 2.70 ] 2.70 | 1.21 1.95

BER(N PIF mw/l | — — — — — — — — — — — — — —

RER(TN T mg/l | 187 1,98 2,22 1.61]1.37 [ 1.47] 1.47][1.81 ] 1.70] 2.35] 2.62 ] 2.93] 2.93] 1.37 | 1.95

Y (P kR mg/1 |0.111[0.110]0,095]0.143|0,182|0.164|0,.204|0.160|0,103|0.142|0,090|0,092] 0.204| 0,090 0.133

3y v (P me/| — — — — | = — — — — — — — — — —
#Y L (P TR mg/l |0,115[0.097|0.127]|0.194(0.175]0.192|0,204|0.159]0.117[0.107|0.095]0.103]0.204] 0.095 | 0.140
COD kK mg/1 9.41 1 9.80 | 7.30 | 9.99 |110.95]| 8.41 | 9.51 | 9.01 | 8.60 | 8,72 | 7.14 | 6.29 | 10.95| 6.29 | 8.76
CODWE rrg/l — — — — —_— — — — — —_ — — —_ _ _—
CODTHg me/l | — — — — — — — — — — — — = — =
A Ak C — — — — — — — — — —
RKifi C [ 5765210147 19.0]220]26.5]265]25.0]22.2][19.8]10.3
0.5m C | 5.7 50 ]109]14.7[18.6[221]26.6]26.4]250]222]18.9]10.2
1,0m C 5.7 4,9 9.4 14.6 | 18.5 | 22.0| 26.6 | 26.2 | 24,9 | 22.1 | 18.4 | 10.1
2.0m C | 56| 4.5 | 8.8 [14.6[18.3]21.9]26.6[25.7]24.8]21.8[18.0]10.0
3. 0m C [ 5.2 ] 44| 87 [145]18.2]21.7]26.6] 255/ 24.6] 21 179 | 9.7
4.0m T — 4,2 — — — — 26.6 — — — —
5,0m T — — — — — — — — — — — —
6.0m C — — — — — — — — - — — —
JE ifii C | 5:2 ] 42 ] 87 [144[180]21.5]26.6[25.3][24.6]21.7]17.9] 9.5
*DO Ak | me/l — — — — — — — — — — — —
Fi g/l 15.9 ] 15.3 | 16,3 | 12.4 | 13.4 9.6 5.8 8.4 8.5 8.4 14,1 ] 11.8
0.5m me/l [16.1[15.5]16.2[12.4]105] 9.6 | 5.6 [ 8.4 [ 85| 86 |13.9]11.7
1.0m me/l | 16.2]15.4] 16.812.3] 89 | 9.1 | 5.5 | 8.1 | 8.4 | 8.4 | 12.8 ] 11.7
2.0m ng/l [ 16.3] 154 14.7|11.8] 8.1 | 85 | 6.3 | 6.2 | 7.9 | 7.2 | 11.1]11.3
3, 0m m/l [16.3]15.4] 14.2[11.6] 6.8 6.8 53|59 7.2 68]108]11.1
4,0m e/l — 14.3 — — — — 5.3 — — — — —
5.0m g/l — — — — — — — — — — — —
6. 0m me/1 — — — — — — — — — — — —
izt ng/1 16.3 | 14.3 ] 12.1 | 11.4 4.8 4.0 5.3 5.7 7.2 6.8 10.0 | 11.0

AR K Lux | 16050 | 50400| 72500 11730 | 11021 | 9420 | 6820 | 35600 | 74000 | 24330 | 45500 | 17760
Kifi Lux | 14240 34300 | 48100 | 7650 | 6860 | 7060 | 3710 | 28208 | 42000] 13280 | 27000 | 12900
0.5m Lux | 2910 | 5370 | 8780 | 754 | 706 [ 1233 | 346 [ 6100 | 5030 | 2648 | 9070 | 2560
1.0m Lux 729 1112 | 1549 | 213 95 240 30 1085 903 318 2708 743
2, 0m Lux 49 57 75 53 3 12 0 40 26 40 177 70
3.0m Lux 5 5 7 27 0 1 — 1 4 17 14 6
4.0m Lux — 1 — — — — — — — — — -
5.0m Lux — — — — — — — — — — — —
6.0m Lux — — — — — — — — — — — —
FEiE Lux — — — — — — — — — — — —

JEiRE FORP mv 218 120 99 -170 | 286 196 89 246 93 199 123 240
fiws * DOWD ORIz L 5 JliERH R




KEER —FéEMh— (1)
BHFT 4 Ei&np K% FAR] fIlES By il i 184E( 2006 4F)
H ] By | 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |FeKfE| R/ IME|F3HE
PR 2 i i) = ii & - &= £ & 5 £
AR 4y | 13:25(12:30] 10:57[ 11:00 | 11:18| 9:50 | 10: 25 11:22] 10:33 [ 10: 37| 11:33] 10: 57
RIRTE m |649[6.78|6.60] 6.41|6.42] 6.52 | 6.45 [ 6.30 | 6.38 | 6.59 | 6.32 | 6.41
AR m [ 0.50]050]050]0.50]050]050]050]050]050]0.50]|050]|6.50
R °C 6.9 | 11.8] 15,0 13,3] 18,1 23.7[ 23.2 | 25,9 | 26.4 ] 21.0 | 20.8 [ 14.3
KR °C 5.0 | 1.3 ] 10.213.4]180[20.9]26.2]25.1[24.0[21.1]18.2]10.9]26.2] 1.3 | 16.4
s Bl BEIEE | IARIGE | PkiEs | SR5 | SBE | X8R | &R | NS | &08 | 888 | 2180 | RGeS
£ R(HR FroR| R | MR [ e | s | s | R [ s | R | s | s | R
B em | 13.2]14.0] 10.5 13.5] 19.2 | 19.0 | 15,0 | 15,5 | 17.5] 19.0 | 15.5 | 16.0
BV m |0.37]0.45]|048]0.41] 0.5 0.65/[0.60] 0.62] 0.50] 0.50 | 0.60]0.3] 0.65]| 0.37 | 0.51
A 18 17 17 17 18 18 18 18 18 18 17 18
b H 8.6 | 80| 84|81 |82[81]78|80]8s5]77]89]89]89]77]238.3
DO ng/l | 15.5613.26| 14.08] 11.05[ 9.84 [ 9.63 | 5.53 [10.08] 9.26 | 8.72 [ 12.41]12.58] 15.56 | 5.53 | 11.00
BOD me/l | 5.68 ] 4.19 ] 5.46 [ 3.82 ] 4.21 [ 3.50] 3.38 | 3.50 [ 2.59] 3.33]4.34[3.66] 568 2.59] 3.97
CODy, e/l | 8.79(8.98]9.75[8.99(8.26|7.65] 769 7.47[7.8]7.77]814]|796]9.75]7.47] 8.28
D+ CODyy, e/l — — — — — — — — — — — —_ — — —
‘P CODy, g/l — — — — — - - — — — — — — — -~
COD¢, g/l — — — |18.26]17.32]13.48] 13.68| 15.76| 15.61|17.43 | 14.88( 16.25] 18.26 | 13.48 | 15. 85
D' COD¢, mg/1 — = — — — — | - — — — — — — — —
S S ng/t | 25.5 ] 26,0 ] 35.5] 26.5 | 17.5 | 19.0 | 27.0 [ 20.5 | 15.0 | 17.5 [ 19.0 ] 22.2 | 35.5 | 15,0 | 22.6
KIGHHRE& ev1oon | 1. 3E+3| 2. 3E+2 |4, 9+ 1 [ 7. 9G+2] 7, 9E+2| 7. 9E+2| 3. 3E+3| 1. TE+4 [ 2. 3E+4| 1. 3F+4] 2. 34 3. 3E+3] 2. 3E+4 [ 4. 9E+ 1 [ 7. 2643
- RtEAmEEE | m/oom | <L <1 |5.0E+0|5. 0E+0|2. OE+0| 3. 0E+0| 8. 0E+1| 5. 0E+0| 3. 0F+0| 5. 0F+ 1] 1. 75+ 1| 5. o0 8. 0E+1| <1 [1.5EH
RER(TN mg/l | 1.48 | 1.18 | 1.26 [ 0.94 [ 0.85 [ 0.92 | 1.10 [ 1.52 | 0.84 | 1.23 | 1.78 | 1.49 | 1.78 [ 0.84 | 1.22
U 2 (1P) we/l [ 0.096]0.090{0.122]0.126]0.110[0.104]0.146]0.123]0.100|0.127]0,106]0.111]0.146[0.090] 0.113
HE 3 Zn) me/] — [0.002] — J0.002]0.002]0.002]0.008]0.011]0.001]0.002]|0.001]0.001]0.011]0.001]0.003
7y ERERON, N [ we/t ] 0,03 [ 0,03 ] 0.04 [ 0.02]0.02]0.02]0.17[0.02]0.01[0.02]002]0.020.17]0.01]0.04
mEEERN0-N | me/ [0.009]0.009{0.007{0.003]0.002]0.001]0.059]0.034]0.001(0.030]0.051]0.023]0.059]0.001]0.019
mimiEERNo-N | e/t ] 0.46 [ 0.30] 0.12] 0.09 [ 0.00] 0.00{ 0.10 ] 0.54 | 0.05] 0.21 [ 0.87 [ 0:66] 0.87 | 0.00 [ 0.28
ERESERCIN m/l [ 0.50]0.34 {017 0.11]0.02[0.02]033]05 00602 ]094]070]094]002]0.34
HIRIEEH( QY m/l ] 0.97]0.84]1.09]0.83[0.83[0.89]0.77]0.93]0.78|0.97]0.84]0.81] 1.09 [ 0.77 | 0.88
ERHETRIEERED o] e/ — — — — — — — — — — — — — — —
BrrrigasEce o8| m/) — — — — — — — — — — — — — — —
wppEsRC> ™ [ m/ — — — — — — — — — — — — — — —
BERCINY mg/l [ 1.47]1.18] 1.26 [ 0,94 0.85] 0.91 | 1.10] 1.52 [ 0.84 ] 1.23 ] 1.78 [ 1.54 ] 1.78 | 0.84 | 1.22
AkY ) (PO -P) | ng/t | 0.053]0.050]0.061]0.047]0.034]0.035(0.084]0.048 | 0.038]0.051]0,050[0.004]0.081] 0.001] 0.046
ispEraEsAr v | mg/l [0,005] 0,003 0.005]0.005]0.000]0.003|0.037]0,016]0.013]0.019|0.005]0.000]0.037]0.000] 0.009
BEERY V(D TP | ne/t — — — — — — — — — — — — — — —
HFHERY ~Cpe ) |- me/l — — — — — — — — — — — — — —
SRR O mg/l | 14.4 | 12.9] 13.5 [ — — — — — — — — — [ 14.4]12.9] 13.6
ATRIES (T e/l | 5.3 49| 67 49| 55| 58] 45] 48] s62]56]60]s64] 67| 45] 51
Bp#CTO m/l [ 19.7]17.8] 202 — — — — — — — — — [ 20.2]17.8]19.2
BT RIERED ©] g/ — — — — — — — — — — — — — —
B AT AP o me/l - - = - - - - = - - - - - - —
FRMEED Fo) | g/l — — — — — — — — — — — — — — —
ERREE s (D M) | m/l — — — — — — — — — — — — — — —
#%(Fe) /| — — — — — — — — — — — — — — —
< A (M) g/ — — — — — — — — — —
R g | 27.3[ 256|353 |21.2[17.4]16.2]18.3] 16,9 12.5)13.4]18.0 14.9| 353 | 12.5 | 19.8
R HR(200) as/m | 25.2 | 27.4 ] 27.6 | 26.6 | 29.0 [ 29.2 | 26.5 | 24.4 | 27.5 | 25.8 | 19.7 | 21.6 | 29.2 [ 19.7 | 25.9
Kt B(G) g/ — — — — — — — — — — — — — — —
Y R A (M) g/l — — — — — — — — - - - — — — —
pH4874hY & | me/t | 61.2 ]| 54.5]62.3]57.0]59.7[63.1|64.7|55.7]65.2(60.4[47.8]|49.7]65.2] 47.8 | 58.4
b H. 0BYE me/l | 4.88 [10.28] 8.94 | 5.96 | 6.77 [ 8.15 [ 14.93[10.99] 6.39 [12.68] 2.09 | 1.20 [14.93] 1.20 | 7.77
p HO.O7 A HY B me/l — — — — — — — — — — — — — — —
FEA A (50,7 ) | ng/l — — — — — — — — — — — — — —
s a0) | m/ | 36.0]35.9 ] 32.6] 20,0 34.2|35.1(32.4]265(32.8[30.1]19.7]|249]36.0][19.7] 30.8
T U as) /1 — — — — — - — — — — — - — — —
HY T LK . mg/! — — — — — — — — — — — — — — —
WYY AT SiG) ng/1 — — — — — — — — — — — — — — —
WYy mg/l — — — — — — — — — — — — — —
pomrqp-a (Gi-a) | wg/t | 84.3 | 77.9 [ 131.6| 81.4 | 79.4 | 70.5 | 57.8 | 70.8 | 82.2 | 89.4 |115.6[137.4]|137.4| 57.8 | 89.9
pon7inb (i-b) | wet | 1.3 | 2,9 [ 109 12,1] 9.8 | 13.8| 7.6 [ 12.3] 9.3 | 11.3 | 11.6| 1.3 | 13.8| 1.3 | 8.7
pomzqie (ci-e) | png/l | 0.8 | 22.4] 7.3 | 28.0[ 26,2 34.8] 25.9[12.6]| 21.8[ 9.9 | 18.5 | 23.4] 34.8] 0.8 | 19.3
T xATA T ue/t [ 930224171 31.0]15.8] 7.0 16,4 147 [ 19.8] 2.0 [ 17.2[29.2] 93.0] 2.0 | 24.6
Tt A REEER | e/l — — — — — — — — — — — — — — —
e FEIOM B (L RRDIFEICE D KTz, 3.P-ON=(ON) —(D-ON) 6.P TP =(TP)—(D-TP)
1.LP-COD=(COD)—(D-COD) 4. D-TN=(I N)+{D-ON) 7.TC=(I C)+{TOC)
2.1 N=(NH4-N)+{NO2-N)+(NO3-N) 5 TN=(l N)+(ON) 8.P-OC=(TOC)—(D-0C)




, KEER —Fd&Em— (2)
BillFr4 ESE0 X FIAR S {114 g i AL 184E( 20064F)

Il H Bz | 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 || e/ IMIL| S5 1HE
2 —MI B ng/l 13 5 6 16 51 13 .10 3 12 6 8 5 51 3 12
JAAI v ng/l 5 6 8 16 10 5 5 2 2 3 2 5 16 2 6

MRS T ng/l ]0.049[0.051]0.090]0.091[0.110{0.130]0.092{0.101]0.125]0.079{0.081|0.075]0.130] 0.049] 0. 090

yoniiE R ng/l | 0.028[0.024]0.0520.052]0.063]0.0790[0. 0507]0. 0630]0. 0786[0. 0467]0. 0601]0. 0492 0. 079 | 0. 024 | 0. 054

7w ponpyipiiz] me/l 0.016[0.018] 0,028 [ 0,028 0.034 0. 0374[0. 0289]0. 0291]0. 0345[0. 0254]0. 0194]0. 0193 0. 037 | 0. 016 | 0. 027
Y 7 s Erse| me/l 0.005[0.008]0.009(0.010(0.012(0.0126[0.0117]0, 0086]0. 0111[0. 0066]0..0041]0. 0062] 0. 013 | 0. 004 | 0. 009

7 oeldERaE | me/l [ 0.000]0.001{0.001]0.001]0.0010.0007]0.0007[0.0003]0. 0004 <0. 0002 <0. 0002{0. 0003 0. 001 | 0. 000 | 0. 001

BER(IN LE g/l | 1.48 [ 1.18 | 1.26 | 0.94 | 0.85] 0.92 [ 1.10 ]| 1.52 ] 0.84 [ 1.23 | 1.78 | 1.49 ]| 1.78 [ 0.84 | 1.22

REHOIN PR mg/l | 1,18 1.15] 1.23 [ 0.95 | 0.77 | 0.82 [ 1.14 | 1.52]| 0.85 [ 1.25 | 1.66 | 1.48 | 1.66 | 0.77 | 1.17

REHRIN TR mg/l [ 1.34 1,17 1.41[1.35]0.96] 0.96 ] 1.17 | 1.58 [ 0.93 ] 1.01 | 1.79 | 1.48] 1.79 | 0.93 | 1.26

12U > (TP) LR mg/l [0.096[0.090]0.122|0.126[0.110{0.104|0.146{0.123]0.100[0.127]0.106]0.111] 0,146 0.090( 0.113

12U > () g mg/l [0.098]0.093]0.092(0.129]0.110]0.110{0,149]0,128/0,104]0.129]0,109|0,111]0.149{0.092]{0.114
12U+ (1P) TR ng/l |0.096]0.108]0.109]0.203[0.154{0.118]0.173[0.159]0.107|0.139]0.135]0.113] 0,203 | 0.096 | 0. 135
CoD LE mg/l | 8.79[8.98]9.75[8.99|8.26]| 765|769 7.47]| 7.8 [7.77]|814|7.96]9.75] 7.47] 8.28
C OD ki mg/l | 8.31[8.78]9.39|8.35|7.68]7.3 |777]|68|764[7.73]738]798]9.39]6.85]7093
CODTH mg/l | 8.47 | 8.58 | 9.23[9.43]8.93] 7.8 | 7.92]7.39[7.52]7.53] 740 7.96] 9.43] 7.39] 8.19
KR Ak °C — — — — — — — — — — — —
Fi c |l -1 -1 -1 -T-T-T=-T=T=1T=T-=-7T+=
0.5m C — — — — — — — — — — — —
1.0m °C — — — — — — — — — — — —
2.0m | °C — — — — — — — — — — — —
3.0m °C — — — — — — — — — — — —
4.01’11 r)C - - - - - - - - - - - -
5, Om C — — — — — — — — — — — —
6. 0m T — — — — — — — — — — — —
K E cl|l -1 -1-1T-1T-T-1T-T1T-1T=-T-=-1-=-1-=
#*DO0 AL [m/N | — [ - T =T -T-T-T-T1T-T-T-T1-1T1-
Rif g/l — — - — — — — — — — — —
0.5m ng/! — — — — — — — — — — — —
1.0m rrg/l - - - - - - - - - - - e
2, 0m ng/l — — — — — — — — — — — — .
3.0m rrg/l - - - - - - - - - - - _
"1.0m n'g/I - - - - - —_ - - - - - -
5, 0m g/l — — — — — — — — — — — —
6. 0m ng/l — — — — — — — — — — — —
i) g/l — — — — — — — — — — — -

ApEE Kbk [ Lux — — — — — — — — — —. — —
FE Lux — — — — — — — — — - — —
0. 5m Lux — — — — — — — — — — — —
1. 0m Lux — — — — — — — — — — — —
2. 0m Lux — — — — — — — — — — — —
3, 0m Lux — — — — — — — — — — — —
4.0m Lux — — — — — — — — — — — —
5.0m Lux — — — — — — — — — — — —
6. 0m Lux — — — — — — — — — — — —
i) Lux — — — — — — — — — — — —

EREIORP | ov | — =T T - T T - T - —-—T-—T-T-—1T"=
W% * DOWD O 5 fIERER




KEER —#b— (1)

B4 50 KA FlRJI A i SERL1SEE( 20064E)
T B | Bz |1/18| 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |BekfiE| B M| s
xR S [ S 5§l g2 | 2 2 [ & It [
AL 5y | 8:55 | 9:04 | 8:11 [ 7:24 [ 7:56 | 7:08 [ 8:00 [ 8:00 | 8:08 ] 7:59 | 9:50 | 8:30
LRI m |598[605]58 5925915858 ]5090]582]59]6.02]595
BRI m | 0.50[050[050[050]05 05 ]05 05 /05 ]05 /050 /0750
% R C |41 4775 126]17.8]229]24.8]23. 7] 25.9[22.5]18.9] 5.7
KR C [ 40 [ 37 79 126172211 |2.7]24.8]23.7]21.8]17.7]106]25.7] 3.7 [ 15.9
n B N | BB | IRRRE | 208 | BBE | RiNE | GNE | RIBE | BBE | B8E | N0E | RomE
B RUAR AL | A | R | MR | s | R | WA | KR | ke | ks | g | ks
- EBEE em 219155105 11.5]19.0]26.0]23.07]23.3]20.5][27.5][21.0] 20.5
B m [0.72][0.47]0.49]0.31]0.59]0.82]0.69][0.8]0.60]0.8]0.77]077]0.83]0.31] 0.66
x 17 17 17 17 18 17 18 18 17 18 17 18
p H 7.3 | 7.6 [ 818181 [80] 788084788884 s88] 7.3] 8.0
DO ng/l [ 13.13]18.34(14.07]10.65] 9.50 [ 8.56 [ 6.92 [ 8.91 [ 8.727] 8.31 [ 11.84] 11.06] 14.07] 6.92 | 10.42
BOD m/t | 2.79[3.31[4.84 264 3. 02]2.32] 263211 1.86| 203287 [3.44]| 4.84] 1.86 | 2.81
CODy, me/l | 7.33 [ 8.94]9.87[8.37]7.37[6.48|6.66 | 6.44 | 7.58] 7.33 [ 7.74 [ 7.564] 9.87 [ 6.44 | 7.64
D: CODy, me/l | 4.70 [ 5.43 | 5.25[ 4.81 | 4.56 | 5.58 | 5.15 | 4.77 | 4.86 [ 5.58 | 1.36 | 5.12 | 5.58 | 4.36 | 5.01
‘P CODyg, me/l [ 2.63[3.51 [ 4.62[3.56]2.81[09]1.51]1.67]272]1.75]3.38][242]4.62]0.90]2.62
coDg, ng/! — — — [21.32]14.94] 9.93[13.18]13.13] 14.56 14. 28] 13.51] 14.30] 21. 32 9.93 [14.35
D- CODg, me/1 — — — — — — —_ — — — — — — — —
ss me/l | 13.6 245320415 180125140120 155135 17.0] 17.2| 41.5 [ 12.0] 19.3

RIBHREK awioon | 1.3E+L| 7. 961 | 1, TE+1| 7, 9E+2( 2, 3E+2| 2. 36+2| 2, 3E+3| 1. 3E+4| 1, 1E+3[ 7. 9E+3| 3. 3E+2| 7. 9E+3| 1. 3E+4| 1. 3B+ 1| 2. 8E+3
RS R | @/100u <1 <1 <1 <1 <1 <1 <1 [5.6Er1| <1 |2.3E+l|6.0E+0|3.8E+1] 5. 6E+] <1 1. 0E+1

BERN mg/l | 0.8311.08]1.09]0.81]0.63]0.65]0.67|0.80] 0.75| 0.85[0.86| 0.65] 1.09 | 0.63 | 0.81
Y (TP mg/l ]0.076]0.098]0.121{0.133]0.091(0.083)0.0810.086)0.127|0.100[0.087|0.078]0.133(0.076]0.097

7

WE£2( Zn) g/l 0. 002 0.003]0.002{0.028]0.021|0.001{0.002]0.002|0.001)0.001]0.028] 0.001] 0.006
TAMEER(NG N | ng/l ] 0,02 | 0.02 | 0.05 ] 0.04 [ 0.03 ] 0.03]0.09]0.01]0.000.02]002]0.02]0.09]0.00]0.03
ERREEERONO-N | we/t | 0.004[0.005]0.003]0.003[0.001]0.001]0.007]0.012]0.000]0.002]0.001]0.000]0.012] 0.000]0.003

FREMESEH(NO, -N) e/l 121 0.16 | 0,01 | 0.08 | 0,00 0.01 | 0.01 [ 0.09 | 0.00 [ 0.00 { 0.00 | 0.00 .16 [ 0.00 | 0.04
ERBER (TN g/l 14 0.19 | 0.06 | 0.12 [ 0.03 | 0,04 | 0.11 | 0.11 [ 0.00 | 0.02 | 0.02 | 0.02 .19 1 0,00 | 0.07
HIHEER( Q) me/1 68 | 0.89 ] 1.01 ] 0,71 [0.60| 0.61 | 0.54 | 0.68 | 0.74 | 0.82 | 0.83 | 0.61 01 ]0.54]0.73
FREEREEHRD )| ng/l 38 10.37|0.40)0.39]0.38 | 0.38 |.0.36 | 0.52 | 0.43 [ 0.41 | 0.34 ] 0.33 52 | 0.33 | 0.39
RIPEREE R, @) e/l 30 ] 0.52 | 0.61]0.32]022[0.23]0.18]0.16[0.31 | 0.41 |.0.49 | 0.28 61 | 0.16 | 0.34
TEARERERCD N | me/l 52 | 0.56 | 0.46 | 0.51 [ 0.41 [ 0.42 ] 0.47 | 0.63 [ 0.43 | 0.43 | 0.36 | 0.35 63 | 0.35 | 0.46
REZ('TN e/l 8211.08|1.07)0.83]0.63| 0.656 | 0.65| 0.79]0.74 | 0.84 | 0.85| 0.63 08 | 0.63 | 0.80
AV IEIAPG -P) | mg/l | 0.030]0.051|0.067)0.079|0.035]0.0300.049(0.033|0.028]0.031]0.034]0.004]0.079 [ 0.004] 0.039
it mE (> | me/l 10,003 0.003)0.006)0.006| 0.003) 0.006(0.024(0.008]|0.0060.012]0.000]|0.000) 0,024 | 0.000 | 0. 006
EARERY (D TP | we/l | 0.016]0.015(0.023)0.020]0.014 [ 0.023| 0.059|0.024]0.032|0.024(0.012]0.014 | 0.059 | 0.012] 0. 023
HFERY (P TP) | mg/l | 0.060]0.083)0.098)0.113]0.077] 0. 060 | 0.022 | 0.062]0.095|0.076)|0.075)| 0.064]0.113] 0.022 0.074
ERERNUO me/| 15.3 | 13.4 | 13.5 — — - — — — — — — 15,3 [ 13.4 [ 14.1
HRIEFRFR(TD ng/| 6.9 4.7 | 6.6 | 5.7 1.8 5.5 | 46 | 4.1 5.4 | 5.0 | 6.1 5.2 6.9 4.1 5.1
i 10 mg/l | 22.2[18.1] 20.1 — — - — — — — — - 22,2 | 18.1 1 20.1

ole|elele|o|o|f
~[o|ele=|e|e

FERERRIERE> Q] m/l 4.9 4.0 [ 5,0 | 4.5 ] 4.1 4.5 | 45 | 4.0 | 4.2 | 4.8 4.0 | 3.3 5.0 | 3.3 4.3
BT HEAIBERECE @] me/l 2.0 0.7 1.6 1.2 0.7 1.0 | 0.1 0.1 1.2 0.4 [ 2.1 1.9 2.1 0.1 1.1
FERTIEER(D Fe) mg/l 1 0.07]0.11]0.12]0.08 | 0,00 0.00 | 0.09[0.03]|0.02)0.03).0.00]0.00]0.12] 0.00 | 0.05
fEfptEea (D M) | mg/l | 0,004 [0.0070.015]0.0060.007]0.005]|0.005(0.003]|0.003|0.007]|0.004(0.005]0.015]| 0.003 ]| 0,006
(Fe) mg/l | 0.42 | 0.61 | 0.67 | 1.19] 0,42 ] 0.30 [ 0.60 | 0.26 [ 0.32 [.0.30 ]| 0.28 | 0.22 | 1.19 | 0.22 | 0.47
v A (M) mg/l ]0.024|0.043]0.068|0.110|0.075|0.049|0.051{0.035)0.039]|0.103]0.033|0.060| 0.110 | 0.024 0, 058
B K - 114.3[21.931.1]28.7|157(10.7[10.3] 9.9 | 12.8]| 9.8 | 13.8|10.5] 31.1| 9.8 | 15.8

- HEH(200) uf/m | 27.4129.7]28.2)28.3]|30.56)29.8[30.2]288]29.2|28.4|257]|25.3]30.5]|253]| 28.5

HATY H@) e/l 19.2 117.4116.6 | 16.0 | 16.4 | 18.2 [ 19.2 [ 16.1 | 18.6 | 18.1 | 15.7 | 16.5] 19.2 | 15.7 | 17.3
w7 AT AN mg/l | 7.98 [ 7.74 | 7.69|7.08|7.27|6.98|7.11|7.01|730][6.82]619]6.53]7.98]|6.19|7.13
p He.87 Ah Y B mg/l | 58.8 | 54.7 | 61.7 | 56.0 | 59.5 | 62.7 [ 65.9 | 63.1 | 66.0 | 64.1 | 59.0 | 54.6 | 66.0 | 54.6 | 60.5

p HY, 0RE mg/t ]10.97[11.89| 8.33 | 4.76 | 6.97 [ 8.54 [12.15]10.79| 5.59 [12.27| 3.04 | 4.80 | 12.27| 3.04 | 8.34
p HO. 07 v vy & g/l — — — — — — — — — — — — — — —
LR A2 (50,2 7) me/| 29.4 | 30.4 )| 27.4 | 28.6 [ 30.0] 29.1 [ 28.6 | 24.9| 25.5| 25.7 | 23.9] 19.6 ] 30.4 | 19.6 | 26.9

Hikdp A (aD mg/l | 41.6 [ 39.7 | 33.7(35.136.9| 355 |44.8 357 [37.5]36.1]232.7]|34.3] 44.8| 32.7| 37.0
Fh Y v b(N) mg/t | 28,4 30.0]28.7]29.8]31.729.8)30.5[27.1]27.9]27.5(23.8[25.7]31.7/[23.8]28.4

EEVESS mg/l | 5.14 | 5.03 | 4.93 | 4.97 | 5.20 | 5.37 [ 5.47 | 5.14 | 5.41 [ 5.30 | 5.15 | 5.06 | 5.47 | 4.93 | 5.18
By AT Si0) ng/l 1 23.3 1 26.1|24.4]24.5]9.79|8.82[12.1[11.88.125.32|6.11|7.21]26.1]5.32]| 14.0
- my/l |14.76)10.80| 7.44 | 2.41 | 2,35 [ 3.12 | 4.36 | 8.26 | 2.66 [ 0.93 | 1.54 [ 0.42 | 14.76| 0.42 | 4,92

you7f-a ( Chl —a) ng/l | 69.7 | 69.8 |106.2| 58.0 | 40.7 | 35.7 | 24.1 | 54.2 | 63.2 | 64.4 | 81.3 | 59.1 | 106.2| 24.1 | 59.7
7074i-b (il -b) ug/l 1.9 3.1 4.1 | 11.4] 8.9 5.7 8.8 | 10.5 | 9.8 8.2 8.2 1.5 | 11.4] 1.5 6.8
yon7gh-c (il —¢) ng/l 0.9 7.7 0.5 | 25.4 | 24.7 8.0[21.5[16.0]20.2]20.2]15.7| 9.1 | 25.4] 0.5 | 15.0
7=AT4FY 1 e/l 1.9 116.0]23.1]227)14.1] 9.9 | 11.6 | 13.1]17.1]| 4.4 | 19.2 ]| 16.4 | 23.1 1.9 [ 14.1
0. 0.

-

& A RilidEER | me/l ] 0.01 { 0,03 | 0.03 ] 0.02 | 0.02 21 0.02]0.04]0.03]0.02]0.02]0.01]0.04]0.01]0.02
TE HIOEE RAOHTICLY sRdiz, 3. P-ON=(ON)—(D-ON) 6.P-TP =(TP)—(D-IP)
LP-COD=(COD)—{(D-COD) 4, D-TN=(] N)+(D-ON) 7.TC=(1 C)+(TOC)

. 2.1 N=(NH4-N)+(NO2-N) +H{(NO3-N) 5 TN=(1 N)+(ON) 8.P-0C=(TOC)—(D-0C)




KEFER —ML— (2)
[EGiES L KR FIR)I FIIIEA i 5% 184 20064F)

" B | whr | 1718 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |FeK | IMiE| T i
2 —MI B ng/! 6 7 4 10 24 8 5 3 10 7 4 3 24 3 8
VAR v ng/1 5 10 13 10 20 6 6 2 2 2 1 6 20 1 7

Faby A A m/l — — — — — — — — — — — — — — —

yomnidkpifE | g/l — - - - — — — — — — — - — — -

7 ¥/ ?‘DDM'/’%‘}%SZﬁF RE/] — — _ — — — - _ _ — _ _ _ _ _
Y 7 nxyunpp s me/l — — — = — - - - — — - - - — —

7 weiiEiE | ne/l — — — — — — — — — — — — — — —
BEHCIN £ me/l | 0.83]1.08] 1.09] 0.81]0.63 [ 0.65]0.67]0.80]0.75] 0,85 | 0.86 [ 0.65 ] 1.09 [ 0.63 | 0.81
BELRCIN BIF mg/l | 0.75 | 0.95] 1.00] 0.80] 0.60 | 0.56 | 0.62 ] 0.83 [ 0.67 [ 0.72 [ 0.80 | 0.67] 1.00] 0.56 | 0.75
BERCIN T me/l | 0.80 [ 1,00 [ 1.02]0.90]0.61]0.56]0.62]0.78]0.65] 0.72]0.92]0.55] 1.02] 0.55]0.76
@y () B e/l | 0.076]0.098)0.121[0.133]0.091]0.083]0.081[0.086]0.1270.100]0.087]0.078]0.133]0.076] 0.097
@y > (TP) g wg/l | 0.076]0.087]0.120]0.126] 0.092] 0.084]0.083] 0.088] 0. 110] 0. 090 0. 087[ 0.079] 0. 110 [ 0. 076 | 0. 096
w) (P FE - | me/l |0.078]0.089]0.118]0.147[0.097]0.084]0.086]0.093]0.145]0.099]0.093] 0.083] 0.147 [ 0.078] 0. 101
CODLtR me/l 7.33 | 8.949.87|8.37|7.37| 6.48 | 6.66 | 6.44 | 7.58 | 7.33 | 7.74 | 7.54 | 9.87 | 6.44 | 7.64
CODE ne/l | 6.93 | 8.389.27[8.41| 7.17[6.09] 6.30 5.96 | 7.58 [ 6.97 [ 7.16 | 7.54 | 9.27 [ 5.96 | 7.31
CODTHE g/l 7.13 | 8.58 | 9.19| 8.79]| 7.09 | 6.25| 6.26 | 5.86 | 7.58 | 7.09 | 7.18 | 7.62 | 9.19 | 5.86 | 7.39

AR KR °C — — — — — — — — — — — —

Hifi C | a1 |37 o127 17.2]21.2] 257 24.8]23.7]21.8]17.7] 10.7
0.5m c | 40| 3779126 17.2]21.1]25.7 ] 24.8]23.7]21.8]17.7] 10.6
1.0m C |40 37 728 ]126]17.2]21.1]25.7 ] 24.9]23.7]21.7]17.7] 10.6
2.0m C 4.0 3.6 7.7 12,6 | 17.1 | 21.1 | 25,7 | 24.8 | 23.7 | 21.7 | 17.7 | 10.6
3.0m C |39 36 77126171 ]21.1]26.7] 24.8]23.7]21.7]17.7] 10.6
4. 0m C 3.9 3.8 7.7 12,60 17,00 21,10 25,71 24,8023, 710 21,71 17.7 1 168,86
5.0m °c |39 35| 7712511211257 24.8]23.7]21.7]17.7] 10.6
6.0m °C — [ 35 — — — — — — — — 17 =
i C | 393577122169 21.1]2.6]24.7]23.7]21.7]17.7]10.6
*DO AL | m/t | — — — — — — — — — — — —
RHE we/l 15.2 | 13.9 | 13.0{ 10.3 9.4 8.5 6.9 8.2 8.6 7.9 3.9 10.9
0.5m m/l |15.3] 140 13.1[102] 93] 85| 69] 80| 86| 7.8 9.9]10.8
1.0m mg/l [ 15.2] 13813110192 83]6s8]| 78] 85| 7.8] 9.9]10.6
2.0m me/l | 16.213.7]128] 9988|8166 76| 83| 7.7/ 9.8]105
3.0m me/l | 16.3]13.7]12.6] 9.8 [ 8.7 | 80| 66| 74| 81| 7.6 [ 9.7 [10.4
4, 0m g/l | 16.5 | 141|126 9.8 88| 80| 67] 7.4 81 ] 7.5 | 9.7/[10.5
5,0m me/l | 156.7 142128100089 | 7968 77| 82]76]098]108
6.0m w/l | — [144] — — — — — — — — [ 98] —
I me/l | 16.6 | 144128 9084 | 78|68 77|82 76]98]107
APIREE AKE Lux | 11970 15000 33600 6530 | 9550 | 10580 | 19200 | 18870 | 62700 | 30500 | 34500 | 36900
Hifi Lux | 9230 | 32300 24980 ] 4200 | 6320 | 9660 | 16330 16280 | 46300 | 20250 | 26180 | 19000

" 0.5m Lux | 2840 | 6800 | 3240 | 512 | 1510 | 3820 | 6800 | 4870 | 13470| 1410 [ 7320 | 5290
1.0m tux | 862 | 1235 | 425 | 67 | 411 | 1690 | 1874 | 1821 | 4170 | 782 | 2189 | 2821
2.0m Lux | 136 | 85 16 1 67 | 294 | 320 | 277 | 665 | 65 | 348 | 340
3.0m Lux 19 7 3 0 7 55 54 65 83 10 46 40

4. 0m Lux 3 2 1 — 1 12 9 10 18 3 6 8
5. 0m Lux 0 1 0 — 0 3 1 1 4 0 1 1
6: 0m Lux — 0 — — — — — — — — 0 —
i3] Lux — — — — — — — — — — — —

JERE FOR P mv | 284 | 252 | 197 | 154 | 284 | 228 | 188 | 221 | 100 | 73 | 136 | 218

%

* DORDOFCL 2 AIERE




KEFER —HOWMMH— (1)

Bl 4 [y kG X2 FIHR [IIEA Byl iR 1845 200645)
H H Bifr | 1718 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |BeRAE| fs M| (]
X & £ g i & | ¥ = = & g = i [
Bkl W5y | 8:30| 8:45 | 7:55 | 6:55 | 7:3 6:50 | 7:38 | T:41 | 7:42 | 7:38 [ 8:00 | 8:10
R m 5.69 | 5,63 | 5.65 | 5.62 | 5.59 [ 5.65 | 5.62 | 5.55 | 3.55 | 5.39 | 5.42 | 5.39
FRACGKIE m 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 [ 0.50 ] 0,50 | 0.50 | 0.50 [ 0.50 [ 0.50 | 0.50
KR C 3.6 3.8 7.0 |'12,3 | 16.6 | 21.0 | 25.7 | 22.9| 25.5| 19.0 | 16.1 | 5.8
KR C 4.1 | 3.2 ] 8.0 | 12.8]17.3 ] 21.0| 26,0 | 24.5| 23.2| 21.0| 17.2] 10.2] 26.0 | 3.2 | 15.7
s @ BIEE | KR m®| ae |heNE| BBE | KeE | 98 | R0E | 88 | 808 | Bee
B RO MR | MeE | s | lem | dER | SRR R | R | S | KR | KR
FHE cm | 23.3| 16.5| 11.6| 11.7 | 22.5 | 31.5| 28.0 ] 22,5 | 21.5 | 30.4 [ 22.7 | 19.5
BHIE m 0.75 ] 0.650 ] 0.52 | 0.32 | 0.72 ] 0.90 | 0.72 | 0.80 | 0.66 | 0.88 | 0.89 | 0.63 ] 0.90 | 0.32 | 0.69
AR fa 17 17 16 17 18 18 18 18 17 18 17 18
p H 7.8 | 7.6 [ 80| 80| 80) 80)] 7882|855 | 7.7]|84[84] 85 ] 76]8.0
DO mg/l | 14.06]13.54]13.36(10.71] 9.38 | 8.79 | 6.99 | 8.93 | 8.82 | 9.61 [10.01]|11.16]| 14.06| 6.99 | 10.45
BOD g/l 3.16 | 2.71 | 4.61 | 3,30 | 2.36 | 2.00 | 2.36 | 1.91 | 2.06 | 2.22 | 2.22 | 2.91 ]| 4.61 | 1.91 | 2.65
CODy, me/l | 7.53 | 8.48 1 9.43(8.33 | 7.19|6.13]|6.73|5.90] 7.62 | 7.53 ]| 7.16 | 7.32] 9.43 | 590 | 7.45
D: CODy, me/l — — — — — — — — — — — — — — —
P CODyy, me/1 = — — - — — — — — - - — — = =
CODg, g/l — — —_ — — — — — — — — — — — —
D+ CODg, ng/l — — — — — — — — — — — — — — —
Ss meg/l | 14.0] 19,0 29.5 | 40,0 | 15,0 | 9.5 | 12,5 [ 11,0 | 16.0 ]| 12.0| 15.5 | 16.5 | 40.0 | 9.5 | 17.5
KA apyvioont | 1, 15+1 (2, 3E+1| 2. 3E+1| 3. 3E+2| 1. 1E+2[ 2. 3E+3| 1. 3E+3| 1. TE+4| 7. 9E+4 | 1. TE+3| 2. 3E+3| 2. 3E+4 | 7. 9E+4 | 1. 1E+1 | 1. 1B+
F@EAmBERE [ maoa | Q <1 <1 <1 <1 <1 <A [8.0B+0[ <1 |6.0E+0|2.5E+1| 7. 0E+0]2.5E+1| <1 [3.8E+0
RER(TIV g/} 0.82 1 0.88f1.03] 0.83] 0.564| 0,51]0.62{0.,73]0.62]0.71]0.73|0.67] 1.03| 0.51 | 0.72
Y (TP ng/l ]0.075]0.090(0.112]0.128|0,074|0.069]0.070]0.079(0.1160.078]0.081|0.074]0.128| 0.069 | 0. 087
R Zn) mg/l — — — — |0.001] — — ]0.002] — — |0.001| — ]0.002]0.001]0.001
TADMEER(NL-N | mg/l | 0.01 | 0.02 | 0.05] 0.02 ] 0.03] 0.01 | 0.08]0.03|0.04)0.02]|0.02[0.02] 0.08] 0.01 | 0.03
IEREEIEER(NO,-N | my/l | 0.004{0.005]0,002(0.003[0.002|0.001]0.006]0.006]0.000]0.001|0,001)|0,000]|0.006 | 0.000 ]| 0.003
RSB FR(NG N g/l 0.10 | 0.10] 0.01 | 0.08 | 0.01 [ 0.00 [ 0.01 | 0.03 [ 0.00 | 0.00 | 0.00 [ 0.00 | 0.10 [ 0.00 [ 0.03
EREEHRCTN g/l 0.11 [ 0.13] 0.06 | 0.10 [ 0.04 | 0.01 [ 0.10] 0.07 [ 0.04 | 0.02 ] 0.02 | 0.02 ] 0.13 [ 0.01 [ 0.06
HHRESEHR (D g/l 0.71 ] 0.76 | 0.96 | 0.74 | 0.51 | 0.49 | 0.52 [ 0.66 [ 0.58 | 0.70 | 0.70 | 0.68 | 0.96 | 0.49 | 0.67
BAHEWRERRD V| ng/l — — — — — — — — — — — — — — —
wFbEfBEERCP Qv e/l - - - - - - - - - - - - - - -
EppERERCD ™ | my/l — — — — — — — — — — | — — — — —
mER('™ m/l [0.82]0.89|1.02)0.84/0.55]0.50[0.62]073]|062]072]072[07][102]050]073
A YVRERRY A PO, -P) mg/l ] 0.034|0.048|0.072]0.073|0.029|0.025]0.040] 0.027]0.027 | 0.022] 0.030]0.006 | 0.073 | 0. 006 | 0. 036
igptetb oy o0 | me/l | 0,005 0.005]0.005|0.006(0.000(0.008|0.019]0.003]0.009(0.009(0.003]|0.000]0.019]| 0.000]| 0.006
AR (D 1) | e/l — — — — —. | = — — — — — — — — —
BFERY © (PP | me/l — — — — — — — — _ — — — — _ .
ERERFROQ e/l 12,91 13.4 ] 13.4 — — — — — — — — — 13.4 1 12,9 ] 13,2
El 3100 e/ 56 | 49 [ 6.0 | 5.4 ]| 50| 55| 42| 39| 57| 52| 56]59]6.0] 39|52
BHRCTO mg/l 18.5 | 18.3 ] 19.4 — — — — — — — — — 19.4 | 18.3 | 18.7
S RERED O] e/l — — — — — — — — — — — — — — —
B IR RIESE (P )| me/] - - - — — — — — — - — — — — —
BRTHEER(D- Fe) /) — — — — — — — — — — — — — — —
AR A D M) | me/) — — — — — — — — — — — — — — —
#H( Fe) e/l — — — — — — — — — — — — — — —
<y 3 (M) g/l — — — — — — — — — — — —
& ok % 14,4 |1 18.9 | 30.4 | 29.0| 13.2 | 8.8 8.9 9.3 | 12.0] 7.8 | 12.0 | 10.9 ] 30.4 7.8 14,6
HEBL(20°C) nS/m | 27.6 ] 29.1 | 28.1] 29.0| 30.4 | 32.3|31.2(29.2]|31.7]|29.8|26.3| 24.4] 32.3| 24.4] 29.1
B ALY K(G) ng/! — — — — — — — — — — — — — — —
<2 Zity A e/l — — — — — — — — — — — — — — —
pHL.87A#Y B | w/l | 61.8 | 52.6 | 60.5 | 56.6 | 59.1 | 66.3 | 65.1 | 64.1 | 66.0 | 65.1 | 60.6 [ 53.2 | 66.3 | 62.6 | 60.9
p HO, 0R4E me/l |10.57(12.70] 8.74 | 4.76 | 6.37 | 9.14 [15.33[11.79] 5.79 | 11.87| 5.51 [ 3.60 | 15.33| 3.60 | 8.85
p HO.07 A ) B ng/l — — — — — — — — — — — — — — —
BERA AV (56°7) | me/l - - — — — — — — — — — — — - -
A A4 (A ng/\ 42:7.138.4[33.6 32,2 38.1]|42.2| 41.4]36.4|37.9]|42.0]33.7|32.2|42.7 32.2 | 37.6
FRY D A(N) e/l — — — — — — — — — — — — — — —
#Y v AR g /! — — — — — — — — — — — — — — —
BoU (T SIG) ng/l — — — — — — — — — — — — — — —
WY /) — — — — — — — — — — — — —
poa7gp-a (Ql-n) | pe/l | 43.3 | 60.9 | 101.5) 56.6 | 31.0 | 27.1 | 25.8 | 59.8 | 50.4 | 45.5 | 67.7 | 76.5 | 101.5| 25.8 | 53.8
ponzgpb (QI-D) | g/l 29 85| 6.4 139 9.1 | 71]91]10.1]13.8] 7.9 ] 9.3 ] 0.9]13.9]| 0.9 ] 8.3
yun7gi-c (Chl-c) g/l 4.3 | 13.4 | 12.5 [ 24.4 ) 18.0 | 15.5 | 22.7 ] 19.9 | 31.7 | 16.7 | 17.2 | 6.9 | 31.7 1.3 16.9
T AT FY ug/l | 36,6 | 12.6 ] 21.7 | 16.3 | 14.8|17.6| 7.6 | 5.1 [13.4|12.1| 4.5 | 18.2] 356 | 4.5 | 15.0
A A fmmisteA | wed | — — — — — — — — — — — — — — —
i EIDOIH RO FHFIZL D kb, 3.P-ON=(ON)—(D-ON) 6.P-TP =(TP)—(D-TP)
1.LP-COD=(COD)—(D-COD) 4. D-TN=(1 N)+(D-ON) 7.TC=(1 C)HTOC)
2.1 N=(NH4-N)+(NO2-N)+(NO3-N) 5T N=(1 N)+(ON) 8.P-OC =(TOC)—(D-0C)




KEER —HOY

h— (2)

B4 7 O i AL ‘ﬂmm MMZ By il % 184E( 20064F)

I H | Wpr | 118 278 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 | AME| Fe/ME| F¥iE
2 —MI B ng/1 5 6 5 12 18 8 5 3 10 7 3 4 18 3 7
JARI Y ng/l 6 10 7 11 14 8 5 2 2 2 1 6 14 1 6

@mr kR | mg/l | 0,050 0,054 0,096 0.097 | 0.099] 0. 108] 0.088|0.108] 0. 111 ] 0.072[0.076] 0.087] 0.111]0.050] 0.087|
semiidEkiE | me/l | 0.026 0.0250.055 | 0. 050 0. 050 0. 0471{0. 0384]0. 0565[0. 0614]0, 0357(0. 0418]0. 0499] 0. 061 [ 0. 025 [ 0. 045
7 55 yemp e eE| me/l | 0.017]0.019 0.030 | 0.033] 0. 033 |0. 0382]0. 0320]0. 0359]0. 0356[0. 0261]0. 0249]0. 0255] 0. 038 | 0. 017 0. 029
7 oo akte| me/l | 0.007]0.009 ] 0.010] 0.013] 0. 015 0. 0207]0. 0162[0. 0142[0. 0134]0, 0097]0. 0095[0. 01086] 0. 021 | 0. 007 | 0. 012
7 wembEREE | me/l | 0.000] 0,001 0,001 ] 0.001] 0. 001 |0.0019]0. 0015]0. 0009]0. 0006]0. 0002]<0. 0002[0. 0008] 0. 002 [ 0. 000 | 0. 001
BEF(NEE | me/l | 0.82 | 0.88 | 1.03 | 0.83 | 0.54 | 0.51 ] 0.62 | 0.73 ] 0.62 | 0.71 | 0.73 | 0.67 | 1.03 | 0.51 | 0.72
pER(NEE | mwl | — | — | — | — T =1 =1 = — [ =1 = — — _
REF(INTH | me/l | 0.83 | 0.88 | 1.21 | 0.82 ] 0.55 | 0.52 | 0.60 | 0.74 | 0.64 | 0.66 | 0.84 | 0.71 | 1.21 | 0.52 [ 0.75
@U (P LE | mg/l | 0.075]0.090]0.112] 0.128) 0.074 | 0.069 | 0.070| 0.079] 0.116] 0.078] 0. 081 | 0.074 | 0. 128 [ 0. 069 [ 0. 087
WL (e | me) | — — | = =1 =1 =1 =1 = — — | = — — —
#U o ()T | mg/l | 0.091|0.077]0.105|0.113]0.070]0.082]0.075]0.089]0. 126 0.081 | 0.101] 0.083] 0.126 | 0.070 [ 0.091

coD L@ ng/) | 7.63 848 9.43 | 8.33]7.19|6.13]6.73]|6.90] 7.62 | 7.563 [ 7.16 [ 7.32]9.43 | 5.90 | 7.45

CODPk mg/1 — — — — — — — — — — — — — — —

CODTH /| - | - | -1 -1 -=-1-1-=-1-=-1= - | =1 - — — —
AR KL C — — — — — — — — — — — —
Edii] C - — — — - - — — — — — —
0.5m C — — — — — — — — — — — —
1.0m C — — — — — — — — — — — —
2.0m C — — — — — — — — — — — —
3.0m c | - | - | = [ = | =1 =1 =-"1-1T-=-1T-1T-1-=
4. 0m °C — — — — — — — — — — — —
5. m C — — — — — — — — — — — —
6.0m C — — — — — — — — — — — —
JE i i® — — — — — — — — — — — —
*DO AKE | me/l — — — — — — — — — — — —
Edi] ng/l - — - — — — — — — — — —
0. 5m me/| — — — — — — — — — — — —
1. 0m e/l — — — — — — — — — — — —
2.0m mg/! — — — — — - — — — — — —
3. 0m e/l — — — — — — — — — — — —
4. 0m me/1 — — — — — — — — — — — —
5. 0m g/l — — — — — — — — — — — —
6. 0m e/l — — — — — — — — — — — —
adi] g/l — — — — — — - | = — — — —
FARE AE x|l =1 -1 -1 - -1 -1 -1 -1 -1 -T[-—T1-+
Ei] Lux — — — — — — — — — - | = —
0.5m x| - | — ] - | - | =1 =11 T =1T-=-1T=1T=
1. 0m |Lux — — — — — — - — — — — —
2.0m’ Lux — — — — — — — — — — — —
3.0m Lux — — — — — — — — — — — —
4.0m Lux - — — — — — — — — | = — —
5.0m Lux — — - — — — — — — — — —
6.0m | — | = | = | = | = [ = =1 =117 -"1T-=1=
5] Lux — — — — — — — — — — — -

JEJER EORP mw — — — — = _ — — — — — —

&S # DOEDO

E

1z 5 RIERS R




. KEFER —BRAEHN— (1)
B4 TRAE R X FIHRJ [IED el FEE 184E( 20064F)
g B wifr | 1718 | 2/8 | 3/8 | 4719 | 5/10 | 6/14 | 7/5 | 872 | 9721 | 10/4 | 11/1 | 12/6 |FcK{E |/ M| 5 E
G i3 [ I & 5] = i & & £ i £
gkl w4y | 14:51]14:40]12:08[12:39]12:53 [ 12:11[11:42]13:30] 11:59 11: 51| 13:44 | 12: 11
2RI m 1.88 | 2.10] 1.82 | 1.63 [ 1.81 | 1.98] 1.57 | 1.55 | 1.62 | 1.79 [ 1.51 [ 1.81
KT m |0.50] 050 [050]0.50]050]|0.50[050]0.50]0.50]0.50]| 0.50| 0.50
A8 C [10.8]12.0] 155141172 24.0]23.1]27.9]23.8|228][19.5]10.2
AKE C 57 | 3.7 | 10.8 | 14.3 | 17.2 | 21.2 | 25.0 | 25.3 | 24.0 | 21.0 | 18.7 | 10.2 | 25.3 | 3.7 | 16.4 |
9 B FHBE | it | eS| R8I0 | &I0H | RINE | FIRE | KRE | S8 | BE | #1188 | &i8E
ARG s | [ fen | MR | s | n | R | ER | E | KR ) ke | ke
B em | 21,4144 11,9 11.5] 16.9] 21.5 [ 18.0 [ 19.6 ] 18.0 | 20.8 | 19.2°| 19.5
B m 0.73 ] 0.47 | 0.563 [ 0.32] 0.52] 0.62 | 0.65]0.75]| 0.53 ] 0.54]|0.74 | 0.62] 0.75 ]| 0.32 | 0.59
KB 17 17 16 17 18 18 17 18 18 19 17 18
p H 8.0, 798282818279 ]86]85[79]|89]|89]|89]79] 83
DO mg/t [15.30(14.24]14,35[11.79|10.24[10.47] 7.92 | 11.78[ 9.16 | 9.44 [11,85]12,79|15.30| 7.92 | 11.61
BOD mg/l | 3.47 | 3.28 | 6.24 | 4,13 | 2.83 | 2.92 | 2.56 | 3.02 | 2.44 | 4,13 | 3.56 | 3.72 ] 6.24 | 2.44 | 3.53
CODy, me/l | 7.89|8.70]10.74] 9.33 [ 7.72 ]| 7.66| 7.13 | 7.37 | 7.94 | 8.32 | 7.64 | 8.20 | 10.74| 7.13 | 8.22
D+ CODyy, me/] — — — — —_ — — — — — — — — — —
‘P CODy, e/l — — — — — - — — — — — — — — —
CODg, e/ — — — |22.47]16.39[11.15]|13.68] 15.02[ 13.51] 18.48 13.62[ 16.25] 22.47 | 11. 15| 15. 62
D+ COD¢, me/1 — — — — — — — — — — — — - — —
55S m/l | 14.5 | 21.6] 33.5] 355|200 17.5] 19.5| 11.5| 16.5| 16.0 | 16.0 | 16.7 | 35.5 [ 11.5 | 19.9
RIBEBEI sevtoon | 1. 7R62| 7. 9841 2, 36+ 1[ 3. 363 | 4, 9B+2| 1. 36+3{ 1. 3E+3[ 4. 9B+ 4| 2. 3E+3] 2. 3Er4| 3. 3B+ | 7. 9B+3| 4. 9Bra | 2. 3¢ 1 [ 7. 7E3
JemE AR | w0 [ <1 <1 <1 |2.0Et0] <1 [2.0Br0[2.08+1]2. 4Er1|5. 0Er0[ 1. 7B+ 1] 1. 2BF 1|1, 0B41 | 2. 4B¥1| <4 [7.7Br0
wER(TN m/1 | 0.83[1.00]0.96|082[0.62]0.64]0.66[0.69]0,58]|0.98]0.68] 0.58| 1.00| 0.58 | 0.75
@y v (P me/l | 0.071[0.076]0.102]0.128[0.088|0.080] 0.083|0.074|0.126] 0.086]0.083|0.078] 0.128 | 0.071 | 0,090
A Zn) g/ — 10.003] — [0.002]0.002]0.001{0.011{0.002]0.002]0.002]0.001(0.001]0.011]0.0010.003
A NEEROH-N | m/l [ 0,030,021 0.03]0.03] 0,02 0.01[0.02]0.02]0.03]0.01[002]0020.03]|0.0t[0.02
EFAERHRONO N | e/l |0.005]0.009]0.003]0.002[0.001]0.000]0.002]0.000]0.000]0.005]0.001]|0.000]0.009 | 0.000 ] 0,002
FRRRARON m/l [ 0.08]0.15]0.01]0.08[0.00[0.00]0.00]0.00]0.00][0.02]0.00]0.00]0.15][0.00]| 0.03
RS 1N ne/t [ 0.12]0.18 ] 0.04 [ 0.11 ] 0.02 [ 0.01] 0.02]0,02]0.03]|0.04]0.02]0.02]0.18]0.0l]0.05
ARIEER( QY m/l | 0.71]0.83]0.92]073]0.60]0.63]0.62[0.65]0,55[094]0.67)|0.58]0.94]055]|0.70
HRHEATRIEEROD | we/ — — — | = — — — — — — — — — — —
BT AEATHRISERCR V| me/] - - - - — - - — - - — — — — —
HEERERCD W™ | e/l — - —~ — — — — — — — — — - — —
BERC™ m/l | 0.83[ 1.01]0.96]084]0.62[0.64]0.64]0.67]0.58]|0.98]|0.69]0.60]1.01 | 0.58] 0.76
AwyagiEsAro P | ne/ [ 0.032]0.050(0.063]0.058]0.032[0.027]0.038]0.030[0.022]0.032|0.031|0.000] 0.063 | 0.000 | 0.035
it merAn pa-m | me/l | 0,006 0,008 0.006|0.003]0.000]0.003]0.010]0.003]0.009]|0.005]0.005)0.000] 0.010]| 0.000 | 0.005
HApER) v (D ) | ww/ — — — — — — — — — — — — — — —
HFERY L P ) | me/l — — — — — — — — — — — — — —
ERIERFO me/l | 14.9[13.5] 14.6 [ — — — — — — — — — [14.9[13.5] 143
A RSB TD we/l | 5.7 4.8 6.7 6.9 56| 6.1 [4.4] 49| 55| 55| 6056 69| 44| 5.6
BRECTO me/t | 20.6]18.3[21.3] — — — — — — — — — | 21.3 ] 18.3 | 20.1
ERHERRENER(D | e/l — — — — — — — — — — — — — —
DA F(p 0] me/t - - - - - - - - - - - - - - =
HRERR(D- Fe) g/l — — — — — — — — — — — — — — —
R D M) | e/l — - — — — — — — — — — — — — —
#%( Fe) g/l — — — — — — — — — — — — — — —
<2 ¥ (M) mw/l | — — — — — — — — — — — —
S m | 15.2]21.9]33.6]27.6|16.8] 13.5[13.3[12.1]13.3[14.0]13.3|11.4]33.6] 11.4 | 17.2
HAA(20T) a/m | 33.5 | 28.6 | 32.8 ] 33.4 | 32.4|33.232.630.4]337|37.3]26.5]29.4]|37.3] 265|320
BN Y h(G) mg/! — — — — — — — — — - — e — —~
<7 2y AN g/l — — — — — — — — | . = — — — — — —
pH4,87AhV E | m/ | 70.1 | 54,5 | 64.8 [ 52.4 | 60,7 62.7|67.9]|66.5]| 67.8]69.4|61.4|55.8] 70.1 [ 52.4 | 62.8
p H, OFEE m/l | 11.38[12.70] 9.34 | 4.37 | 5.57 | 8.74 [12.15| 7.80 | 6,19 | 15.89] 2.09 | 1.60 | 15.89] 1.60 | 8.15
p HO.07ANY BE | mg/l — — — — — — — — — — — — — — —
A AV (50°T) | m/l — — - — - - — - — — - — - | = —
sl ALa) | m/l | 66.7 | 38.7 | 44.4 [ 42,9 49.2 [ 45.4 [ 44.3 | 39.7 [ 44.3 | 58.7 | 34.8 | 45.5 | 65.7 | 34.8 | 46.1
FRY T H() w! | - | -1 =-1T-1-T-1-1-=-1-1="T-1-=-1= — — ]
7Y LK /1 — — — — — — — — — — — — — — —
@) AT Si0) | g/l — — — — — — — — — - — — — — —
fary A /] — — — — — — — — — — — — —
yomzqa (Ql-a) | pg/l | 54.4 | 65.4 | 93.6 | 53.5 |'40.4 | 38.5 | 37.6 | 35,4 [ 39.7 | 80.5 | 42.8 | 62.0 | 93.6 | 35.4 | 53.7
ganzqp-b (Qil-b) | wg/l | 3.6 | 8.3 | 2. 109|144 6,0 [ 127 7.7 ] 9.5 [ 10.1] 7.0 | 0.3 | 12.7.] 0.3 | 7.5
yonygie (@l-c) | pg/l | 3.2 | 10.2 | 14.3]29.1 | 26.3 [ 13,2 19.2 [ 24.9 ] 20.0] 16.9 [ 10.4 ] 31.6 | 3.2 | 18.3
T=AT7 4Ty ug/t | 5.7 | 9.8 | 11.0[19.8] 3.2 | 26.7 9.9 [ 13.2] 5.2 | 4.3 [12.0]26.7] 3.2 | 10.3
tadg A REEE | mel — — — | = — — — — — — —| — — —
(£ *ENIOTEH KK OFEIZL Y ki, 3.P-ON=(ON)—(D-ON) 6.P-TP=(TP)—(D-TP)
1.LP-COD=(COD)—(D-COD) 4.D-TN=(I N)+(D-ON) 7.TC=(I C)+(TOC)
2.1 N=(NH4-N)+{(NO2-N)}+{NO3-N) 5. TN=(1 N)+(ON) 8.P-0C=(TOC)—(D-0C)




KEFER —FREM— (2)

BRIP4 BEAE I KFE% FIR )14 Byl 5% 184E( 20064E)

H H Bifiy | 1718 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/56 | 8/2 | 9721 | 10/4 | 11/1 | 12/6 |G KfE|B/MME| D E
2 —MI B ng/1 11 6 10 18 26 9 3 3 9 6 3 3 26 3 9
UAAL v ng/l 7 10 19 12 21 9 4 2 2 3 2 7 21 2 8

whyamit | og/1 [0.063]0.058]0.102]0.111]0.104]0.126]0.096[0.110]0.102{0.116]0.084 [ 0.083]0.126 | 0.058] 0.096

pommadeiie | me/t [0.027]0.029] 0.056]0.050] 0.048]0. 05640, 0409]0. 0540]0. 0488]0. 0584]0. 0446[0. 0363] 0. 058 | 0. 027 | 0. 046

7 v/ yonipkiige] me/l ]0.023]0.020] 0,033 0,039 0. 036 0. 0440[0. 0337]0. 0382]0. 0350]0. 0412]0. 0282]0. 0275] 0. 044 | 0. 020 [ 0. 033
3 7 memarRde] e/l [0.012]0.008] 0. 012 0. 0207 0. 018]0. 0235[0. 0199]0. 0169]0. 0171]0. 0161]0. 0110]0. 0163] 0. 024 | 0. 008 | 0. 016

7 oohuwdagiE | me/t [0.001]0.001]0.001]0.002]0.002]0.0021]0. 0017]0. 0012]0. 0016]0. 0004]<0. 0002]0. 0020 0. 002 | 0. 000 | 0. 001
REFR(IN LE me/l [ 0.83]1.00]0.96]0.82]0.62]0.64]0.66[0.69]0.58]0.98]0.68[0.58] 1.00[ 0.58]0.75
BER(IN mg/l | 0.84] 1.00]0.97]0.84] 0.66 ] 0.640.61]0.65]0.57]0.99]0.66[0.64] 1.00] 0.57] 0.76
HEHR(IN TR mg/l | 0.84] 1.04]1.03]0.84]0.62]0.59]0.63]0.66]059]0098]073[064]1.04]059]0.77
By (1P L ug/l [0.071]0.076]0.102]0.128] 0.088]0.080]0.083]0.074]0.126]0.086]0.083]0.078] 0.128 [ 0.071] 0. 090
1Y+ (1P i mg/l | 0.082]0.081]0.105[0.128]0.090]0.082]0.084]0.076]0.141]0.092]0.085]0.071] 0. 141 0.071] 0. 093
wy (TR me/l |0.087]0.080]0.117]0.125]0.091]0.086]0.084]0.083]0.152]0.087]0.086]0.083] 0.152 ] 0,080 [ 0. 097
COD kR me/l | 7.89]8.7010.74] 9.33| 7.72 | 7.66 | 7.13 | 7.37 | 7.94 | 8.32 | 7.64 | 8.20 J10.74[ 7.13 [ 8.22
CODYE me/l | 8.17 | 8.62[10.38[ 9.01 [ 7.48] 7.19[7.41]7.86|8.10]8.76|7.76(8.32]10.38] 7.11 [ 8.23
CODTR me/l | 7.13 ] 8.94 [10.32] 9.39 | 7.48 [ 6.96 ] 7.90 [ 8.08 | 7.86 | 8.52 | 8.24 [ 8.20 [ 10.32] 6.96 | 8.25

KgAK C — — — — — — — — — — — —

#ili cl -l -T-—1T=-"T-T-T-"T-"T-T1T-"T1T-=71-=
0.5m °C — — — — — — — — — — — —
1.0m °C — — — — — — — — — — — —
2.0m °C — — — — — — — — — — — —
3.0m C — — — — — — — — — — — —
4.0m ‘C — — — — — — — — — — — —
5.0m °C — — — - — -~ — — — — — —
6.0m °C — — — — — — — — — — — —
Eiid c | -1 -1 =-1T-=-1T=-T-1T=-T-1T-=-1T-=-T=1-=
*DO Kkt | mg/l — — — — — — — — — — — —
ﬁfgl. rrg/] — _ _ — _ — _ — — — — —
0.5m m/l | — = — — - — — - - - — —
1.0m ng/l - - - — _ - - - - - - -
2. Om ng/l - - - - - - - - - - - hd
3,0m mg/! - — — — — — — — — — — —
4, 0m ng/l - - - - —_ - - - - - - -
5.0m g/ — — — - - - — — - - - —
6.0m g/l — — — — — — — — — — — —
&S i mg/1 — — — — — — — — — — — —
AREE AF | Lx | — | — | — | — ] -1 -1 -1 -1 -1-1-1-
i wx | — | - | - T =T=T1T-=—"T=T"=1T-=—""1T+=—7T"™=T7-+=
0.5m Lux — — — — — — — — — — — —
1.0m Lux — - — — - — — — — - — -
2.0m Lux — - -~ - — - - - - — — —
3.0m Lux - — — - - - - - - — — -
4. O0m LUX - - - - - - - - - - - -
5.0m Lux | — - - — - — - — - - — —
6.0m Lux — — — — — — — — — — — —
] wx | - | - | - | = [ = [ = [ =1 =1 =1T=1T=1=
KR E FOR P w | — = — - - — - — - — - —

%%

* DORD O EHCE % MR




KEFER —RIFH— (1)
BlHIFT4 EFHM T FHUR [GHIES deid R 184E(20064F)
H B A7 | 1/18 | 2/8 3/8 | 4/19 | 5/10 | 6/14 | 7/5 8/2 | 9/21 | 10/4 | 11/1 | 12/6 | B KfE| &/ ME| S {E
EE 2 i [ & |/IE| & & E= & £ I &
BRI W4y | 10:22(10:36|10:07]10:20] 9:48 [ 11:08| 9:42 | 10:01| 10:10[10:14| 13:49]10:15
K m 7.0317.1217.11 ) 6,92 6,88} 7.03 ) 7.12 ] 7.07 ) 7.056]6.79] 7.01] 7.62
PR m 0.50 [ 0.50 | 0.50 | 0,50 | 0.50 ] 0.50 [ 0.50 | 0.50 ] 0.50 [ 0.50 | 0.50 | 0.50
xR T 4.8 [10.2 ] 12,9 14,9 16,3 | 24.2 | 23.4 | 24.6 | 26.5 | 22.9 | 21.8 | 9.5
KR °C 4.7 | 5.1 | 8.6 |13, 7| 17.0] 21.4] 25.4 | 25.0] 23.8 | 21.6 | 18.0) 10.8 ] 25.4 | 4.7 | 16.3
S B/ eE | weE | e | ool | soves | mowE | ek | e | seE | weies| ses | wes
2 ROHR MR | mE | R | MR | ke | R | R ) MR | MR | MR ) MH | MR
ERE cm 26.8 20,2 | 20.5| 18.0| 3.8 | 45,0 | 27.5 | 25.0 | 25.5] 28.0 | 25.0 | 21.5
B m ]0.92]0.72]0.81]0.62]0.68]1.44[0.90[ 0.81)0.82[0.86|0.79|0.87 | 1.44 | 0.62 | 0.85
Kt 18 17 17 17 17 16 17 18 17 17 17 17
b H 89 /88|86 92[90]|80]|87([90]87]83]|81]81]92]|80]86
DO ng/l | 13.14|13.26|13.26(11.26(11.09| 7.38 | 8.64 | 10.43| 8.70 | 7.78 [10.83]10.79] 13.26 | 7.38 | 10. 55
BOD me/l | 2.98]3.47]2.73]6.05|5.15]3.27]|4.19[4.80 | 2.91]3.15[2.99]3.01]6.05] 2.73]38.73
COD,, ng/| 7.16 1 7.59 | 6,99 | 8.83 | 8.86 | 7.66 | 7.39 | 7.96 | 8.28 [ 8.26 | 6.35 | 7.44 ] 8.86 | 6.35 | 7.73
D« CODy, e/ — — — — — — — — — — — — — — —
‘P CODy, g/l — — — — — — — - — — — - — — —
CQDCr lIH/l - - - - o - - - O _ _ - - _ _
D: COD¢, me/1 — — — — — — — — — — — — — — —
Ss g/l {1130 12.00 16,00 18,4203 7.0 | 11,6 15,1 16,4)10.110.6]14,4]20.3] 7.0 | 13.6
KRIBEHIEK ev10onl | 1. 36+2| 1. TE+2| 4, 9E+1| 2, 3B+1| 3, 8E+1| 1. TE+1| 1. 1E+1| 9. 3E+1[4, 9E+1| 1. 1E+2|4, 9E+2| 7. OB+ 1] 4. 9E+2| 1. 1E+1 | 1. OG+2
FAMEEE | o |5 0614, 7B L2EH]| <1 | A 1 <1 |2.0E+0|1.5E+1|7. 0E+0|4. 0E+0|4. 0E+0| 5. 0B+ 1| <1 [1.2B+1
BEF(™N me/} 1.66§2.30 | 2.47 | 1.12 | 1.02 | 0.73 | 0.88 ] 1.11 | 1.02 | 0.97 | 1.59 | 1.72 ]| 2.47 [ 0.73 | 1.38
Y+ (TP) mg/l | 0.058/0.074]0.082|0.092|0.115|0.119|0.095[0.106)0.159]0.149|0.088]0.093]0.159 [ 0.058{ 0. 103
TE£3(Zn) mz/1 — — — — [0.000] — —- [0.000] — ]0.000]0.000f — 0.000 | 0,000 | 0.000
TATGNEEF (N, -N | g/l 0.00| 0.03|0,03]0,03|0.18|0.17] 0.07 | 0.13 | 0,05 ]| 0.06 | 0,05 | 0,08 | 0.18 | 0.00 | 0.07
TEMAISEHR(NG-N | me/l | 0.018[0.025]0.025]0,.077]0.014]0.008]0.001|0.019]0.000]0.021]0.061|0.044]0.077 | 0.000] 0.026
g/} 0.74 |1 1.29| 1.47 1 0,55 | 0.02 ] 0.03 ] 0.00 ] 0.05] 0,00 | 0.00 | 0,79 0.92 ] 1.47 | 0.00 | 0.49
mg/| 0.76 | 1.35| 1,53 | 0.66 | 0.21 | 0.21 | 0.07 ] 0.20] 0.05°| 0.08 | 0.90 | 1.04 ] 1.53 | 0.05 [ 0.59
g/l 0.7510.82 | 0.78 ] 0.46] 0.79) 0.49 | 0.75] 0.81 | 1.09 | 0.92] 0.72] 0.72 ] 1.09 | 0.46 [ 0.76
et REsRo o9 wg/l ] 0.32 [ 0.34 ] 0.40 | 0.26 | 0.57 | 0.36] 0.33 | 0.57 | 0.40 | 0.35 | 0.38 [ 0.27 ] 0.57 | 0.26 | 0.38
B RIEERCP ] m/l 0.43]10.48 ] 0.38] 0,20 0.22] 0,13 ] 0.42] 0.24 ] 0,69 0.57] 0,34 | 0.45] 0.69 | 0.13 | 0.38
EAMERERCD N | m/l 1.08 | 1.69 | 1.93 [ 0,92 | 0.78 | 0.57 | 0.40 [ 0.77 | 0.45 ]| 0.43 | 1.28 | 1.31 | 1.93 | 0.40 | 0.97
HEHCIN ng/! 1.561 | 2.17 | 2.31 | 1,12 | 1.00 | 0.70 | 0.82 | 1.0l [ 1.14 | 1.00 | 1.62 | 1.76 |. 2,31 | 0.70 | 1.35
A SEERE) A PO, -P) mg/l | 0.000(0.003]|0.000[0.006(0.006[0,063|0.012]0.000]|0.068|0.063|0.007]0.000]0.068]|0.000]0.019
it agr - ra-n | mg/l | 0,000]0.000(0,.000]0.000|0.004|0.062]0.010]0.000]0.049] 0.060]0,000]0.000] 0. 062 ] 0.000 | 0.015
@Ry (0 T | ue/ — — — — = — — — — — — — — — —
HFHERY PP | e/l — — — — — — — — — — — — — — —
ERIERA0 /! 11,9 | 11.2 | 12.4 — — — — — — — — — 12,4 | 11.2 | 11.8
AR (TQO g/l 6.0 4.7 5.1 1.7 4.7 3.6 5.4 6.5 1.8 6.1 5.0 7.5 7.5 3.6 5.3
BHHECTO mg/| 17,9 ] 15.9 ] 17.5 — — — — — — — — — 17.9 | 15.9 ] 17.1
R O e/l — — — — — — — — — — — — — — —
R ERECr | e/l — — — — — — — — — — — — — — —
TEARMERR(D Fe) ng/l — — — — — — — — — — — — — — —
iRt WD M) | me/l — — — — — — — — — — — — — — —
£(Fe) me/1 — — — — — — — — — — — — — — —
= A (M) g/l -— — — — — — — — — — — —
K i3 15,21 19.6 | 21.5 | 20.2 | 25.2 | 6.5 | 14.8 | 18.7 | 18.8 | 13.9] 18.4 | 24.5 | 25.2 6.5 18.1
HEL(207C) mS/m | 30.4 | 28.8 | 28.8 | 29.6 | 30.2 | 29.5 | 27.4 | 25.1°| 26.2 | 25.1 | 23.5 | 24.6 | 30.4 | 23.5 | 27.4
BN H(GQ) e/l — — — — — — — — — — — — — — —
<7 FY M) e/l — — — — — — — — — — — — — — —
pH487ARYIE | g/l | 62.8 ]| 65.7 | 72.3 [ 76.0] 71.8 | 70.3[ 70.8 | 65.2 | 68.8 | 65.7 | 49.7 | 54.7 | 76.0 | 49.7 | 66.2
p H9. 0FsE me/! 0.98 | 0.49 | 2.46 — — 10.50| 4.02 | 0.00 | 6.52 | 7.53 | 8.03 | 9.03 | 10.50| 0.00 | 4.96
p HO.OZ Y i | e/l — - — | 6.96] 1.00| — — — — — — — | 6.96 | 1.00 | 3.98
BEeA A (50,27). | me/l —, — — — — — — — — — — — — — —
Hifeths A (a”) me/| 34,91 32,2 32.1 | 54.9(39.8|37.2|31.8|27.7]29.7]29.3|24.7|26.1]54.9] 24.7 | 33.4
T Y U AN g/l — — - — — — — — — — — — — — —
EUPERT) me/1 — — — — — — — — — — — — — — —
WU AT SI0) | wg/t — — — — — — — — — — — — — — —
[k me/1 — — — — — — — — — — — — —
yomgi-a (Ghl-a) | wg/t | 65.5 ] 93,2 99.1 ] 79.0]123.9| 29.8 | 43.5 [109.9] 91.3 | 54.7 | 78.3 | 60.4 | 123.9] 29.8 | 77.4
poa7i-b (Qil-b) | we/l | 0.0 ] 0.0 ] 0.9 45| 0.9 03] 00] 00| 00| 00| 00| 00| 45] 00] 0.6
sou7gi-c (il —¢) g/l 8.0 [ 10.9 ] 12.3]18.2] 22.0{ 2.4 3.4 | 11.2 | 6.6 3.9 6.3 7.7 | 22.0 2.4 9.1
TE=AT 4 FY ui/l 24,4 21.1|14.0] 6,8 | 45,0 10.9 | 6.4 | 13.8 | 13.0| 21.4 | 16.4 [ 11.8 | 45.0 6.4 17.1
R Ay REREER | e/l — — — — — — — — — — — — — — —
B2 SHIOIE H LR O EIC LY skebT=, 3.P-ON=(ON)—(D-ON) 6.P-TP =(TP)—(D-TP)
1LP-COD=(COD)—(D-COD) 4.D-TN=(I N)+(D-ON) 7.TC=(1 C)+(TOC)
2.1 N=(NH4-N) +{NO2-N) +(NO3-N) 5. TN=(L N)+(ON) 8.P-0C=(TOC)—(D-0C)




KEFER —HHF— (2)

BRI ¥ K% F EIIES ALl TEAR1BLE( 20064F)
bt H Hpr | 1/18 | 2/8 3/8 | 4/19 | 5/10 | 6/14 | 7/ 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |EeKflE| R/ E| 5 0E
2 -MI B ng/1 68 130 150 52 46 20 18 2 0 3 2 4 150 0 41
TART v ‘ng/1 20 26 47 170 .| 100 0 2 1 2 3 5 0 170 0 31
@ ERE | mg/l | — — — — . = [ i - . . — — — —
g |m/l | — | — [ — | — [ — [ [ -] -1 ~-T-1T-T-1T-=-T1T-1~+
7 o/ yanypgae| me/l | — - - — - - - - - - — - - - =
V7w pipg| e/t | — | — - - - - - -l =1 = - - - - -
TemEgiE | m/l | — | — | = [ — | = [ = | - | - [ - - [ -1 -1-1-1+=
HRERTN LR g/l | 1.66]2.30 ] 2.47 [1.121.02[0.73 | 0.88]1.11 | 1,02 ] 0,97 | 1,59 | 1.72 ] 2.47 | 0.73 | 1.38
pEENEE | m/l | - | - | - | - | = | - -1 = =-1=-1T-=-1-1=1T+=13-=
HERCN TH mg/l | 1.69 2,34 (251 |1.19|1.35[0.70 [ 1.06 | 1.13 | 1.14]0.99 | 1.51 | 1,71 | 2,61 | 0.70 | 1.44
1Y > (TP 1 mg/l 10.058(0.074]0.082]0.092(0.115/0.119{0.0950.106|0.159]0.149|0.088]0.093] 0.159 | 0..058 | 0. 103
Y > (1) me/l | — — — — — — — — — — — — — — —
#Y V(P TE g/l ]0.056(0.083]0.081]0.086[0.094|0.130[0.183[0.105]0.191(0.173]0.107|0.111]0.191|0.056]0.117
COD L& g/l [ 7.16 [ 7.59 | 6.99 [ 8.83 | 8.86| 7.66 [ 7.39 | 7.96 | 8.28 [ 8.26|6.35| 7.44] 8.86 | 6.35 | 7.73
COD g/l — — — — — — — — — — - — — — —
COD TR g/l | — — — — — — — — — — — — — — —
Al K C - — — — = — - - - - - —
RE c - - — - - — — — — — — -
0.5m C — — — — — — — — - — — -
1.0m C — — — — — — — — — — — -
2.0m T — — — — — — — — — - - —
3. 0m °C — — — — — — — — — — — —
4.0m cl -1 -1T-1T-T-T-T-T-=-T=-1T-1-1T-=
5.0m °C — — — — — — — — — — - -
6.0m C — — — — — — — — — — - —
B c | - | - [ -1 =1 =1T=-"1T-"T-1T-=-"1T=1T-=7T-=
#*DO0__ AE |m/ | — | — | - | - -1 -[-1 -1 -1 -1-1-
Ai%ﬁﬁ ng/] - - _ —_ _ — — — — _ _ -
0.5m g/l | - | - -1 -1-1T-1-T-1-T-1-1+-=
2.0m mg/l | — - | - - - - - - — - - -
3,0m /!l | — | -1 -1 -1-1T-1-T-1-1-1-1-=
4.0m g/l | — — — — — — — — - - — —
5, 0m g/l | - [ - T -1 -1 -1T-1T-1T-T=-T-1T-1-=
6.0m mw) | - | - | - | - | - [ = [ =[=1=1-"1-=13=
IEE mg/l | — - — — — — — — - - - —
ARHPEE KE | Lux | — - - — — — - — — - — -
Fii x | — [ = | = | - [ = =T =T=T=T7T=7T=7T+=
0.5m Lux - — — - - — _ - - - - _
1. 0m ©lux - ‘_‘ - - - _ _ - - - - _
2, 0m Luux - - _ _ - _ _ — - - _ _
3.0m Fux — - - - - _ _ - _ _ _ —
4.0m Lux — — - - - - — — - — - —
5.0m ux | — — — — — — — - — — — —
6.0m lux | — — - — — — — — — — — —
ST Lux | — - - — — — - - — — — —
JERELORP [ v | — [ — [ — T - T - T T T ~-T-T—-T~-1T-
%= * DOMD OFHLL B MIEH R




KEFER —Eumh— (1)
BRIET 4 Enm KR4 FHRJI i1 At SR 184E( 20064E)
b1 2] wifr | 1718 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9721 | 10/4 | 11/1 | 12/6 |FcKfil|Fe/ M| EH
EES £ & i 2 S & 2 | B - £ i Z |
FkIER w5y [ 9:40 [ 9:30 [ 9:26 [ 9:06 | 8:59 [ 10:07] 8:55 | 8:58 | 9:19 | 9:30 [ 12:47] 9:27
2KE m |6.43]6.43|6.42]6.24|6.33]6.52[6.03|6.30]6.21|6.13]6.36][6.93
AR m | 0.50]0.50]0.50] 0.50 0.50] 0.50[0.50] 0.50]0.50] 0.50 | 0.50 [ 0.50
&R C 56 | 9.1 [ 12.5[13.8] 16.2 | 25.5 | 24.3 ]| 24.3 [ 26.224.0]22.0 9.3
AR °C 4.5 | 4.6 | 9.0 | 136 17.2]21.6 (2592530 24.1 (220 18,2 11.0|25.9( 4.5 | 16.4
4 @ GIE | RIE | mim | ot | sones | ke | neeE | mieiE | soes | sones | s | e
2 K(MR oo R | mR | ER | R [ me | fn | s | 5| MR | BR [ ke
B em | 22.5]20.5]17.3[17.5]13.5]35.5] 26.8 | 26.0 | 22.0 [ 22.8 [ 21.2 [ 20.4
EREE m |0.87)0.71]0.76[0.62]0.65]|1.06]0.91]0.72[078]0.81[0.74]0.83]1.06]0.62]0.79
K {4 18 17 17 17 17 16 17 18 18 17 17 18
pH 9.0 | 9.0 | 8.8 | 87|91 ]80]84][87] 86 [83]83]84]91] 80/ 86
Do m/l | 13.39] 13,73 12.45| 11,93 10.62| 8.33 | 8.14 | 8.24 | 8.48 | 8.00 | 9.91 | 10.39] 13.73] 8.00 [10.30]
BOD me/l | 3.66 | 3.20 | 3.45 | 5.87 | 4.93 [ 3.05] 2.75 | 3.48 [ 2.51 | 2.45 | 2.51 [ 3.10 | 5.87 | 2.45 [ 3.41
CODy, me/l | 6.96 | 839 | 7.57[9.43]9.16[7.18[6.99 ]| 7.76[7.78]9.16[6.53|7.97] 9.43 [ 6.53 | 7.91
D: CODyq m/l | 6.57 | 5.99 | 6.85 | 4.94 | 5.46 [ 5.18 | 4.68 | 5.26 [ 5.38 | 5.28 [ 5.03 | 4.88 | 6.85 | 4.68 | 5.46
‘P CODy, m/l | 0.39 ] 2.40 [ 0.72 | 4.49 ] 3.70 [ 2.00 | 2.31 [ 2.50 | 2.40 | 3.88 [ 1.50 | 3.09 | 4.49 | 0.39 | 2.45
COD, mg/) — — —- — — — — — — — — — — — —
D+« CODg¢, me/1 — — — — — — — — — — — — — — —
EE me/l | 12.6]15.3 [ 15.3 ] 16.5]16.9] 9.4 | 12.8 ] 16.0 [ 14,8 14.7 | 14.0] 18.7] 18.7 [ 9.4 | 14.8
KB APN/I00m | 4. 9B+ 1| 4. 9B+ 1| 1. 3B+ 1| 2, 3B+1| 1. 1E+1| 1. 7E+1| 7. 9E+1|9. 3E+1| 1, 1G+2| 3. 3B+1 | 1. 7E+2| 1. 1E+2] 1. TE+2| 1. 1B+1| 6. 3B+l
empkRmraeest | w0 |2, 16841 1,361 [ 3. 0B+0[ <1 < <1 <4 |roero| <« [3.0Er0|1.0Br0]9. 0E+0]2. 1B-1| <1 [4.3Er0
WEECN m/l | 1.22 | 1.59 [ 1,43 0.91 ] 1.03[0.77] 0.70 | 0.86 | 0.81 | 0.73 [ 1.24 | 1.15] 1.59 | 0.70 | 1.04
@Y (1D we/l |0.057]0.083]0,074]0.089]0.095]0.090]0.084|0,091]0.127]0.130|0.101[0.084]0.130|0.057]0.092
&I 2n) /) — Jo.002] — [0.001{0.001]0.000]0.000]0.000]0.0000.000]0.001]0.001]0.002| 0.000 | 0.000
A HEERONL-N [ o/t ] 0,00 0,01 | 0,04 [ 0.10.] 0.04]0.17 | 0.00 [ 0.03] 0.01 | 0.00 [ 0.07 | 0.03 | 0.17 | 0.00 | 0.04
mRmEEHRN0, N [ w1 [0.010[0.015]0.011]0.064]0.0030.001]0.000]0.0000.000]0.000(0.038]0.018] 0.064 [ 0.000] 0.013
winEeER0, N | mes 1 0.25] 0471034 ] 0.02]0.00] 0.00]0.00]0.00]000]000}0.3470.21]06.47)0.00]0.14
EEEERCIY me/l | 0.26 ] 0.50]0.39]0.18]0.04[017[0.00]0.03]0.01]0.00]0.45]0.26] 0.50]0.00 [ 0.19
FHRESE(QY m/l | 0,81 ]093)090]072]0.92]05]064]074[072]0.76[0.80]0.87]0.93]0.59]0.78
meteaeaR( o9 men | 0.44 | 0.48 ] 0.48 [ 0.59] 0.67 [ 0.42 | 0.31]0.37 [ 0.2 0.40 | 0.35 [ 0.38 | 0.67 | 0.31 | 0.43
wrmamsarcr o] ma | 0.37[0.45 ] 0.42]0.13[0.25[0.17]0.33 ] 0.37]0.40 ] 0.36 | 0.45 | 0.49] 0.49 | 0.13 | 0.35
wepeeg > ™ | me/l | 0.70 ] 0.98 ] 0.87 | 0.77 | 0.71] 0.59 [ 0.31 [ 0.40 ] 0.33 [ 0.40 | 0.80 | 0.64 | 0.98 | 0.31 [ 0.63
BEZ(N me/l | 1.07 ] 1.43] 1.29 ] 0.90 ]| 0.96 | 0.76 | 0.64 [ 0.77 | 0.73 | 0.76 | 1.25 [ 1.13 | 1.43 | 0.64 | 0.97
AMYVEEENAPO -P) | g/l | 0.000(0.000(0.000(0.005]0.005|0.021|0.015]0.005 | 0.040[0.034|0.006| 0.000| 0.040 | 0.000 [ 0.011
it sEno | me/l [ 0.000]0.000]0.000]0.004]0.000(0.019]0.014]0.004[0.031]0.028[0.003]0.000]0.031 | 0.000 ]| 0.009
EARPERY ~ (D 1P | me/l | 0.015]0.021(0.017]0.011[0.048]0.043[0.030]0.014]0.0460.048]0.023]0.0150.048 0.011 | 0.028
fr7reiy (P ) | me/l | 0.042]0.062]0.057]0.078(0.0470.047]0.054[0.077[0.081]0.082[0.078]0.069] 0.082 [ 0.042 | 0. 065
ERIERHR O m/l | 11.0] 10.8 | 12.8| — — — — — — — — — | 12.8[ 108 115
FrRgEH# 0 m/l | 5.7 6.8 | 5.3 49| 48[ 35|65 71]|48)]|59]|60]79]79]35] 58
BERCTO we/t | 16,7176 18.1 [ — — — — — — — — — 18,1 16.7]17.5
AR > ©| me/! | 4.0 | 3.8 | 3.8 | 3.5 | 3.8 | 3.5 | 3.7 | 3.6 | 4.2 | 40 | 3.9 | 4.8 | 4.8 | 3.5 | 3.9 |
wptetbEssECr o mw/ | 1.7 | 3.0 | 1.6 | 1.4 | 1.o ] 0.0 | 28 | 35 [ 06| 1.9 | 21| 31]35] 00| 19
ERHEEK(D: Fe) mg/l | 0.00 [ 0.00 | 0.00 | 0.05] 0.05 | 0.04 | 0.02 ] 0.02 | 0.00 | 0.00 | 0.02 ] 0,03 | 0.05-| 0.00 | 0.00
whEe (D M) | me/i | 0.008]'0.007]0.006]0.084(0.037]0.005]0.000]0.003]0.003]0.011|0.005]0.003] 0.084 | 0.000]|0.014
85 (Fe) me/l [ 0.02]0.02]0.03[0.09]0.08]0.08]|019]0.09]003]|013]017]0.27]0.27]0.02]0.10
<2 H (M) me/1 |0.038]0.021]0.031[0.087]0.038]0.034|0.013[0.024]0.014)0.034(0.096]0.0710.096|0.013] 0. 042
RS w |17.5] 2.7 19.9|19.8[ 253|105 13.9]17.8]| 17.7]| 155 [ 19.9] 27.1 | 27.1] 10.5 | 18.9
HAER(200) as/m | 30.7 | 28.9 | 28.9 | 27.3 ][ 30.8 [ 30.4 | 29.0] 27.3 | 26.5 | 24.9 [ 24.2| 25.0 | 30.8 | 24.2 | 27.8
WA B () me/l | 12.3]14.4]10.1]15.5]9.61]8.65] 13.9]12.8]19.1]17.2]13.3) 14.5] 19.1 ) 8.65 | 13.4
<7 ALY A(M) wg/l | 5.63 ] 7.60 [ 5.19 [ 9.45 | 8.45]8.56 | 8.73]9.13 | 8.56 | 8.26 [ 6.71 | 7.54 | 9.45 | 5.19 | 7.80
pH4.87Anv & | m/l | 65.7]67.9|68.5] 8.8 74.3| 72.8 | 74.8 | 48.7 | 70,8 | 69.3 | 55.2 [ 57.2 | 86.8 | 48.7 [ 67.7
p HY. 0B we/l | 0.00] 0.49 | 0.98 | 497 — [7.03]853]8.03]|11.00]10.50[6.02] 6.52[11.00| 0.00 | 5.82
p HO.O07 A B Y i g/ — — — — 1. 51 — — — — — — — 1.61 ] 1.51 | 1.51
dig A A (s0,27) | ment [ 17.6] 22.1 ] 20,0 31.2] 26,8 17.3 | 17.2 | 17.4 | 18.8 | 20.2 | 18.5 | 17.5 | 31.2 | 17.2 | 20.4
tfetiAr(a) | m/l | 35.7 [ 33.8 | 35.4 | 50.4 | 41.5[39.9] 36.6]20.0[31.1]31.6|266]28.1]50.4]20.0] 342
Fh U A me/l | 27.0(25.3]23.9130.7(31.6(32.6|25.5([30.8]31.7]27.9127.3(29.0]32.6]23.9]28.6
PN m/l | 3.95 | 4.25 [ 3.89 | 6.00] 4.36 | 3.91 | 3.92]3.90 | 6:51 | 6.38 | 6.12 | 4.01 | 6.51 | 3.89 | 4.77
WA sio) | ma | 9.32]12.1 ] 11.4 18,1 11.8] 16,0 14.8] 11,6 13.5]10.2 [ 10.7 | 10.9] 18.1 [ 9.32 | 12.5
T E w/l | 5.01 ] 6.80 ] 5.96 | 9.62 | 8.04]7.48 [ 8.12] 9.58 [10.60| 8.98 | 8.04 [ 10.10]10.60] 5.01 | 8.19
yonzqi-a (Gl-a) - | pg/t | 71.5 ] 99.5 | 83.5 | 110,4]140.2] 40.4 | 30.5 | 59.9 | 70.4 | 69.8 | 38.4 | 61.4 [140.2] 30.5 | 73.0
poazgpeh (Gl-b) | we/l | 0.0 | 0.0 | 0.4 | 2.6 | 0.0 | 0.4 [ 0.0 | 0.0 ] 0,0 | 0.0 | 0.0 | 0.0 | 2.6 | 0.0 [ 0.3
puzee (l-¢) | pg/l | 9.1 [ 13.0]10.2 (207 [21.3] 47 | 3.0 [ 58|56 73]35] 7.7]2.3]|30] 93
TAT 4 Fo we/l | 204 26.1] 9.3 7.1 [39.4]11.1] 6.3 ] 9.4 [11.9]19.8]10.7] 80 | 39.4 [ 6.3 [ 15.0
Wt A SR | me/i | 0.00] 0.00 [ 0.00 ] 0.00 ] 0.00] 0.00] 0.00]0.00] 0.00]0.00]0.00]0.0t]0.0L][0.00]0. 00
S EIOTE B KK OFHEIZL D Kbz, . 3. P-ON=({ON)—(D-ON) 6.P-TP=(TP)—(D-TP)
1.P-COD=(COD)—(D-COD) 4.D-TN=(1 N)+(D-ON) 7.TC=(I C)+(TOC)
2.1 N=(NH4-N)+{(NO2-N}+(NO3-N) 5. TN=(1 N)+(ON) §.P-OC=(T0OC)—(D-0OC)




KEHgER —am— (2) _
BlP4 SR KFE% FARJ )i dbi AL 184E( 20064F)

] B | Bf-| 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |SeKfE|f/IME| THIE
2 —MI B ng/l 75 | 210 | 270 | 44 65 12 18 2 0 3 2 5 270 0 59
SARL ng/1 30 53 96 | 380 | 180 0 5 1 2 1 4 0 380 0 63

srogrte | me/l [0.090[0.123]0.108]0.105[0.1180.0780.0690.077]0.074]0.077]0.072]0.087]0.123 | 0. 069 | 0. 090

somiEpkse | me/l [0.049]0.073]0.059] 0,063 0. 069 [0. 0281]0. 0271]0. 0345]0. 0354]0. 0389]0. 0366[0. 0400] 0. 073 | 0. 027 | 0. 046

7 wr/ i gde| me/l [0.030]0.036]0.035](0.025]0.013]0.0270[0. 0231[0, 0262]0. 0249]0. 0243[0. 0226(0. 0274 0. 036 | 0.013 | 0. 026
o 7wy ke me/l [0.010]0.013]0.013]0.015](0.034]0.0197]0. 0166[0. 0148]0. 0133]0. 0127[0. 0116]0. 0173 0. 034 | 0.010 | 0. 016

7 weERgRE | me/l [0.001[0.001]0.001]0.002]0.002[0.0029[0. 6023[0. 0015[0. 0007|0. 0012|0. 0009|0. 0018[ 0. 003 | 0. 001 | 0. 002

BER(TV £ mg/l | 1.22] 1.59 [ 1.43 [ 0.91]1.03]0.77 [ 0.70 | 0.86 | 0.84 | 0.73 [ 1.24 | 1.15 [ 1.59 | 0.70 | 1.04

RER(TY D e/l [ 1.24] 150 1.47 [ 1,05 | 1.17 ] 0.72 | 0.66 | 0.80 ] 0.90 | 0.71 | 1.54 | 1.04 ] 1.54 | 0.66 | 1.07

REFN TH me/t | 124 ] 152 1561 1.05]1.04]0.69]0.83]0.85]0.85]0.73]1.06] 1.09) 1.56] 0.63 | 1,04

Y () b g/l 0.057]0.083]0.074]0.089]0.095] 0.090 [ 0.084]0.091]0.127]0.130] 0. 101[0.084] 0. 130 | 0. 057 | 0. 092

13) > () i@ me/l | 0.060]0.069]0.070]0.089]0.081]0.093]0.082]0.105]0.127]0.125]0.097]0.081] 0. 127 | 0. 060 [ 0. 090

@y () TR me/l | 0.057[0.069]0.076]0.100]0,103]0.083|0.145[0.417]0.132]0.1220.113[0.091]0.145] 0,057 | 0. 101
COD kf me/l | 6.96]839]7.57[9.43]9.16]7.18]6.99]|7.76] 7.78[9.16|6.53(7.97]9.43] 6.53 | 7.91
CoD ¥R me/l [ 7.45]9.13] 7.81[8.43]8.96 | 6.63 ]| 6.93]6.56| 7.74 [ 7.72]7.03]7.75]9.13 | 6.56 | 7.68
coD Fi me/l | 759 8.51] 859 [09.15] 9.26 ] 6.56 | 6.49 | 7.56 | 7.40 [ 7.72 | 7.37 | 7.63 | 9.26 | 6.49 | 7.82

KR kE C —~ - — — — — — — — — — —

#ili C | 45 ] 4690 13.5[17.2[21.6]258]|254]241[22.1]18.3]11.0
0.5m C [ 45| 46 ] 9.0[13.5]17.2]21.625.9[25.3[24.1]22.0]18.2]11.0
1.0m C [ 45| 45| 890 [13.5[17.2[21.4]25.9(25.2[24.1]22.0][182]11.0
2, 0m C [ 44| a5 |83 [msf[1r.2{21.3]25.9[25.2[24.1]22.0]18.1]11.0
3,0m C | 44 ] 44 ] 82 [13.5]17.2]21.3[25.9[251[24.1]22.0]18.1] 110
4.0m C | 4.4 | 4.4 8.2 [13.4)17.1]21.3[25.7]25.1|24.0] 22.0]18.0] 11.0
5.0m C | 444382134170 21.2]25.3[25.0[24.0]21.9]17.8]11.0
6. 0m C |44 43 ] 8211169 21.2]25.1[250[24.0]21.9]17.7]11.0
EEE C [ 44 a3 8213116921221 [25.0[240][21.9]17.7]11.0

*DO Kt | me/l — — — — — — — — — — — —

EL mg/l [ 1227 [14.5]13.2[11.5[10.3[ 8.2 [ 8.0 | 9.8 9.0 | 85 [11.2] 9.9
0.5m mg/l [ 127 145134116101 ] 81 [ 80 ] 9.8 (89|85 [11.4] 9.9
1.0m g/l [12.7]14.3]13.4[11.5] 9.8 | 80| 7.8 9.2 [ 88 | 84 [ 11.5] 9.7
2.0m g/l [12.4]14.0]12.4]11.2] 9.3 | 7.7 | 7.6 | 84 [ 85| 7.9 | 11.3] 9.6
3.0m me/l |12.1]13.5]11.9[109] 84| 7.4 | 7.4 | 80| 84| 7.7 |11.0] 9.6
4.0m m/l [12.2]13.4] 11,9110 8.1 ]| 6.9 | 71| 77]84] 75 [10.9] 9.5
5,0m mg/l | 121131117 10.8] 7.5 ] 6.9 | 5.6 | 7.5 ] 84| 7.5 [10.6] 9.2
6.0m me/t | 12,00 13.1(11.5] 9.4 | 6.7 | 7.1 | 3.0 | 7.3 | 8.3 | 7.5 | 9.9 | 8.9
EH me/l | 11.4] 1291009 93] 6.2 | 7.3 ] 3.0 ] 7.1]80] 7.4]99]8.2
ki kb | Lux | 25980 78100( 11150 17510 7350 [ 33000 | 8420 | 16640 [ 24060 | 22060 | 39700 | 34500
Rifi Lux | 19580 62900 8440 [ 16130 | 5600 [ 25300 7580 | 11440 21100 19740 36700 | 32300
0.5m Lux | 9170 [17730] 2840 | 3750 | 1929 | 11040] 2728 | 4660 | 7320 | 7610 [ 15690 [ 13840
1.0m Lux | 3850 | 5190 | 1128 [ 1216 | 432 | 6300 | 1093 | 1607 | 3110 | 2172 | 4410-{ 3980
2. 0mi Lux | 962 [ 669 | 214 | 83 36 | 2091 | 229 | 262 | 529 | 336 | 626 | 348
3.0m lux | 188 [ 126 | 46 )| 8 3 784 | 46 27 | 102 | 64 | 106 | 350
4.0m Lux | 35 21 8 1 — |24 | 11 5 ‘16 11 14 6
5. 0m Lux 8 4 2 — — 73 2 0 3 2 2 0
6.0m Lux 1 0 0 — — 24 0 — 0 0 0 —
lgﬁﬁ Lux - - - - — - ‘—‘ - - — - _

JEiRiE FOR P mv | 180 | 64 | 100 | 58 | 125 | 90 | 102 | 144 [ 55 [ 132 | 96 [ 125

fiwE * DORDOFHCE 3 RIERFRE




KEFER —MEH— (1)
B4 MEE e FUR/ 114 i SR 184 2006 42)
H B My | 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 | B KA Fe/ M| SEHfE
X & = [ [ - & & S kS & & I [
kAl W4y | 9:10 | 11:18 8:59 | 8:40 [ 8:35 | 9:38 | 8:30 | 8:32 [ 8:50 | 9:02 | 11:16] 9:00
ET N m. | 2,43 2.53]2.37]2.43]2.23|2.05[2.08]216]208]|211]|1.92]2.45
FRAKIGR m ] o0.50[0.50]050]0.50]050]0.50(050]0.50]050]0.50]0.50][0.50
R C 3.8 | 88 |10.2]14.5]17.2 225|252 25.2]|26.8]23.2]21.5] 8.8
A H °C 5.1 | 49| 88 | 14.7]17.0|21.1]|25.6| 24.5| 24.5[21.3] 17.6 [ 10.1]25.6 | 4.9 | 16.3
4 & HIBE | kBE | SIE | WER | RENE | REEE | em | 305 | asn8| HeE | 488 | ges
2 &(#BR US| FAUR | Favs s SR | ER | e | s | ek | R ) MER | e
BRI em | 17.5] 16,5 13.0 ] 156.313.5|14.5 [ 17,5 [ 15,5 [ 15,0 | 15.0 [ 15.0| 16.8
B m 0.61]0.60] 0.53] 0.57 ] 0.63 | 0.58 | 0.58 | 0.57 | 0.51 | 0.47 | 0.47 | 0.67 | 0.67 | 0.47 | 0.57
Ko 18 17 18 17 17 17 18 18 18 18 18 18
pH 89 ] 9.1]91[81]87]]80]80]85]|85]|81]81]83][]91]s80]8.5
DO mg/l | 13.17[14.10[13.25|12.55[10.25[ 7.20 | 6.11 | 8.08 [ 8.86 | 8.54 | 11.72|11.75]| 14.10| 6. 11 | 10.47
BOD me/l | 4.42 [ 4.17 [ 4.53 | 6.77 | 4.33 [ 402 4.65[3.10[3.16 [ 2.35] 2.46 | 3.80 ] 6.77 | 2.35 | 3.98
CODy, me/l [ 7.95]8.79(8.19[10.43] 9.54 | 9.20 | 7.77 | 8.76 | 8.56 | 9.58 | 7.65 | 8.77 | 10.43]| 7.65 | 8.77
D+ CODy m/ — — — — — — — - — — — — -
P CODy, ng/1 — — — — — — — — — — — — — — —
COD¢, me/| — — — — — — — — — — — — — — —
D:CODg, g/l — — — — — — — — — — — — — — —
ss' mg/l | 20.6 | 19.3]22.6|22.1]|24.5]32.9(28.2|37.0]32.9(37.5]28.6[222] 37.5- 19.3 [ 27.4
KIBHiTE S sewvioon [ 7. 9B+1[ 7. 9F+2| 4. 9B+1| 2. 3B+1 | 1. 7E+1[ 7. 0E+1| 1. 15+1 [ 9. 3E+2| 1. 1E+3] 2. 33+2| 3. 3E+2| 3. 3E+2| 1. 1E+3 | 1. 1E+1 | 3. 3B+2
BT | t20om |3, 6601 2. 802 1. 5EA 1] <1 <1 <1 <1 <1 |a.ameel3ama| <« o ieri[3.ae2] < |6.6ErL
REF(TY me/l | 1,02 1.12 [ 1.17 ] 1.23]1.09 [0.94] 0.79]0.83] 0.82 {0.76 | 0.94 | 0.83] 1.23 [ 0.76 | 0.96
@y v (1) me/l ]0.075]0.077[0.095/0.134[0.147/0.123]0.108]0.127]0.155[0.132|0.115|0.084]0.155]0.075|0.114
TEEA( Zn) me/1 — ]0.003] — [0.000]0.000]0.000]|0.000]0.001]0.000[0.000]0.002{0.001]0.003]0.000] 0.000
raysgEEN-N | mn | 0,00 0,00 0.00] 0.11 ] 0,09 0.06] 0.00]0.04]0.04]0.00]0.02]0.01]0.11]0.00]0.03
TEMAEERN-Y | m/l | 0.003]0,001[0.000]0,078]0.0000.002]0.001[0.000[0.002]0.000]0.000]0.001]0.078] 0.000 | 0.007
BRESF(NG-N | wgA | 0.02 | 0.00 [ 0.00 | 0.01 | 0.01 ] 0.00 ] 0.00 [ 0.00] 0.00 | 0,00 | 0.00 | 0.00 | 0.02 [ 0.00 | 0.00
ERIBRECIN me/t 1 0.02]0.00]0.00|0.20[0.10]0.06] 0.00[0,04]0.04]0.00]0.02]0,01]0.20]0.00] 0.04
HBREER( Q) me/l | 0.8 0.95] 1.00]1.03] 10108 ]0.70]0.75]0.80 [0.81,]0.87[0.77] 1.03 | 0.70 | 0.87
isgpE s o) me/l [ 0,38 0.37 ] 0.38[0.32]0.53]0.35 0.33]0.41]0.32]0.32[0.24|0.28[0.53]0.24]0.35
wriptsEsce o) m/ 1 0.50 ] 0.58 [ 0,63 ] 0.71 [ 0.48 ] 0.54 ] 0.37 [ 0.34] 0.48 [ 0.49 [ 0.63 [ 0.49] 0.71 | 0.34 | 0.52
wsprbaRco ™ | me/i [ 0,40 0.37 ] 0.38] 0.52 | 0.63 | 0.41 [ 0.33] 0.45] 0.36 | 0.32 | 0.26 | 0.29| 0.63 | 0.26 | 0.39
BEX('N mg/l |'0,90 | 0.95] 1.01]1.23[1.11[0.95]|0.70{0.79] 0.84] 0.8 |0.8]0.78] 1.23 [ 0.70| 0,91
AWYREIEYAPO -P) | wg/t | 0.003[0.000]0.000]0.008]0.004|0.006]0.014|0.014[0.045] 0.037[0.000]|0.004 | 0.045 | 0.000 | 0.011
imspterpma o ro,m | me/l | 0,000{0.000]0.000]0,003]0.003]0,005[0.011]0.011]0.035[0.014]0.000]0.000]{0.035] 0.000 [ o0.007
AR V(D 1P | e/l — — — — — — — — — — — — — — —
FFERY »(Cp1p) | me/l — — — — — — — — — — — — — —
ERERROO m/l | 10.8]11.0]12.6| — — — — — — — — — | 12.6 ] 10.8 | 11.5
HBIERR(TD /N | 6.3 | 6.5 | 6.5 | 5.0 | 4.8 | 3.9 | 6.4 | 6.7 | 4.6 | 6.4 | 50| 7.6 | 7.6 | 3.9
BE#CTO g/l 171 17,5191 — — — — — — — — — | 19.1 | 17.1 | 17,9
R FRES D ©| m/l — — — — — — — — — — — — — —
BT RCP | me/l — - - - - — — — - - - - - — —
EREIESH(D: Fe) g/ - — — — — — — — — — — — — — —
AR (D MY mg/1 — — - — — — — — — — — — — — —
$K( Fe) e/l — — — — — — — — — — — — — — —
2 H (M) me/| — — —. — — — — — — — — — - — —
Bl B | 23.5[20.5]30.4] 19.0|31.1[32.6] 26.9]31.0]33.9]30.3|31.1]31.7]339]19.0]29.3
HBR(20°C) ws/m | 35,7 | 32,4 | 35.6 [ 36.4 | 50.5 38.8 [ 33.7 | 28.5 | 41.9 | 28.4 | 25 31.2 | 50.5 | 25.5 | 34.9
AN B(G) m/l — — — — — — — — — — — — —
v 2L Y A e/l — — — — — — — — — — — — — — —
pH4.87vHV B | myl | 67.9|63.4 | 75.6 ) 66.6 | 87.3 [ 75.8 | 75.8 | 69.8 | 79.3 | 66.3 | 56.7 | 57.7 | 87.3 | 56.7 | 70.2
p HO, ORLEE me/l | 0,98 — — | 8.95|552(8.53]9.03[10.50{11.50]|14.10]| 5.52 | 65.02 [14.10] 0.98 | 7.97
pHO.O7AHY IE | m/l — | 224|109 — — — — — — — — — | 2.24 | 1.09 | 1.67
EEA AV (5Q27) | m/l — — — — — — — — — — — — — — —
e A @) | me/l | 48.0 | 44.7 [ 50.0 | 64.8 | 92.2 | 57.2 | 42.4 [ 34.5 | 64.0 | 35.4 [ 28.9 [ 38.1 ] 92.2 [ 28.9 | 50.0
Fr Y AN mg/1 — — — — -~ — — — — — — — — — —
HY U AR g/l — — — — — — — — — — — — — — —
BLY AT SIO,) me/l — — — — — — — — — — — — — — —
2 E me/1 — — — — — — - — — — — — — — =
pan74p-a ((-a) | py/t- | 78.8 [110.4] 99.7 | 83.2 [122.9] 58.2 | 26.8 | 54,8 | 64,7 | 59.9 | 56.9 [ 45.6 [ 122.9] 26.8 | 71.8
yoozsp-h (al-b) | pg/tt | 0,0 [ 0.0 | 09| 6.0 | 1.4 | 0.0 | 0.0 | 0.0 ] 0.0 | 0.0 | 0.0 [ 0.0] 6.0 | 0.0 | 0.7
yoarpic (i) | wg/t | 9.6 | 144 11.9]21.9]17.4] 5.0 | 2.5 | 5.4 | 5.8 57 [ 53| 6.0 | 21,9] 2.5 ] 9.2
TaA T4 T we/t 279311 16.5] 6.2 [ 37.7]120] 5.5 | 103 14.1[21.3] 14.9[ 5.4 |37.7] 5.4 | 16.9
Wt A REEER | m/ — — — — — — — — — — — — — — —
=y sHIOE HRAOHEILL Y Kz, 3,P-ON=(ON)—(D-ON) 6.P-TP =(TP)—(D-TP)
| 1LpP-coD=(coOD)—(D-COD) 4.D-TN=(I N)+(D-ON) 7.TC=(1 C)+(TOC)
2.1 N=(NHA-N)+(NO2-N)+{NO3-N) 5. TN=(I N)+(ON) 8.P-OC=(TOC)—(D-0OC)




KEFE —WEE— (2)

BHIPTL HEE KR% FHRI i )11 BRG] SRR 84E( 20064E)

T B | Bhz | 1/18| 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 | B KA e/ Mt | S
2 —MI B ng/1 63 | 210 | 250 [ 51 56 3 46 0 0 3 2 2 250 0 58
U AL v ng/1 39 62 | 81 [ 280 [ 49 0 18 1 2 2 3 0 280 0 45

@homkmie | mg/l | 0.093]0.131]0.109]0.103]0.104]0.088]0.096] 0.084[0.093 | 0.083 | 0.083]0.079] 0.131]0.079 ] 0.096

yootaseskhe | me/l [ 0.047]0.076] 0.063] 0. 061 0. 035 [0. 0397]0. 0381{0. 0389]0. 0347]0. 0415]0. 0433]0. 0425] 0. 076 | 0. 035 | 0. 047

7 wey ronpnAERcke| me/l | 0.031]0.040]0.034] 0,025 0,029 [0. 02820. 0323[0. 0283]0. 0321]0. 0267]0. 0256]0. 0244] 0. 040 | 0. 024 | 0. 030
v 7 e kpie| me/l | 0.014] 0 014 0.011]0.015] 0.033 [0. 01780. 0220[0. 0151]0. 0237]0. 0137]0. 0127]0. 0113] 0. 033 | 0.011 | 0, 017

7 wepeeAe | me/1 [ 0.001]0.001]0.001]0.002][0.007]0.0025/0. 0032[0. 0015]0. 0026]0. 0010]0. 0011[0. 0008] 0. 007 | 0. 001 | 0. 002

pER(NER | me/l [ 102 112 [ 1.17] 1.23 [ 1.09 ] 0.94 | 0.79 ] 0.83 [ 0.82 | 0.76 | 0,94 [ 0.83 ]| 1.23 | 0.76 | 0.96

AERNHE m/t 100|113 1.20]0.99]0.75]0.83]0.82]0.75]0.9070.72] 1.20]0.72] 0.95

rE(WTFE | me/l [0.99] .10 1,15 1.13]0.97 ] 0.97|0.79 ] 0.88[0.87 | 0.80 ] 0.92[0.61] 1.15 [ 0.61 | 0.93

Y (TP LR me/1 |0.075]0.077]0.095[0.134]0.147] 0. 123[0.108]0.127]0.155|0.132] 0.115]0.084[0.155] 0.075[0.114

] me/l |0.076]0.081]0.091]0.194]0.100]0.122[0.099]0.133]0.157|0.135]0.121{0.088] 0.194 | 0.076 [ 0. 116

#Y V(1D TR me/l | 0.081]0.084]0.096]0.196]0.101]0.092]0.094 0. 171]0.165]0.137]0.112[0.087] 0.196 [ 0.081 | 0. 118
CcOD LR m/l | 7.95 | 8.79 | 8.19[10.43] 9.54 [9.20 [ 7.77 | 8.76 [ 8.56 | 9.58 | 7.65 | 8.77 [10.43] 7.65 | 8.77
COD % mg/l | 7.75 ] 8.89 [ 8.33]10.41[9.28 [ 9.06| 7.65] 7.80 | 8.44 | 8.96 | 7.77 [ 8.39 | 10.41] 7.65 | 8.56
CODTRE re/l | 8.04] 9.09] 8.0910.01]8.98] 9.48] 7.89 | 6.76| 8.82 | 8.98 | 6.53 | 8.29 | 10.01| 6.53 | 8.4l

K AKE C — — — — - — — — — — — —

E] °C — — — - — — — — — — — —
0.5m °C — — — — — — — — — — — —
1.0m °C — - - - - — — — - - - —
2.0m C - — — - - - - - - - - -
3.0m °C - — — — — — - — — - — —
4.0m °C — — — — — — — — — — — —
5. 0m °C — — — - — — — — — — — —
6. 0m ‘C — - - = - — — — = — - —
[T °C — — — — - — — — — - - —

%00 AL |m/ | - | - | — | =1 - | = | - -1 -T-—T-—T+=

EXl w/l | — — — — — — — — — — — —
0.5m ng/l — — _ _ — — - _ — — — —
1. 0m Hg/l - - - _ _ — - _ - - - —
2.0m wil | - | - | - | - -1 =T-T-T=-T=1T=1=
3.0m ng/l - e - - _ - _ - - —' —_ -
4. 0m mg/1 - — — — — — — — — — — —
5. 0m g/l | — — - — — — — — — — — —
6. 0m e/l | — = — - - — — — — — - —
it A | — | — [~ - - [ T -T—-—T-T=-T=1T=
APEE AE | x| — | — | — | — | - — [ =1 -T-1T-1-T=
RE ux | — — — — — — — — — — — -
0. bm Lux — — — — — — — — — — — —
1. 0m Lx | — - — — — — — — — - — -
2.0m . Lux | — - - - - — - — - - - -
3.0m Lux — — — — — — — — — — — —
4.0m Lux | — — — - — — - — - - - -
5. 0m LUX - - - - - - - - - - - -
6. 0m Lux | — - — - — — - — — - — —
Ef.fﬁ Lux — — — — - _ *‘ _ —_ _ _ —_
EiRHE LOR P v - — — — — — — - — — — —
#%E * DOWID O #Hizk % HIERR '




, KEER —Wk— (1)
B ER e FIR] W% | ] I8 200675)

R H Hr | 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |&&K{E| K/ ME | FEEH1H
Pl E) s I 2 S % & = i = [ R
Hek Rl B4y | 8:20 | 14:00] 8:05 | 7:38 | 7:51 | 8:32 [ 7:39 | 7:45 | 7:59 | 7:58 | 9:16 | 8:14
Ak m | 4.47[ 458 4.25|4.25]|4.38]4.38[ 413 4.15] 4.35| 4.35 | 4.16 | 4.51
AR m |o.50[0.50]0.50]050] 05005005 ]0.50[05]050]0.50[0.50
ER °C 2.6 | 10.4] 8.1 [ 14.2] 16.9] 22,5 | 24.2] 23.6 [ 25.8] 22.1 [ 18.0] 7.6
K iR °C 4,8 | 4.5 | 8.4 [13.8]16.8]20.9] 25.0] 24.6 [ 23.7] 21.4]18.5[ 9.8 | 25,0 4.5 | 16.0
] RiBiE | MIBID | KIBE | RSB | RABH| KNEE| FIBS | RI6B | RiEE | REE | RENE| 268
) EH | kR | R secs) 8| ER | e | EH | s | Es | EE | g
BIRE em | 20517511514 5] 17.56]22.0[ 17.0] 16,0 ] 21.5 | 26.5 | 16.0 ] 19.5
BRE m [0.65]0.59]0.45]0.52]0.75]0.76] 0.56] 0.66|0.78]0.84]0.52]0.76] 0.84] 0.45 | 0.65
K& 18 17 17 17 17 17 18 18 18 18 18 18
p H 8.6 | 8.2 | 8.8 |88 84 82| 78] 84[86]80]84[83]s88]| 78] 84
DO me/l [ 13.67]13.21]13.59(11.47[10.01] 9.05 | 7.44 [ 8.51 | 9.21 [ 8.48 [10.46]12.06] 13.67| 7.44 | 10.60
BOD | mn [ 3.11]2.45[3.37]3.03]3.81|2.90]3.87]3.84]2.26]201]216]373]3.87]201]3.05
CODyp m/l | 7.36 ] 8.55[8.49] 9.50 | 8.00[7.26]6.45]7.92]7.66]7.76]7.45]8.34]9.50] 6.45 7.90
D+ CODy, g/ — — — — — — — — | = — — — — — —
‘P CODy, g/l — — — — — — — — — — — — — — —
CODg, ne/l — — . — — — — — — — — — — — —
D> CODg, /! — — — — — — — — | = — — — — — —
S S | w2331 23.3(31.3]35.6[13.0] 15.037.2[33.5]12.4] 14.4(23.9] 165 37.2] 12.4] 23.2

RIBHTE Meviood | 7. 9E+2| 4. OB+ [ 3. 3E+1| 3. 3E+1| 2, 3E+1 {4, 96+1| 2, 2E+2| 1. 1E+2| L, 1E+2] 4, 9E+2] 3. 3E+2| 3, 5E+2| 7, 9E+2| 2. 3E+1 | 2. 26+2
Wtk RMHE L | @/100u |3, 4E+2[ 1. 4E+1| 8. OE+0| <L <1 <1 <1 |6.0E+0|8.0E+0|2.3E+1[1.8E+1|2. IE+1|3.4E+2| <1 |3.7E+1
HEARN g/l 1.24 [ 1.25 | 1.21 [ 1.10 | 0.81 | 0.62 | 0.72 | 0.85 | 0.68 | 0.60 | 0.74 | 0.72 | 1.25 | 0.60 [ 0.88
Y (1P mg/! ]10.096|0.099)0.097|0.131|0.094(0.080]0.099|0.109) 0.067|0.080|0.092|0.079]0.131|0.067 | 0.094
E£3( Zn) mg/1 — — — — |0.000] — — |0.000f — ]0.000/0.002] — ]0,002{0.000{0,000
TAGMESFING N | my/l 0.00 [ 0.04 ) 0.01 {0.02] 0.04 ) 0.04 | 0.06 | 0.04 [ 0,03 | 0.00 | 0.03 | 0.00 | 0.06 [ 0.00 [ 0.03
TEWBEREHR(N,-N | mg/I | 0.004]0.005|0.011[0.086|0.001(0.001]|0.007|0.000|0.000]|0.000(0.0020.000] 0.086 | 0.000 | 0.010
BEEER(NG -N mg/l 10,12 (0.25) 0.01]0.01 | 0.00 00 ] 0.03 ] 0.00 | 0.00 00 [ 0.00 ] 0.00 | 0.25 | 0.00 | 0.04
EREEHRCIN me/l | 0.12 | 0.30 [ 0.03 | 0.12 | 0.04 04 [ 0.10 | 0.04 | 0.03 00]0.03] 0.00] 0.30 | 0.00 | 0.07
AERE( ng/l 0.96 | 0.81 | 1.13 ] 0.98 | 0.77 62 [ 0.57 | 0.66 | 0.65 63 [ 0.66 | 0.63 | 1.13 | 0.57 | 0.76
BREFREEID ™| g/t ] 0,40 | 0.46 | 0.47 | 0.11 | 0.68 27 [0.36 ] 0.33 | 0.40 33 [0.34]0.29] 0.68 | 0.11 | 0.37
0
0
0

srrtegisssnce ool m/l | 0.56 [ 0.35 | 0.66 | 0.87 | 0.09 35| 0.21 | 0.33 30 [-0.32 ] 0.34 ] 0.87 ] 0.09 | 0.39
EEERER(D 1y | me/l ] 0.52] 0.76 | 0.50 ] 0.23 | 0.72 31 | 0.46 | 0.37 33 10.37]0.29]0.76 | 0.23 | 0.44
BEFCMN mg/l ] 1.08 | L.11[1.16 ]| 1.10] 0.81 66 | 0.67 | 0.70 63 ] 0.69| 0,63 1.16 | 0.63 | 0.83
AWM YBRIEYAPG -P) | ne/1l | 0.004]0.004]0.003]0.010|0.003|0.005|0.028[0.012]|0.009]0.013[0.028) 0.000] 0,028 | 0.000 | 0.010
it naeEr o Fa-p | mg/l | 0,000 | 0.000] 0,000 0.004 | 0.000 | 0.004]0,014|0.005]|0.005|0.008[0.000]0.000]0.014 | 0.000 | 0. 003
VRARIERY (D TP | e/l — — — — — — — —
BEFHERY ~ P TR | me/l — — — — — — — — —
ERERIO m/l | 11.4[11.9]12.7] — — — — — — — — — |12.7] 11.4 | 12.0
HHIBRR(TOD g/t 6.5 | 63| 6.4 37| 43[39]|54]61 ]| 41 ] 54]60]|76]|76] 37|55
HRHECTO e/l | 17.9] 18.2 | 19.1 4
AR © mA — — — — — — — — — — — — — — —
RTETRIERRCP | m/l — — — — — — — — — — -

clo|eleleole|e
clelole|eo|e|e

TERRMERR(D- Fe) e/l — — — — — — — — — — — — — — —

a2 A D M) mg/1 — - — — - — — — — — — — — — —

£i(Fe) mg/l — — — — - | = — — — — — — — — —

= H (M) ng/1 — — — — — — — — — — — — — — —
O i 22.0 | 29.9]39.4 | 26.5| 14.0| 17.8] 29,2 ] 30.1 ] 22.3 | 13.3 [ 25.2 | 25.7 ] 39.4 | 13.3 | 24.6
HEH(200) nS/m | 36.3 | 39.9 [ 39.9] 34.0 | 51.7 | 35.9 | 33.5| 30.0 | 36.0 | 29.2 | 27.6 | 32.0 [ 1.7 | 27.6 | 35.5

BN A(G) me/l. — — — — — — — — — — — — — — —

<Y FU L(M) ng/1 — — — - — — — — — — — — — — —
p H4.87 v B K mg/l | 61.2]569.56 71,2 | 73.0| 74.3[63.7|62.2]|57.7|82.3]|6h.2|05b2[62.7]82.3]552]65.7
p H9. 0BREE g/l 1.96 | 2.95 [ 0.98 | 5.96 | 7.53 [ 8.53 |11.50] 6.52 | 5.52 | 9.03 | 6.52 | 8.03 ] 11.50| 0.98 | 6.25
p HO.07 WiV & me/1 — — — — — — — — — — — — —
Bl A (50°7) | mg/l — — — — — —
kg1 (an) g/l 50.9 | 62,2 | 60.5 | 70.4 | 92.4 | 52.6 | 46.6 | 36.9 | 42.0 | 44.2 | 33.9 | 43.0] 92.4 | 33.9 | 53.0
TR YT AN g/l — — — — — — — — — — - — — — —

AV U AR w/l | — -1 -1 - - -l -1 -1= - - | = - - -
RY AT 510) | m/l — — — — — — — — — — — — — — —
sy A mg/1 — — — — — — — — — — — — — — —
Jop74p~a (Chl-a) g/l 56.7 | 75.5(112.0| 50.2 |'62,9 | 37.9 | 27.7 | 59.7 | 42.9| 33.5 | 36.0 | 32.1 | 112.0] 27.7 | 52.3
yaa7gb (Gl b) | we/l | 0.0 | 4.3 | 0.0 | 6.2 | 6.1 | 0.0 | 0.0 | 0.0 | 0.0 | 0.0 | 0.0 | 0.0 | 6.2 | 0.0 | 1.4
poazqrc (Gl-c) | ue/l | 6.7 | 10.6 | 26.4 | 13.0| 9.8 | 3.5 | 1.9 | 5.0 | 3.7 | 3.3 | 2.8 | 4.3 | 26.4| 1.9 | 7.6
7=A747~ | pu/t | 27.3 | 28.0 | 23.4 | 7.6 | 18.4 | 17.1 | 11.7 | 13.4]| 3.5 | 4.8 | 7.2 | 1.9 | 28.0 | 1.9 | 13.7
arAgopmtd | o) | — | — | — | = [ — | =] - -1 T -1 —-1T-—-1T-1T— -
i E3 FEIOTR H LK OFBICE D R, 3P -ON=(ON)—(D-ON) 6 P-TP=(TP)—(D-TP)
1.P-COD=(COD)—(D-COD) 4.D-TN=(] N)+{(D-ON) 7.TC=(I C)+(TOC)

2.1 N=(NH4-N)+(NO2-N)+(NO3-N) 5. TN=(I N)+(ON) 8.P-O0C=(TOC)—(D-0C)




KEFEER —#k— (2)
BRI 4 Ik KE%4 FAR IHIEA wEERIR YRR 184E( 20064E)

I A BWEAL | 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |BKfE|f/ME|EHE
2 —MI B ng/! — — — — — — — — — — — — — — —
CARI neg/1 — — — — — — — — — — — — — - —

AR o R mg/1 — — — — — — — — — — — — — — —

s | e/l | — — — — — — — — — — — — — — —

7 v%/ ponps e | me/l — - - — - — - - - - - - - - -
Y 7 nrpami e me/l - - — — — — — — — — — — - - -

TowdiE | e/l | — | - | - | = [ = [~ [ = [ =1 -=-—T-=-1-=-T-T-1-=-1-

FREF(N L m/l [1.24]1.25]1.21]1.10]0.81[0.62]0.72]0.85]0.68]0.60[0.74|0.72]1.25] 0.60 ] 0.88

BER(IN e/l — — — — — — — — — — — — — — —

RER(TN TE mg/l | 1.26 | 1.221.23]1.03] 1.15] 0.60 [ 0.72 | 0.88 | 0.68 | 0.60 [ 0.78 | 0.60 | 1.26 | 0.60 | 0.90

Y (P EF ng/l | 0.096[0.099]0.097]0.131[0.094]0.080{0.099{0.109]0.067[0.080]0.092]0.079] 0. 131 | 0.067 ] 0.094

12U > (TP (g g/l — — — — — — — — — — — — — — —
wy (D TR mg/l [0.096]0,.097]0.100] 0.126]0.069[0.082{0,098]0.1140.094|0.079|0.090( 0,081 0.126| 0.069 | 0. 094
COD kR ug/l | 7.36 | B.55 | 8.49 | 9.50 | 8.00 | 7.26 | 6.45 | 7.92 | 7.66 | 7.76 | 7.45 | 8.34 | 9.50 | 6.45 | 7.90
COD %@ me/} — — — — — — — — — — — — — — —
CODTH g/l — — — — — — — — — — — — — — —
AR KE c | -1 -1 -"T-=-T-T-1T-T-=-T=-T-1T-=-1-
Rifd °C — — — — — — — — — — — —
0.5m C — — — — — — — — — — — —
1.0m °C — — — — — — — — — — — —
2.0m C — — — — — — — — — — — —
3. 0m C — — — — — — — — — — — —
4.0m °C — — — — — — — — — — — —
5.0m °C — — — — — — — — — — — —
6.0m C — — — — — — — — — — — —
i °C — | -1 -1T-=-T=-1T=-T-=T-=-1T+= —~ [ =1=
*DO . AE | mg/l — — — — — — — — — — — —
i‘éfﬁ ng/l bt - - - - - - - - - - e
0.5m m/d | — | — = — | 1 =1 =1 =T1T=T1T=71T=7=
1,0m g/l — — — — — — — — — — — —
2.0m g/l — — — — — — — — — — — —
3.0m g/ — — — — — — — — — — — —
4.0m e/l — — — — — — — — — — — —
5. 0m ng/! — — — — — — — — — — — —
6. 0m i/l — — — — — — — — — — — -
[di] ng/l — — — — — — — — — — — —

ApmEE kKB | Lux — — — — — — — — — — — —
Edi] Lux — — — — — — — — — — — —
0, 5m Lux — — — — — — — — — — — —
L.0m Lux — — — — — — — — — — — —
2.0m Lux — — — — — — — — — — — —
3. 0m Lux — — — — — — — — — — — —
4, 0m Lux — — — — — — — — — — — —
5. 0m Lux — — — — — — — — — — — —
6. 0m Lux — — — — — — — — — — — —
5 Lux — — — — — — — — — — — —

ElRELEORP Y — — — — — — — — — — — —
fi#%E * DOEDO#HZL 5 MR R




KEFER —IMRSH— (1)

BT 4 SL IR KR4 FHRJ )4 HERRI Ek184E( 20064E)
H B | Bz | 118 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |BK{E|R/ME| ¥ E
= E | w | W | & | & | & | & | B | w | & | ]| &
kBl W5y | 8:46 | 8:28 | 8:30 | 8:10 | 8:11 | 9:08 | 8:07 | 8:05 | 8:25 | 8:31 [14:13] 8:35
EIKEE m 5.36 | 4.11 | 4.46 | 3.31 | 4.21 | 4.95| 4.55 | 4.73 | 4.29 | 4.56 | 4.17 | 4. 46
BRACK m 0,50 ] 0.50 | 0.50 | 0.50 | 0.50.( 0.50 | 0,50 | 0,50 | 0,50 | 0.50 | 0.50 | 0,50
KR °C 3.2 8.8 8.3 14,6 | 18,2 | 23,3 |1 25,1 | 23.4| 25.3 | 22.4 | 19.2 | 7.4
KoOH C 4.8 1.1 8.4 | 13.7 ] 16.8 | 21.1 ) 25,4 | 25.1 ] 23.7]21.3 ] 18.1] 10.4] 25.4 | 4.1 16.1
N # I | Mem | KeE | s | souen | RKen| aee | seE [wees| wee | wee | ke
) HER | MR (maeon) R (meon| MR MR ) HE | M5 | MR ) K8 | &R
ERE cm 17,0 | 14.8 | 10.3 | 15,0 ] 18.3 | 16.5| 16.5 | 20.5| 16.7 | 19.6 | 16.5 | 18.6
B m 0.59] 0.53|0.45]0.53|0.81'|0.58] 0.56|0.63|0.55|0,68]0,63]0.72| 0.81 | 0.45 ] 0.61
Ko 18 18 18 17 17 18 18 18 18 18 18 19
p H 8.4 8.2 8.9 8.6 8.4 7.9 7.9 8.5 8.3 7.9 8.7 8.0 8.9 7.9 8.3
DO ng/! 13.84|13.16(13.63|11.35| 9.78 | 8.59 | 6.69 | 8.24 | 7.98 | 7.40 | 11.47|11.92| 13.84| 6.69 | 10.34
BOD m/l 2.80 | 2.68 | 3.33 | 4.56 | 3.39| 3.22 | 2.47 [ 3.23 | 2.07| 2.01 | 2.08 | 3.19 ]| 4.56 | 2,01 | 2.92
CODy, e/l 7.55 | 8.19 | 7.39]9.00| 7.70 | 7.94 | 6.39 [ 6.66 | 7.06 | 8.28 | 7.19 | 8.13 ] 9.00 | 6,39 | 7.62
D' CODy, /| — — — — — — — — — — — — — — —
‘P CODy, mg/| — — — — — — — — — — — — — — —
CODg, /] — — — — — — — — — — — — — — —
D+ CODg, e/l — — — — — — — — — — — — — — —
88 g/ 23.3|24.0| 28.0 26.1 | 10.2 | 22.7 [ 25,7 | 20.9| 23.8 | 19.7 | 20.3 | 17.9] 28.0] 10.2 | 21.9
RIGERELR APY100nt |3, 3E+2| 4, 9EHL| 7. 9E+] | 2. 3E+1 |3, 3E+]| 2, TEHL | 3, 3B+] | 1. 1E+3[ 4. 9E+2| 7, 9E+2| 7, 9E+2| 1. 7TE+2| 1. 1E+3 | 2. 3E+1| 3, 3E+2
HEERMBEREE | oo [9.4B+1[ 1L 1B 2. 46H | <1 1 9 <1 |9.0E+0| 1. OE+1|6. 0B+0|2. 0E+0| 4. 0B+ 1] 9. 4F+1| <1 | 1.6E+1
. BREH(TN mg/1 .25 1.13 | 1.18 | 1.25| 1.09 | 0.77 | 0.73 [ 0.73 ] 0.81 | 0.60 | 0.77 | 0.75 | 1.25 | 0.60 | 0.92
#Y v (1) ag/l |0.102]0.100]|0,099(0.126]0.091]0.099[0.093]0.081|0.119]|0.083|0,089|0,081]0.126]| 0.081]0.097
EEN 7n) g/} — 0. 001 — 0.002| 0. 000 0.000|0.000]0.000|0.000]0.000{0.000]|0.001]0.002]| 0,000 | 0.000
TAHEER (N -N | we/l 0.00] 0.06 | 0.00 | 0.05 | 0.03 | 0.08 | 0.07 | 0.04 | 0.04 | 0.00 | 0,05 0,00 ] 0,08 | 0,00 | 0,04
TEFREEEHRNG-N | m/l | 0.005]0.003|0.000]0,089]0.0030.002]0.006|0,000]0.002|0.016|0.000(0,000]0.089|0.000][0,011
TREIEEH(NG, -N mg/1 0.23]1 0,18 [ 0.00,) 0.01 | 0.00| 0.00] 0,03 ] 0.00] 0.03 | 0,00 | 0,00 0.00] 0.23 [ 0.00 | 0.04
EREERCIN /1 0.2410.24|0.00] 0,15] 0.03 | 0.08 ] 0,11 | 0.04] 0.07 ] 0.02| 0.05 [ 0.00] 0.24 | 0,00 | 0.09
AR ( Y mg/! 0.8710.82|1.09] 1.10 | 0.94 | 0.72 ] 0.50 [ 0.66 | 0.70 | 0.61 | 0.69 | 0.69 | 1.10 | 0.50 | 0.78
EARENTRESH(D N| my/l 0.36 | 0.38 ] 0.38]0.47 ] 0.37].0.40 ] 0.37]0.41 ] 0.22] 0.38] 0.28] 0.28] 0.47 | 0.22 | 0.36
HAEEERCe ] m/] 0.51 | 0.44 | 0,71 0,63 ] 0.57 ] 0.32]0.13 | 0.25] 0,48 | 0.23 | 0.41 | 0.41] 0,71 | 0.13 | 0.42
EERERCD> ™ | mw/l 0.60 | 0.62 | 0.38] 0.62] 0.40 | 0.48 ] 0.48 | 0.45] 0.29 | 0.40 | 0.33 [ 0.28 | 0.62 | 0.28 | 0.44
BER(C™N g/ 1.11 ] 1,06 | 1,09 | 1.25 [ 0.97 | 0.80 ] 0.61 | 0,70 | 0.77 [ 0.63 | 0.74 ] 0.69 | 1.25 [ 0.61 | 0.87
Ak Y B IEY (PO, -P) mg/l | 0.006|0.004| 0,003 |0,007|0.005|0.008|0.029]0.008]|0.040| 0.030] 0.019]0.000] 0. 040 | 0. 000 | 0.013
i EiER (0 ra- | me/l 10,000 0.000| 0.000( 0,000 0.003]0.006|0.025]0.003|0.028]0.022]0.000|0.000] 0.028 | 0. 000 | 0. 007
sy v ™ | mn | — [ = — — - [ -1 -=-1-1-= - | =1 = — — -
HU-HERY (P TP | me/) — - - — — — — — — — — — — — —
ERIERE( O m/ [11.1]123]183] — | — [ — [ - | — | = = =] —J113[1.1]122
FIIESF(D) mg/1 6.9 6.5 6.7 4.1 4.1 4.1 5.8 5.8 3.9 5.5 6.4 7.1 7.1 3.9 5.6
BRECTO me/1 18.0 | 18.8 | 20.0 — — — — — — — — — 20,0 [ 18.0 | 18.9
ESETHERED ©| w/ — — — — — — — — — — — — — — —
B RERERECP o m/) — — — — — — — — — — _ = — — —
RRHERE(D Fo) mg/! — — — — — — — — — — — — — — —
ARETA AD M) | me/) — — — — — — — — — — — — — - —
P(Fe) e/| - — = — — — — — — — — — — — —
<A (M) me/1 — — — — — — — — — — — — —
LS 3 23.3 [ 20.2| 38222 7] 132|272 24.4[20.6]29.8|18.0]23.5]|27.5]382](132] 24.8
EES(200) mf/m | 39.5 | 40.1 | 41.1 | 40.9 | 49.9 | 42.8 | 41.8 | 30.7 | 43.2 | 32.4 | 29.6 | 30.9 | 49.9 | 29.6 | 38.6
BALD A(G) me/l — — — — — — — — — — — — — — —
<V 27 AN g/l — — — — — — — — — — — — — — —
p H4.B7 A Y I mg/1 61.7 ] 62.3|76.2|81.4|79.8|69.3| 71.8|80.8|71.3|65.2|54.7|83.3]83.3]|54.7]| 71.5
p H9. 088 mg/! 2.95 | 1.96 | 0.49 | 5.46 | 6.52 | 12,00[12,00] 8.03 [ 9.03 | 9.54 | 6,02 | 7.03 | 12.00| 0.49 | 6.75
pHO. 07 AnY B | me/l — — — — — — — — — — — — — — —
B A (50,2 7) | my/l — — — — — — — — — — — — — — —
oA Av(a7) g/l 7.5 63.0 | 65.7 | 72.6 | 84.5 | 71.5| 71.9 | 40.3 | 59.7 | 560.5 | 39.1 | 42.4 | 84.5 | 39.1 | 59.9
Fh YU AN mg/! — — — — — — — — — — — — — — —
#Y U AR e/l — — — — — — — — — — — — — — —
By BT Si0,) e/l — — — — — — — — — — — — — — —
TSE g/l — — — — — — — — — — — — — —
pmgies (Gil-a) | pg/l | 61.3 82,0 |111.8] 65.4 | 58.6  34.7 | 30.8 | 38.3 | 54.9 | 29.0 | 29.7 | 35.1 | 111.8] 29.0 | 52.6
pu7fi~b (Cht-b) ug/l 0.0 1.4 0.0 6.3 5.5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.3 0.0 1.1
yoa74i-c (Chl -c) ng/l 7.6 | 10.3] 26.8 [ 17.6 | 7.5 4.2 2.3 2.9 4.9 3.3 2.1 50 | 25.8 2.1 7.8
TxF T4 F uell 28.4 | 21.1]27.8] 6.0 | 24.5| 6.7 | 1.6 7.1 | 10.7] 7.8 3.2 7.5 | 28.4 3.2 13.5
fad A REIEEA | m/l — — — — — — — — — — — — — — —
K *HIOBE B ITRROHFHEIC LY ko, 3.P~-ON=(ON)~(D-ON} 6.P-TP=(TP)—(D-TP)
1.LP-COD=(COD)—(D-COD) 4, D-TN=(I N)+(D-ON) 7.TC=(I C)+(Toc)
2.1 N=(NH4-N) +{NCG2-N) +{NO3-N) 5. TN=( N)+(ON) 8.P-OC =(TOC)—(D-0C)




KEIEHE MR — (2)

B4 PSSl K%t FHRJ fiES HEEFIRI SRR 184E( 20064E)

H A BAL | 1718 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |ScKIE| B/ ME| FHE
2 —MI B ng/l 11 35 55 25 45 7 9 2 3 4 3 2 55 2 17
VAR v ng/1 5 20 27 50 23 0 8 3 0 2 3 0 50 0 12

@it | mg/l — — — — — — — — — — = — = = —

soivuERktE | me/l - — — - - - — — - — — — - — -

7 ot poepA ek Ee IIE/ 1 — _ — - _ _ _ _ _ _ - _ _ - -
¥ 7 vrymaph i me/l — — — - — — — - - — — - - — —

e I e e e S I
RER(N LR mg/l | 1.25 [ 1,13 1,18 1.25 [ 1,09 | 0.77 | 0.73 | 0.73] 0.81 [ 0.60 | 0.77 [ 0.75 | 1.25 | 0.60 [ 0.92
BARN PR mg/l | 126 1.20]1.17[1.19] 1,03 0.73]0.85 | 0.79] 0.88 [ 0.61 ] 0.73 [ 0.60] 1.26 | 0.60 [ 0.92
REFN TE me/l [ 1,18 1.18] 1,18 1.20 ] 1.08] 0.85 | 0.72 [ 0.77 ] 0.81 | 0.56 | 0,78 [ 0.76 | 1.20 | 0.56 [ 0.92
@Y () LR wg/!l 10.102]0.100]0.099]0.126{0.091]0.033]0.093]0.081]0.119{0.089]0.089{0.0810.126{0.08110,097
By (P PE mg/l [0.101]0.100]0.103]0.122|0.065. 0.103[0.092|0.113]0.127[0.097]0.094[0.072]0.127] 0.065 | 0.099
wY (D) TR me/] |0.097]0.103]0.103]0.076]0.067]0.128]0.105]0.121[0.125[0,.095]0.103]0.080] 0.128 | 0.067 0. 100
COD b mg/l | 7.55 | 8.19]7.39[9.00]7.70] 7.94] 6.390 | 6.66 [ 7.06 [ 8.28[7.19|8.13[9.00]6.39]7.62
CODWH mg/l | 8.14]7.39]8.29(9.00[7.76[7.44]6.79|7.02]7.45]7.42]6.17]7.91]9.00]6.17 | 7.57
COD TR’ mg/l | 844795779875 ] 7.72]8.00]6.73]6.92]7.34]7.06[ 757 [777]875]6.73]7.67

KiE AKE °C — — — — — — — — — — — —

i °C — — — — — — — — — — — —
0.5m ‘C — — — - - - — - - - - -
1.0m - °C — - — — - - — - — — — -
2.0m C — — — - - — - — - - — —
3,0m C — — — - — — — - — — - —
4.0m °C — — — — — — — — — — — —
5.0m C — - — — - — — - - - - -

6. 0m °C — — — — — — — — — — — —
i °C — — — — — — — — — — — —
#*D0O  AKE | mg/l — — — — — — — — — — — —
Fif g /1 — — — — — — — — — — — —
0.5m mg/l ~ - — - — — - - - — - —
1.0m rrg/l - - - - - _ - - e - - -
2.0m g/ - — - - - — - — — - - -
3.0m n‘g/l - - - - - - - - - _ - -

4. 0m ng/l - - - - - - - - - - - h
*5.0m mg/1 — - — - - - — — — - - -
6. 0m e/l — — — — — — — — — — — —
T v I I I I I I I R I e
AFRE AL | x | — | — | — | — T — [ — 1T T -T—-T1T-T-T+-=
R wx | - | = [ -1 =-=1T-1T=-=T-1T-1T=-T=-1T-1T=
0.5m Lux — — — - - — - — — — - -
1.0m Lux - — — — — — - - - - — -

2, 0m Lux — — — — — — — — — — — —
3.0m Lux — — — — — — — — — — — —
4.0m Lx [ — — — — — — — — — — — —

5. 0m Lux - — — - — — — — - — — —

6. 0m Lux — — — — — — - - - — — -
[ Lux — — — — — — — — — — — —
JER LOR P v — — — — — — — — — — — —

%

* DO D OFHIL 2 RIEHR




KEER —Bl— (1)

Bl JShid] X FHRJY 44 HE RN SRR 184E( 20064E)
" H Wi | 1718 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |BeK{f|H/IME| T3
F £ id i 2 & = & & &= = i =
A W4y [ 11:11]11:56(10:47[ 11:19[ 10:34] 12:01]10:30] 10:44] 10:57 | 11: 00 15: 03| 11; 05
EARIE m |[5.11]5.23]4.89| 4.68|4.35]4.82[4.62] 4.66| 4,52 4.60 | 4.71 [ 4.91
FRAKARE m |0.50]0.50]0.50]0.500.50][ 050050 0.50]050][0.50]0.50] 0.50
A °C 5.3 | 8.7 | 14.4 | 15.1 | 18,1 | 25.0 | 21.8 | 26.2 | 25.9 | 24.6 | 18.0 | 10.4
KR °C 5.0 | 4.7 ] 9.4 | 14.4]16.7]21.5]24.9[ 24,9 [ 24:3]| 21.5]| 17.5]| 10.8] 24.9 | 4.7 | 16.3
S #E B | BN | RIBE | MRS | RS | MEE | RES | eS| eand| glem | Mie® | Xiem
2 (%) kg | g8 meve| M8 (gros 8 | s | ko | b | e [ dER | o
TEAREE on | 22.0]155( 13,5 17.2 18,5 13.8] 19,5 20.2{22.0{18.0} 15,5 18.0
B m |0.68]0.55]053][0.60][084[053]062]0.61]073]0.61][0.66[0.69]0.84]0.53]0.64
K 18 18 18 17 17 19 18 18 18 18 18 18
p H 8.4 84|91 88]s85]|80]78[84]87]79]84]81]091] 17.8]84
Do ng/l [12.97]13.78]14.94(12.60] 9.98 | 7.41 | 6.11 | 8. 44 [ 10.12] 7.58 [ 11.36[11.52]14.94] 6.11 | 10.57
BOD me/l | 2.50 | 3.47 | 4.33 ] 4.80 [ 3.78 ] 3.04] 2.21 [ 3.48 | 2.69 | 2.23 [ 2.42 | 3.02 | 4.80 | 2.21 | 3.16
CODyp m/l | 7.85[6.80]829]9.28]7.42]880]6.63]|6.76[770]7.96]|6.97]|809]9.28]6.63]7.72
D: CODy, g/l — — — — — — — — — — — — — — —
‘P CODy, g/ — — — — — — — — — — — — — — —
_CODg, e/l — — — — — — — — — — - — — — —
D: CODg, ne/l — — — — — — — — — — — — — — —
Ss m/l [ 17.3[20.0] 30.0] 22.3] 12.9] 40.0] 27.9 ] 17.0 [ 12.5| 29.9 | 19.6 | 19.0] 40.0 | 12.5 | 22.4
KABRE vevtoon | 2, 3E+2] 1. 3E+2 | 3. 36+ 1| 1. 3E+2| 4. 9E+2] 4. 6E+1| 7. 9E+1 | 1. 7E+2| 1. 7E+3| 4. 9E+2| 3. 3E+1] 3. 1E+2] 1. 7TE+3| 3. 3B+ 1| 3. 2E+2
WEEATmEREK | #/wo |9, 1B {4, 1E4L[8. 00| <1 <A <1 <L |4.0E0]5, 0Eet]2. 3rrt] 7. 0ms0]5. 26 1] 9 1m0t | <1 (2. 3Ee]
RER(TN m/l [ 1.,03[1.05]1.26]0.90] 1.27]0.83] 0.71]0.71]0.74|0.66 | 0.71]0.73] 1.27 | 0.66 | 0.88
@y (P e/l ] 0.081]0.095]0.111]0.065]0.079]0.125]0.1030.0990.095]0.129]0.088]0.088] 0. 129 0. 065 | 0. 097
T4 Z0) ng/| — Jo0.003] — o.002]0.000]0.002]0.000]0.000]0.000{0.000]0.002]0.000]0.003|0.000 | 0.000
TR R (NN | me/t [ 0.00 | 0.06 | 0.00 | 0.15 ] 0.04 | 0.12] 0.05 [ 0.04 { 0.05 [ 0.04 [ 0.03 | 0.00] 0.15 [ 0.00 | 0.05
mEREEERONG N | e/l [ 0.002[0.002]0.000]0.096]0.008]0.004]0.007|0.001(0.001]0.005|0.000]0.000] 0.096 | 0.000] 0. 011
kg0, | e/t [ 0,07 ] 0.09 | 0.00 | 0.01 | 0.01 | 0.00 [ 0.02] 0.00] 0.00] 0.00[ 0.00 0,00 0.09] 0.00] 0.02
BRI m/l | 0.07]0.15] 0.00] 0.26 [ 0.06] 0.12] 0.08] 0.04 | 0.05. [ 0.05 | 0.03 [ 0.00] 0.26 | 0.00 [ 0.08
HRIEZR( N me/l ] 0.81]0.79] 1.17 [ 0.64 [ 1.15] 0.70] 0.57 | 0.68 | 0.65 | 0.66 [ 0.65 [ 0.68 | 1.17 | 0.57 | 0.76
kTR o] e/l | 0.30 ] 0.32 ] 0.33] 0,281 0.30]0.39] 0,33]0.39]0.38]0.40]0.29] 0.26 ] 0.40 | 0.26 | 0.33
wrtEApssaEcr- oo me/l | 0.51 [ 0.47 ] 0.84]0.36] 0,85 0.31] 0.24 ] 0.29]0.27 [ 0.26 | 0.36 ]| 0.42] 0.85 | 0.24 | 0.43
e ™ | m/l [ 0.37]0.47]0.33 ] 0.54 ] 0.36[0.51[0.41] 0,43 0.43] 0.45]0.32]0.26] 0.54 | 0.26 | 0.41
BEECN ng/l | 0.88]0.94]1.17]0.90] 1.21]0.82]0.65[0.72 [ 0.70 | 0.71 | 0.68 | 0.68 ] 1.21 | 0.65 | 0.84
A (Po-P) | me/t 10.004]0.003]0.003]0.000[6.006]0.019{0.036]0.010]0.020]0.037|0.008]0.000] 0.037]0.000 [ 0.012
ai e po-n | e/l [ 0.000[0.000(0.000]0.000]0.003]0.011[0.025[0.009]0.014]0.019]0,000]0.000]0.025]| 0.000 ]| 0.007
RAEERY V(0 ) | mg/) — — — — — — — — — — — — — — —
sy v O'po) | e/t — — — — — — — — — — — — —
FEERIERR(1 O m/l | 11,7 11,4 13.9] — — — — — — — — — (1390114123
ARHERRE(TOD) e/l | 6.8 57| 7.1 ] 44| 43]40]6.1]56] 42| 55[70]83][]83] 40] 5.8
BrECTO mw/ | 18,5 17.1] 21.0] — — — — — — — — — J21.0]17.1]18.9
AT R O] e/l — — — — — — — — — — — — — — —
LA RIERECP o] e/l — — — — — — — — — — — — — — —
BEARESR(D- Fe) e/l — — — — — — — — — — — — — — —
R D M) | me/l — — — — — — — — — — — — — — —
$K(Fe) g/l — — — — — — — — — — — — — — —
w2 H (M) ng/l — — — — — — — — — — — — — —
B i 120.2]26.9)38.9]19.8]13.7)]35.9]253]20.5]15.7]23.4]24.7]27.5]38.9]13.7] 24.4
HAR(20°C) ns/m | 55,0 [ 44.5 | 40.9 | 42,1 [ 49.1] 42.7 ]| 39.4| 33.4 [ 43.6 [ 33.0[ 29.8 | 35.8| 55.0 [ 29.8 | 40.8
B A(G) g/ — — — — — — — — — — — — — — —
eI /] — — — — — — — — 1 - — — — — — —
pH4.87AnV I | me/l | 66.1 | 64.5| 7.0 93.8(80.3[ 70.8170.8|68.8]71.3]67.8(53.2[61.7]93.8]53.2(704
p HY. 0isLE m/i | 196|295 — | 1.98(5.52[12.00]11.50] 8.03 ] 8.53 |10.50| 5.02 | 8.53 | 12.00] 1.96 | 6.96
p HO.O7 AhY B ng/1 — — 0. 54 — — — — — — — — — 0.54 | 0.54 | 0.54
BB A (50,7 | m/l — — — — — — — — — — — — — — —
i Ar(a”) | ng/l | 98.6 | 75.9 | 64.9 | 79.6 | 76.5 | 72.1 | 66.6 | 46.9 | 63.6 | 49.2 | 37.2 | 53.1 [ 98.6 | 37.2 | 65.4 |
Fh Y v A ng/1 — — — — — — — — — — - | - — - | =]
#Y 05K ng/! — — — — — — — — — — — — — — —
WU (T Sig) g/l — — — — — — — — — — — — — — —
WESY N /1 — — — — — — — — — — — — — — —
pomigh-a (@l-0) | g/t | 541 ] 80.2 1109.1] 63.9 ] 51.3 | 27.4 ] 29.4 |49.4 | 49.3 | 47.1 | 41.7 ] 40.1[109.1] 27.4 | 53.6
yonzgp-b (i-b) | ug/t | 0.0 | 1.5 | 0.1 [ 5.4 [ 6.5 [ 0.0 | 000 ] 0.0 ] 00| 0.0 ] 00 ] 00/ 6.5 ] 0.0 1.1
goazge (=) | pg/t | 6.1 | 9.9 [ 13.6]17.9] 6.5 | 3.0 | 2.3 | 4.7 | 4.4 [ 5.4 [ 2.8 | 5.4 |17.9| 2.3 | 6.8
T AT ¢ F wg/l | 282217222 5.1 [21.6[16.4[10.4] 84 [ 6.7 |11.2| 52| 2.4 [28.2] 2.4 |133
Bt A REEEA | e/l — — — — — — — — — — — — — — —
HE SEIOEE RO EIZL Y Rz, 3.P-ON=(ON)—(D-ON) 8.P-TP =(TP)—(D-TP)
.LP-COD=(COD)—(D-COD)} 4. D-TN=(I N)+{(D-ON) 7.TC=(l C)+(TOC)

2.1 N=(NH4N) +(NO2-N) +(NO3-N)

5. TN=(I N)+(ON)

8.P-0C=(TOC)—(D-0C)




KEER —AR— (2)

BRI B K% FIRJ ‘ [ilES i BRI R 184E( 20064E)

TH B My | 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |Fx K {E|F/ME| FH{E
2 —Ml B ag/l" | 10 29 40 28 48 7 33 1 0 3 2 2 48 0 17
UAAI v ng/1 4 16 22 56 49 0 11 2 2 1 2 0 56 0 14

@it |l | - | — | — | -~ | = | = | - | -1 -1 -1 -=—1-—1-
ot |/t | — | — | = | = | = | = [ = [ = [ = [ =] =-1T=-—1-=1-1+=

sueigonpptepgggl e/l |~ | — | = | = | =} =} = |~ = | == = = =] =
Y 7 oryomps ke e/l — — — - - - — — - — — _ —
7' oA REE | e/l — — — — — — )
REH(N LB mg/l | 1.03] 1.05]1.26] 0,90 1.27[0.83]0.71]0.71[0.74]0.66]0.71|0.73] 1.27 | 0.66 | 0.88

E g/l | 1.13 [ 1,06 1.15] 0.89 | 1.22] 0.86 | 0.66 | 0.74 | 0.89 [ 0.61 [ 0.69 | 0.60 | 1.22 | 0.60 | 0.88
mg/l | 0.93]1.04] 1,14]0.90)1.23]0.96]0.69] 0,71 ] 0.72 ] 0.58 ) 0.74 ] 0.84 ] 1,23 | 0.58 | 0.87
meg/l [0.084]0.095[0.111[0.065]0.079]0.125[0.103]0.0990.095[0.129]0.088| 0.088] 0.129 | 0. 065 | 0. 097
YEREET] mg/l |0.111[0.098]0.105] 0. 106]0.061]0.132]0.092]0.099]0.093[0.1100.088]0.081]0.132[ 0,061 [ 0.098
wY (D) TR mg/l |0.078]0.093]0.103{0.117|0.065]0.090]0.103]0.106]0.093[0.108]0.088[0.084]0.117]0.065 | 0. 094

COD L mg/l | 7.85 | 6.89 (. 8.29[9.28[7.42)|8.80|6.63|6.76| 7.70|7.96]6.97[8.09]9.28]6.63| 7.72
CODF mg/l [8.10] 7.63]8.59[8.75] 7.66 | 8.16 | 6.55 | 6.56 | 7.22 | 7.88 | 6.55 | 7.73 | 8.75 | 6.55 | 7.62
COD T mg/l | 6.96 | 8.15 1 9.09 | 8.83 | 7.58 [ 8.06 ( 6.55 ( 6.30 | 7.18 | 7.62 | 7.07 | 7.69 | 9.09 | 6.30 | 7.59
AR ARk ‘C — — — — — = — — — — — —
FKifi c - — - — — - — — — — — —
0.5m °C — — — — — — — — — — — —
1. 0m ‘C — — — — — — — — — — — —
2.0m C — — — — — — — — — — — —
3.0m C — — — — — — — — - — — —
4.0m cl-1-1-1-1-1-=-1=-1-1=-1=71-1=
~ 5.0m °C — — - — — — — — — — — -
6.0m C — - — — — — — — — — — —
B T | - — - — — — — — - - — —
*DO Kkt | me/l — — — — — — - — — — — —
#ii i I I I A I I I I I R I
0.5m ng/l — — - — — - - — - — — —
1.0m g/l — - — - — — — — — — = —
2.0m g/l — - — — — — - — — — — —
3.0m ng/| - - - — — = — — — - — —
4, 0m g/l — — — — — - — — — — — -
5.0m m/l | — — — - — — — — — — — —
6.0m g/l | — | — — - -1 =1T= -1 -1 - - | -
i /| — | - | - [ - | - [ - [ -1=-1-1T=71T+=
ARpRE Kb Lux - — — — - — — — - - - —
i Lux — — - — — — — — — = — —
0.5m x | — — — — — — — — — — — —
1.0m lux | = | — — — | - - | = — -l -1 -1 =
2.0m Lx | — [ — — - [ - - | = - | -1 =1 -=-1=
3.0m lux | — — — — — — — — — — - —
4.0m Lux = - - — — - - — - - - —
5.0m Lux | — | — — - -1 -1-1T = - =-1-1-
6. 0m wx | — [ — — — - — — — - — — - |
& Lux — — - — — — — — — - — - '

EiR@_EOR P mV — — — — — — — . i — — —

% * DO D O ML 3 JIER S




REFR —dR— (1)

B4 I Kk FIRII [E3 AR TR 184E( 20064F)
H 8] wifiy | 1718 | 2/8 | 3/8 | 4/19.| 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |SeKIE| el B
KR &2 & i &2 Z = i} & & & g g |
el W5y | 12:07[13:10]11:46[12:12[11:27]12:35]| 11:25]10:41 | 11:52[11:47]10:30) 11: 59
AR m 5.52 | 5.22 | 5.23|5.38]4.98 | 4.88 | 4.83 [ 5.11 | 5,24 | 5.10 | 5.00 | 5.22
AR m 0.50 | 0.50 | 0,50 | 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
R T 6.1 | 10.1| 16,1 | 14.8[19.3 ]| 22.4| 21.4 | 26.6 | 26.1 | 24.9 | 20.5 | 11.6
KR °C 5.1 | 52| 9.3 [14.8[17.0021.224.9(252|23.8([21.7|181]|11.0[25.2] 5.1 [ 16.4
4 B wies | aons | wem | nxem|wines| wes | ses | ses | sns | ke | wes | aes
R R(&AR) fre | fes | des | des | feg | el | el | fee | el | el | des | dER
ERE em | 22,0 17.5]11.5]19.0 16,8 | 12.5| 18.5 | 23.0| 22.8 | 17.0 | 13.5| 16.9
B m 0.67]0.62]0.49] 0.67 ] 0.67| 0.43 | 0.58 [ 0.66 | 0,76 | 0.58 | 0.55 | 0.67 | 0.76 | 0.43 [ 0.61
Ko 18 18 17 17 17 19 18 18 18 18 18 18
p H 8.4 1 849189l 78ls1]7818s5]85(80l82]|850]091]78] 84
DO me/t | 13.00]13.70(15.34]13.47| 4.07 | 7.91 | 5.87 | 9.32 | 9.51 | 7.92 [11.02]11.78] 15.34 | 4.07 | 10.24
BOD me/l | 3.25] 2.83]3.90| 4.76 | 5.46 | 3.97 | 2.88 | 4.31 | 2.16 | 2.16 [ 2.02 | 3.15 | 5.46 |. 2.02 | 3.40
CODyi me/t | 7.32]8.19[9.39] 9.208.36] 9.8 |6.33]| 7.20| 6,94] 9.10 | 6.83 | 8.16 | 9.86 | 6.33 | 8.07
D: CODyy w | - [ - | = [ =1 =-1T=-1T-1-1T-1-T-=-1T-1-= - | =
P+ CODyq me/l | — - — — — — — — — — — — — — — ]
CODg, e/t — — — — — — — — — — — — — — —
D+ CODg, g/l — — — — — — — — — — — — — — —
ss me/l | 17.3[20.0] 28.0] 18.4 | 13.8]69.8 [ 17.0] 14.1] 10.6 | 45.2 | 17.6 | 17.9 | 69.8 | 10.6 | 24.1
KIBRRE I wviaon | 4, 9E+2| 3, 3E+2 [ 4. 9E+1| 2, 38E+1(3. 3E+1| 3. 3E+2| 2. 26+3[ 1. 7E+3| 3, 3E+2| 1. 3E+3 2. 8E+3| 1. 3B+4] 1. 3E+4 [ 2. 3E+1 [ 1. 9E+3
wwERRE R | oo |1 66+2] 1, 05+2| 1 4E+L| <1 <1 <1 |1.8E+1|4.8Er1|2 0FE+1|3.3E+2|6, 2E+1|3. 7TE+2[ 3. 7T0+2] <1 |9.4Er1
RER(TN me/l | 0.89 | 1.14 | 1.14 ] 1.97]0.97] 0,98 0.74 | 0.77 | 0.78 | 0.77 ] 0.71 | 0.74 [ 1.97 | 0.71 | 0.97
Y (TP mg/l | 0.092]0.097]0.100]0.090]0.130]0.161]0.091]0.102|0.101]0.144]0.091]0.085]0.161]0.085 | 0.107
HHN Zn) ng/| — — — — ]0.001 — — 10.000] — ]0.000]0.001] — 0.001]0.000] 0. 000
TADMEERN, -N | me/l 0.00 | 0.06 ] 000 0.22]02[0.11]0.07]0.04[0.05]0.00]0.04]0.01]0.25][0.00]0.07
MEMEEIEREH(NG, -N | e/l | 0.001|0.004|0.000(0.102|0.002|0.004|0.006|0.000|0,006(0.001|0.002|0.000]0.102]|0.000|0.011
WEEBEHR(NO-N | mg/l | 0.00] 0.13 [ 0.00 [ 0.00] 0.01 [ 0.00 | 0.02 [ 0.00 | 0.08 | 0.00 | 0.00 | 0.00 ] 0.13 [ 0.00 | 0.02
SEMEERCTN e/l 0.00| 0.19] 0.00| 0.32]0.26| 0.11| 0.10 ] 0.04 | 0.14 | 0.00 | 0,04 | 0.01 | 0.32 | 0.00 | 0..10
HREEH( QY m/l | 0.77]0.8 | 1.01 ] 1.65(0.69| 0.83] 0.53 ]| 0.56| 0.62 | 0.80 | 0.70 ] 0.63 | 1.65 | 0.53 | 0.80
sprtrriEERD> o m/ | 0.44 ] 0.480.45] 0.21[0.53[0.60] 0.35] 0.40]0.43] 0.35] 0.34]0.26 ] 0.60 | 0.21 | 0.40
wrrfriEssce o) ne/l [ 0.33 ] 0.37 1 0.56 ] 1,44 [ 0.16 ] 0.23 | 0.18] 0.16 | 0.19 [ 0.45 ] 0.36 [ 0.37 | 1.44 | 0.16 | 0.40
iapptzERCD ™ | me/l | 0,44 0,67 | 0.45( 0.53 ] 0.79] 0.71 | 0.45 ]| 0.44] 0.57 | 0.35 [ 0.38 | 0.27 ] 0.79 | 0.27 | 0.50
RER('™N me/l | 0.77 | 1,04 | 1.01] 1.97]0.95] 0.94] 0.63 | 0.60 | 0,76 | 0.80 | 0.74 | 0.64 | 1.97 [ 0.60 | 0.90
YL BEREY (PO, -P) mg/l | 0.003]0,004|0.003|0.006|0.005|0.026|0.026[0.010|0,036|0.055|0.011|0.006]0.055]0.003 0,016
i me/! | 0.000].0.000[0.000]|0.004|0.004]0.011]0.020[0.008]0.0340.017[0.004]0.000] 0.034 | 0.000 | 0. 009
w0 ['w!l | - | - [ - [ =] -1 -1 -"1T-"T-=-1-1-=-1~-= — - | =
gy L e ) | met - — — — — — — — — — — — — — —
EBIERROO m/l | 12.0| 11.8 [ 13.6 | — — — — — — — — — | 13.6 | 11.8 ] 12.5
ng/l 6.4 6.2 | 7.3 | 4.1 | 4.2 | 4.2 | 5.6 | 5.5 | 3.9 56 | 6.3 7.8 ] 7.8 | 3.9 | 5.6 |
[EIEA ! w/l 18,41 18,0120.9| — — — — — — - - — | 20.9]180/(19.1
EARETREREO | e/l — — — — — — — — — - — — — — —
WA RIERRCP 00| e/l — - — — — — — — — — ~ — — = —
FEFHESR(D: Fo) me/! — — — — — — — — — — — — — — —
ke (D M) [ m — — — — — — — — — — — — — — —
$&(Fe)- ng/! — — — — — — — — — — — — — — —
2V Y (M) g/t — — — — — — — — — — — — —
EIES i3 19.6 | 28.8 | 37.1| 16.7 | 16.9| 51.3 | 20.4 | 17.7 | 14,2 | 31.2 | 22,8 | 27.7] 51.3 | 14.2 | 25.4
WRER(20°C) n/m | 61,7 | 45.0 | 40.1 | 44.8 [ 105.5] 42.7 | 40.5 | 33.5 | 44.3 | 32.3 | 30.1 | 34.9 ] 105.5] 30.1 | 46.3
B ALY B () e/l — — — — — — — — — — — — — — —
=/ FYY h(M) ms/| — — — — — — — — — — — — — — —
pHa.87AHYE | mn [ 66.8]68.5] 69,1 ] 88.8] 79.8]70.8[ 70.3|63.2[80.8] 66.3|56.2| 66.3| 88.8| 56.2 70.6
p HY. 0BSHE m/) | 1.96] 2.46 | .— | 4.97 |10.50]10.50{13.00| 6.02 | 9.03 | 8.53 | 6.52 | 6.02 | 13.00) 1.96 | 7.23
p HO.07 VY B ng/| — — 1.09 — — — — — — — — — 1.09 | 1,09 | 1.09
BB AV (502 7) | me/l — — — — — — — — — — — — — — —
siemsavas) | m/l | 117.2] 78.1 | 64,7 | 94.5 [229.7] 77.1 | 61.1 | 47.3 | 66,5 | 52.9 | 45.1 [ 50.0 | 229.7| 45.1 | 82.0
FhY 7 A (N) e/l — — — — — — — — — — — — — — —
#Y T A0 /1 — — — — — — — — — — — — — — —
B AT $IQ) | me/l — — — — — — — — — — — — — — —
Hetasy 7 /] — — — — — — — — — — — — — — —
punz¢—a (hl-a) | wg/l | 54.6 | 88.2 | 108.6| 56.9 | 51.2 | 31:3 | 31.4 | 42,3 | 42.0| 52.5 | 29.7 | 19.3 ] 108.6] 19.3 | 50.7
poozib (Qil-b) | pg/l 0.1 ] 1.3 o8] 52|76 00]0o] o000 o00f[o0o0]|o00] 76]00]13
ponzgpme (Gl=c) | pe/l 6.2 1107 12.7]15.1[158] 3.3 | 2.4 | 3.4 | 3.4 | 50| 2.6 | 28 ] 158 2.4 | 7.0
TxAT 4 FY wg/l | 29.2 1217 22.8] 5.3 ]21.1]15.2| 7.6 | 6.6 | 57 |19.1| 6.1 ] 29 ]29.2] 2.9 |13.6
[t Ay BEEER | me/) — — — — — — — — — — — — —
i HEIOTHH TR O HFITL Y kb, 3.P-ON={ON)}—(D-ON) 6.P-TP=(TP)—(D-TP)

1.LP-COD=(COD)—(D-COD)
2.1 N=(NH4-N) +(NO2-N)+{NO3I-N)

.4.D-TN=(I N)+(D-ON)
5. TN=(1 N})+(ON)

7.TC=(I C)+(TOC)
8.P-0OC=(TOC)—(D-0C)




N KEER —HR— (2)

BT 4 e AKHA FilAR) [OIES H R SERRLB4E( 20064F)
H 5} War | 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |BK{f|F/ME
2 —MI B ng/l — - — — — — — — — — — — - -
PFAI ng/l — — — - | - — — — — — — — — —
weryrasErgis | me/l — — — — — — — — — — — — — —
ynmpwERRE | me/t | — — — - - — — - — — — — — —
7 ot/ pamegigs| m/l | — — — — — - — — — - - - — —
Y 7 ey e me/l | — — - - - — — - — — - — — -
ToeRsEREE | mel | — | — | - | = | = || = | — | - | =T =T —-—T-1-—"7T+
me/l | 0.89 | 1.14 | 1.14[1.97 0,97 [ 0.98[0.74 [0 77078 077071074 1.97 ] 0.71
A | = | = [ - [~ [ == -1 -T-T-1T-T-1T-=-7T+=
m/l |08 1.3 1.14] 1.87 087 1.10]0.75 [ 0.73]0.82]0.7t[0.76 [ 0.58] 1.87 [ 0.58
mg/1 |0.092]0.097]0.100{0.090]0.130]0.161]0.091[0.102]0.101]0.144]0.091]0.085]0.161 | 0.085
Y (TP e/ — — — — — — — — — — — — — —
Y o (TP) TR mg/l [0.074]0.098]0.098]0.097]0.087]0.160[0.091]0.104]0.108]0.139]0.095]0.090] 0.160 [ 0.074
COD LM me/l | 7.32]8.19]9.39(9.20[836[9.86|633]7.20]694]910]68]8.16]9.8 | 6.33
CODFE g/ — — — — — — — — - — — — — —
CODTH g/l | — - — — — - — — — — — — — —
AB__AE | C | - | - — | -~ - - -—[-T=-T-=-T-T1T+-=
FiE i® — — — — — — — — — — — —
0.5m C — — — — - - — — - — — -
1.0m °C — — - — — — — — — - — —
2.0m °C — — — — - — — — - — — -
3.0m C — - — — — — - - - - — —
4.0m °c - = — - - - — - - - — -
5.0m C — - — — - | = — — — — — —
6.0m C — - — — - — — - - — — —
#*DO kb | m/ | — — — — - — - - — — — —
R wt | — [ - 1T =—TT-—1T-1T-1T=T=T-1-1T=
0.5m me/l | — — — — - — — — — — — -
1.0m e/l — — — — — — — — — — — —
2.0m g/ — — - - — — — — — - — -
3.0m ng/1 — — — — — — — — — — — —
4.0m g/l — - = i — - — — — — —
5.0m m/l | — - — - — - - — | - ~ — —
6.0m g/l | — - — — — - — — - - — —
VT el | - | - - -1 -1 -—1T-T=-"T=-=T-T-T1T+=
APEE AE | Lix | — | = | - | = [ = | = [ — [ =] =T —=1T—=71+=
ﬁfﬁ LUX - _ - - - - - - - - - -
0.5m Lux | — — — - — — - — — — — —
" 1.0m Lux — - — - — - — - — - — -
2.0m LUX - - - - - - - - - - . -
3.0m Lux — - - - - — - — - — — —
4.0m Lux — [ = — — — — — — — — — —
5.0m LUX - - - - - - - - - - - -
6, 0m Lux | — — — — — - — - = - — —
) Lux — — — — — — — — — — — —
KiiEiE FOR P v — — — — — — — — — — — —
‘ N
% * DOIDOFHIL 5 MERHE




o KEFEE —NHI—- (1)
BRlPA JASEIN K% FAR [EHIE RERR SERE184E( 20064F)
H B WaY | 1718 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |FKIE| B/ ME| &
X _I® E [ |k | & || & | W | & | & | & | K| &
BRI REoy | 13:27(14:50] 12:53|13:19]12;30| 11:38[12:39(12:54 [ 12:54(12:47( 8:18 [ 13:00
2K m 2.63[2.83]3.15(3.13[3.03]3.19|3.63]|2.98(3.313.23] 2.55] 3.53
BRI m 0.50 [ 0.50 | 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
Rt C 8.9 | 10.6 | 17.9] 14.9| 18.1 | 24.8 ] 22.2 | 28.1 | 27.5 | 25.8 [ 16.7 | 12.6
KR C 6.9 | 5.8 | 11.2|14.0]17.1[21.8]25.2| 25,6 25.2|22.8| 17.8]10.7] 25.6 | 5.8 | 17.0
54 @l e | wiem | snm | mem | woves| xem | oee | ez |Rees| meE | Rees| aes
£ S5(HR FroR] FE (TeuR| SR | BER | KR | ES | KR BruR R ) KR | M5
EHEE em | 16.5] 12.0f10.2] 9.5 | 17.2[17.4 | 14.7 [ 22.6 | 15.8 | 20.5 | 12.0 | 16.5
BHE m 0.43 ] 0.46 | 0.42 | 0.30] 0.75] 0.55 | 0.49 | 0.66 | 0.53 | 0.65 | 0.38 [ 0.66 | 0.75 | 0.30 | 0.52
K & 18 17 18 17 17 18 18 18 18 17 18 18
p H 8.4 8.2 9.0 8.5 8.0-| 8.0 7.8, | 8.6 8.5 8.1 7.6 8.5 9.0 7.6 m
DO ng/l [13.23|14.06|15.45|11.36]11.49( 8.80 | 6.97 | 8.68 | 9.56 | 8.80 | 7.71 | 12.56] 15.45| 6.97 [ 10.72
BOD m/l | 3.87 [ 2.93 | 5.55 | 4.63 | 4.01 | 4.38]| 2.62 | 4.51 [ 2,28 | 2.28 | 2.10 | 3.29 | 5.55 | 2.10 | 3.54
CODy, g/ 8.20 | 8.39 [10.18] 8.80 | 7.70 | 8.62 | 6.87 | 7,46 | 8.43 [ 8.66 | 6.47 | 7.90 | 10.18] 6.47 | 8. 14
D CODy, e/l — — — — — — — — — — — — — — —
‘P CODy, g/l — — — — — — — — — — — — — — —
COD, e/l — — — — — — — — — — — — — — —
D:- COD, me/1 — . — — — — — = — — — — — — — —
Ss g/ 40.0 | 22.0 | 36.0 | 56.1 | 18.4 [ 21,9 | 31.6 | 14.2 | 24,9 ]| 23.7 | 42.3 [ 19.0 | 56.1 | 14.2 | 29.2
KEBPERE R amvioonl | 1, 76+2| 3, 3G+1 | 4. 9B+1|4. 9E+1| 2. 2E+2| 4. 9F+2 (3. 3E+2[ 2. 26+3| 1, 1E+3| 7. 9R+2( 4. 9E+2| 3. 3E+2] 2. 2E+3 | 3. 3B+1 | 5. 2B+2
g kmseegc | /oo [4.9E+1(8. 0B+0[ 1. 0B+ <1 <1 |1.0E+0|6.0[+0|3. 0E+0|9. 0E+0| 1. 9E+1[3. 3B+1 4. 5E+1[4. 9E+1| <1 [1.5B#1
BER(IN /1 1,16 | 1,16 | 1.32 ] 1,31 [ 0.86 | 0.74 | 0.71 | 0.70 [ 0.75 ] 0.65 | 0.94 | 0.69] 1.32 | 0.65 | 0.92
8y (P wg/l 10,117(0.096|0.111(0.153]{0.096(0,087{0.101|0.088(0.105{0.092(0.133]0.083]0.153(0.083(0.105
TE4( 2n) e/ — — — — ]0.001 — — |0.000] — ]0.000(0.000| — 0. 001 [ 0. 000 0.000
TAGNEERNL-N [ m/ 0.01 | 0.06| 0.00 | 0,04|0.12|0,06]0,08]0.02[0.01]0.,06|0.16| 0.00] 0.16 | 0.00 [ 0.05
EREEEER(NG-N | m/t |0.005(0.003[0,000(0.066]0.002]0.002]0.003]|0.000]0.000]0.002|0.011/0.002] 0.066]| 0.000] 0.008
HREEEH(N, -N g/l 0.10] 0.18 | 0.00] 0.01 [ 0.00 | 0,00 | 0.02 | 0.00 | 0.00 | 0.00 ] 0.21 [ 0,00 ] 0.21 | 0.00 | 0.04
EREEHR(CIN g/l 0.12 | 0.24 | 0.00 | 0.12] 0.12 | 0.06 | 0.10] 0.02 | 0.01 | 0.06 | 0.38 | 0.00 | 0.38 | 0.00 [ 0.10
HRESEE(Q) /| 0.90 | 0.78 | 1.17 | 1.19] 0.66 | 0.64 | 0.53 | 0.55 | 0.74 | 0.58 | 0.54 | 0.63 | 1.19 | 0.53 0.74 |
A REERD o e/l 0.36 | 0.36 | 0.33 [ 0.10 | 0.32 ] 0.34 ]| 0.28|0.36|0.35|0.32|0.33[0.32]0.36| 0.10 | 0.31
BT IERHECr o m/l 0.540.42| 0.8 | 1.09]0.34[0.30]0.25]0.19|0.39]0.26 | 0.21]0.31 ] 1.09] 0,19 [ 0.43
RpRERERCD ™ | e/l 0.4810.60| 0.33|0.22]0.44 | 0.40] 0.38]0.38[0.36]|0.38| 0.71(0.32]0.71 ] 0.22 | 0.42
REHCIN me/1 1.02]1.02]1.17]1.31 | 0.78| 0.70 | 0.63 | 0.57 | 0.75 | 0.64 | 0.92 | 0.63 ] 1.31 | 0.57 | 0.85
ALY BERRY A PO, ~P) me/l 10.009]10,001(0.00310.027{0.006(0.014(0.023]0,.008{0.01010.015{0.05410.004]0.054{0.003}]0.015
it v | ome/l | 0.000]0,000(0.000(0.004]0.004(0.004{0.012]0,004]0.005]|0.005]0.013|0.000]0.013 0.000]| 0. 004
TR (D 1P) | ne/l — — — — — — - = — - — — — — —
Bty » P | my/l — — — — — — — — — — — — — — —
EERRRHUO ng/! 12,2 | 12.5 | 13.1 — — — — — — — — — 13.1 | 12.2 | 12.6
A HIER (T e/l 6.8 | 6.6 | 8.4 | 3.8 | 4.0 43| 6.5 | 5.7 | 4.3 | 5.6 | 4.2 | 7.8 | 84 [ 3.8 | 5.7
FEFRCTO me/] 19.0 ] 19.1] 21.5 — — — — — — — — — 21.5 ] 19.0 IM
EARERTRIERE(D> 00| ng/) — — — — — — - — — — — — — —
B A BIERECP o] m/l — - — — — — — — — — — - — — —
FRRTHESR(D: Fe) e/ — — — — — — — — — — — — — — —
Ry (D M) | me/ — — — — — — — — — — — — — — —
$( Fe) we/l: — — — — — — — — — — — — — — —
< H > (M) e/l — — — — — — — — — — — — —
w % [39.2]26.8(46.0]40.2[20.8[26.3]29.4][21.4]|25.5]21.8[34.3]27.5]46.0]20.8] 29.9
HAR(207C) mf/m { 33.0 | 36.1 | 40.5 | 34.8 | 42.7 | 36.2 | 33.7 | 32.3[34.5|32.2| 18.2 | 30.5] 42.7 [ 18.2 | 33.7
B Y b(C) mg/| — — — — — — — — — — — — — —
< AT A\ g/ — — —, — — | - — — — — — — — — —
pH487AHY & | me/t | 56.1] 57.2 | 78.4 | 75.0 | 61.2 | 65.2 | 63.2 | 63.2 | 57.7 | 66.8 | 53.7 | 56.7 | 78.4 | 53.7 | 62.9
p HO. 0R%E e/ 2.16 | 3,44 — 6.46 | 6.02 | 9.54 |13.00|.5.02 [ 6.52 | 6.02 | 5.52 | 5.02 | 13.00] 2.46 | 6.27
p HO. 07 A Y & g/l — — 0.54 — — — — — — — — — 0.54 | 0.54 | 0.54
B A (30,27 | e/l — — — — — — — — — — — — — — —
B A (A7) e/l 45.6 | 53,3 | 63.4 | 71.0| 66.7 | 53.9 | 47.2 | 44.0 | 42.0 | 61.5 | 22.3 | 39.5 | 71.0 | 22.3 | 50.0
FhY T AN ng/l — — — — — — — — — — — — — — —
HY 7 AR we/] — — — — — — — — — — — — — — —
Wy AT SiG) | g/l — — — — — — — — — — — — — — —
S e/l — — — — — — — — — — — —
yoo740-a (il —a) ug/l 76.7 | 67.8 | 121.6] 52.6 | 51.7 | 36,0 |.33.2 | 45.0 | 48.0 | 40.1 | 17.6 | 33.0 | 121.6]'17.6 | 51.9
Jon74-b (Gl -b) p g/l 0.0 2.2 1.4 7.6 7.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 7.6 0.0 1.6
yanzii-e (Chl -c) je g/l 8.9 8.7 | 14.1]15.0| 6.6 5.1 3.0 3.6 1.4 3.3 1.2 1.9 | 15.0 1.2 6.6
T=AT 4 FY we/t | 36.4]21.0]26.2] 9.1 |36.0]12.2[103] 52 ] 51 |24.7]109] 3.7 [36.4] 3.7 ]16.7
v | wh | — [ — | — | — | — | — [ -] —=—1~-1 - e = — —
ES IO TR OFHEIZL Y kv, 3. P-ON=(ON)—(D~-ON) 6.P-TP=(TP)—(D-TP)’
I.LP-COD=(COD)—(D-COD) £.D-TN=(I N)+(D-ON) 7.TC=(1 C)+(TOC)
2.1 N=(NH4-N) +(NO2-N) +(NO3-N) 5. TN=(1 N)+(ON) 8.P-OC =(TOC)—(D-0C)
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yotiEEAE - | me/l - — - — — - - - - - - = - —

7 0%/ panpd gl me/l | — - - - = - - — - - - - - -

¥ 7 neyonAy ERkEE| me/l - - - - — - — — — — — - - —
7 nERWERRE | g/l — — — — — — — — — — — — — —
HER(N LB g/l 1,16 | 1.16 | 1,32 ] 1.31 [ 0.86 ) 0.74 | 0.71 [ 0.70 | 0.75] 0.65 ] 0.94 | 0.69 | 1.32 [ 0.65
AR TH e/l | — — — — — — — — — — — — — —
HER(N TR mg/| 1.18 | 1.26 | 1.27 ] 1.20 | 0,99 0.73 | 0.73 | 0.73 | 0.74 | 0.61 [ 1,00 | 0.68 | 1.27 | 0,61
Y (P .EE meg/1 |0.117[0.096|0,111|0,153]0.096]0.087|0.101{0.088]0.105|0.092]0,133{0.083]0.153]0.083
HY V(P g g/ — — — — — — — = — — — — | = —
Y (M TE | mg/l |0.128]0.104]0.111]0.207]0.069(0.098]0.106]0.103]0.116]0.090]0.1460.103] 0. 207 | 0. 069

COD ki ng/1 8.20 | 8.39(10.18)| 8.80 | 7.70 | 8.62 | 6.87 | 7.46 | 8,43 | 8.66 | 6.47 | 7.90 | 10.18 | 6.47
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COD T/ ng/1 — — — — — — — — — — — — — —
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2. 0m ‘c — — — — — — — — — — — —
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4. 0m c |l -1 -1-1T-1T-1T=-1T-1T-1T-T-=-1T-=-1+-=

5. 0m °C — — — — — — — — — — — —

6. Om C — — — — —. — — - | = — — —

] c | -1 -1T-1T-T=-1T=-1T-=-T=-T=-1T=1T-T=

*DO ARE | me/t — — — — — — — — — — — —

it g/l — — — — — — — — — — — —
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1.0m e/l — — — — — — — — — - — —

2.0m ng/l _ - - - - _ b - - — - -

3, 0m e/l — — — — — — — — — — — —

~ 5.0m mg/1 — — — — — — — — — — — —

6.0m e/l | — — — — — — — - — — - —

AT wht | — [ - - T -1T-T=-1T=-1T-T"=—1T=-1T=71T=

A AKE [ Lux — — — — — — — — - | = — —

Kilg . Lux — — - — — - .| = = — — — —

0.5m Lux — — — — — — - | = — — — —

1. 0m Lux —_ — - _ - _ - — - - — -

2.0m Lux _ — - _ — — _ - — — _ -

3, 0m Lux — — - — — — — - — — — —

4. 0m - lax i = — — — — — — — — —

5.0m Lux — — — — — — — — — — — —

6. 0m | Lux — - - — — — — — — = — -

[ i Lux — — — — - — — — — — — —

EREHLEORP | w | — | — | — [ = — T -1 =T -T-—T"—T-T-
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KEFER —HF— (1)
BRIP4 T KBS FHRJI 4 FED i) %1 84E( 20065F)
£l 8] B ) 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 | 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |BXfl|Fe/ Ml EHE
X [ [ I E] i = 521 E] £ £ I Z
HKINER W4y | 11:49(11:34] 9:53 | 8:43 [10:16] 9:00 | 9:23 | 10:48] 9:35 | 9:14 | 10:22|10: 03
RIKIR m [3.20]3.25]325]1.80[3.09] 298] 3.29]290]3.12[289([5.20]2098
FRAKBGE m | 0.50]0.50]050]0.50](050]050]050(050]0.50]0.50]0.50]0.50
ElE °C 7.7 | 8.9 | 16,2 12.3]18.5] 25,0 | 22.9]25.4]| 25,9 | 24.8] 23.0] 13.1
! °C 5.1 [ 3.8 ] 9.1 [14.1]17.8]21.56[26.0]252]23.9]21.5]18.9(11.0]26.0] 3.8 [16.5
4 #l wiem |sonem|wwnn| eem | wee | xes | ses | ses | sew | s | ke |eeen
2 (AR R | e | p | R | s | s | SR | S | eS| R ) MR | RS
BIRE em | 17.2 (1.1 ] 11.56]10.4]13.5] 12,0f[ 11.5]18.5] 13.5| 16.5 | 17.5| 16.3
B m [0.48]0.42[0.52]0.27[0.43]0.39]0.55[0.70] 0.43] 0.49 | 0.67 | 0.42] 0.70 | 0.27 | 0.48
) 17 18 17 18 18 18 18 18 18 18 18 | -18
pH 7.6 | 73| 77|82 81|80 | 75| 77]|82]|76]|81]|79]82]73]T78
Do mg/l | 13.47]12.51[12.64]10.54]|10.88| 9.65 | 5.78 | 8.42 [ 8.68 [ 7.78 [11.15[11.45]13.47| 5.78 | 10.25
BOD mg/l [ 3.63] 2.17|3.32]5.17] 3,46 3.98]3.30|3.16 | 2.44 [ 2.40 | 3.72 | 3.68 ] 5.17 | 2.17 | 38.37
CODy, me/l | 7.13]8.34 [ 8.21 [10.40] 8.56 [ 7.86 [ 6.18 | 6.89 | 6.75 ]| 6.85 | 5.85 | 6.75 | 10.40[ 5.85 | 7.48
D- CODyy, me/l | 4.48 | 5.07 [ 4.93]4.97|5.23[5.23| 4.91 4,59 4.01|4.87[3.12[3.71]5.23[3.12] 4.59
‘P COD,, mg/l | 2.65] 3.27[3.28]5.43]3.33|2.63] 1.27 2,30 2.74[1.98]2.73[3.04]5.43 | 1.27 | 2.89
CODc, e/l — — — — — — — — — — — — — — —
D(CODCr me/| — —_— — —_ —_ —_ — — — — — — — — —
B me/l | 18.0 [ 32.5 [ 32.0] 52.5 | 29.0 35.5 | 31.0 ] 13.5| 20.0| 29.0 | 15.0] 22.6 | 52.5 [ 13.5 | 27.6
KIBHBELK wyioom | — [T — — — — — — — — — — — — — —
HIEERBMRES | /1000 | — — - — — - — — — — — — — - —
RER(N m/l | 1,43 1.74 [ 1.88 ] 1.06 | 1.19 [ 1.04 | 1.35 [ 1.83 [ 1.05 | 1.30 [ 2.21 | 1.81 ]| 2.21 [ 1.04 | 1.49
@Y v (TP) me/l [0.086]0.115]0.127]0.159]0.130[0.135[0.137]90.166[0.146]0.112]0.093[0.099] 0. 166 | 0. 086 [ 0. 125
8 Zn) /) — — — — — — — — — — — — — — —
TANEEFO,-N | me/l | 0,03 ] 0.05] 0.04 | 0,02 [0.04] 0,04 [0.21]0.04]005]0.04]002]0.02]0.21]0.02]/.0.05
EREEEEFRNG-N | e/l [0.009]0.012[0.021[0.003]0.015[0.011]0.036]0.049[0.027]0.017]0.017]0.023]0.049 | 0.003 [ 0.020
wneBEROo,-N [ ma | 0.74]0.89 [ 1.00] 0.01 [0.29] 0.15] 0.52 ] 1.10] 0.42 [ 0.52{ 1.63 | 1.35] 1.63 [ 0.01 | 0.72
EHRIEERCIN me/t | 0.78]0.95] 1.06]0.03|0.35[0.20[0.77]1.19]0.50] 0.58 [ 1.67]1.39] 1.67 | 0.03 | 0.79
BB ( QY me/l [ 0.65]0.79]0.82]1.01]0.8 [08]056]0.64[053]0.71]0.53]0.47]1.01]0.47 | 0.70
pterrairsso- o we/t [ 0.33[0.28 ] 0.38 [ 0.45 | 0.55 | 0.37 [ 0.40 | 0.54 | 0.37 | 0.51 | 0.18 | 0.26 ] 0.55 | 0.18 | 0.39
srrpkrrmagce o) m/) 1 0.32 ] 0.51 ] 0.44 [ 0,56 [ 0.31 [ 0.46 [ 0.16 | 0.10 [ 0.16 | 0.20 | 0.35 [ 0.21 | 0.56 | 0.10 [ 0.32
mpaEHC> ™ | men [ 1011 ] 1.23 ] 1,44 [ 0.48 [ 0.90] 0.57 | 1.17 [ 1.73 | 0.87 [ 1.09 [ 1.85]| 1.65] 1.85 | 0.48 | 1.17
BEECM me/l [ 1.43]1.74 ] 1.88 [ 1.04 ] 1.21 | 1.03 | 1.33 ]| 1.83 [ 1.03] 1.29 | 2.20 | 1.86 | 2.20 | 1.03 | 1.49
AYsfE) AP -P) | me/t | 0.051]0.079]0.082{0.079]0.061(0.065[0.1140.041]0.0470.0660.037]0.0070.114]0.007] 0. 061
st w0 [ me/1 ] 0,006(0.006]0.011]0.005]0.0030.005]0.037]0.008|0.006|0.015|0.006]|0.006| 0.037 | 0. 003 | 0.010
wapeRy (0 | mg/l [0.020(0.019]0.030[0.016]0.018]0.021]0.049]0.030|0.031{0.045]|0.019[0.020]0.049| 0.016 | 0.027
HrFpERY ~(Cp P | m/l | 0,066 0.096]0,097]0.143]0.112] 0,114 0.088[0.136[0.115]0.067[0.074{0.079] 0. 143 | 0. 066 | 0. 099
IEIERTE(I O m/l | 13.3]13.6]14.1] — — — — — — — .| = — | 14.1[13.3]13.7
47 BB BR(TCD w/t | 5.7 | 47| 6.4 68| 56| 66| 4.5 | 40| 4.7 | 5.4 | 4.0) 4.1 | 6.8 | 4.0 | 5.2
HEHECTO m/l | 19.0] 18.3] 20.5| — — — — — — — — — | 20.5]183]19.3
mapprrgsao ©| mw/ | 5.0 | 4.4 | 4.6 | 4.8 .6 9| 4.4 [ 353741 [32(25]50]25]|41
wrtemmmnep o mt | 007 03] 1.8 20 10| 1.7 0105 Lo] 1.3]08] 16 20]01][11
HREEESR(D- Fe) g/l — — — — — — — — — — — — —
AR (D M) | me/l — — — — — — — — — — — — — — —
% Fe) ug/] — — — — — — — — — — — — — — —
w v H (M) me/i — — — — — — — — — — — — — - —
w e | 18.8]27.9(30.8[37.8[25.8]30.7[24.5]13.2[19.4]17.3|13.8[16.9]37.8] 13.2]23.1
EAH(20°C) ws/m | 27.5 | 29.0 | 27.7 | 27.8 | 29.6 | 28.0 | 25.9 | 24.0 ] 29.4 | 24.1 ]| 23.0 | 24.1 | 29.6 | 23.0 | 26.7
H A B(G) ™ — — — — — — — — — — — — — — —
v AL L) g/l — — — — — — — — — — — — — — —
pHAST ANV E | m/l — — — — — — — — — — — — — — —
p HY. 0BYIE /1 — — — — — — — — — — — — — — —
p H9.07 v ) B2 ng/! — — — — — — — — — — — — — — —
FiiA A (50,7 | me/l — — - - — — — — — — - — — — —
(s Aa™) | me/) | 39.6 | 35.4 [ 29.6 | 36.8 [ 36.4 | 371 [ 26.9]23.8]30.3]24.1]17.8[251]39.6(17.8]30.2
TR AN e/l — — — — — — — — — — - — - — —
#Y AR /) — — — — — — — — — — — — — — —
Y BT Si0) ng/l — — — — — — — — — — — — — — —
ti) /1 — — — — — — — — — — — — — — —
pozqpa (Gl-) | we/t | 39.6 ] 63.0 ] 80.5 | 91.4]90.5[87.5[35.3]58.7[57.6|54.5]|68.7|75.4]91.4]35.3]66.9
porqnb (al-b) | wg/l | 1.5 | 3.4 | 0.8 [ 12.4]10.7| 7.7 [ 8.3 |10.0[10.0] 7.6 |10.8] 1.2 | 12.4] 0.8 | 7.0
panzpc (Ql-0) | we/l | 3.0 | 2.1 | 1.6 [ 25.5]27.6 ] 16.6 | 23.9] 13.0(19.0] 15.5 | 17.9]10.2| 27.6 | 1.6 | 14.7
TEATA T pwe/t | 28] 1.8 [27.4[19.8]22.4[46.3]16.7] 1.9 [13.6]| 11.6]| 5.5 | 16.3|46.3 | 1.8 [ 15.5
B A REEER [ e/l - | = — — — — — — — — — — — — —
i . |FEIOE B TR R RICE D KRz, 3.P-ON=(ON)—(D-ON) 8.P-T'P=(TP)—(D-TP)
1.LP-COD=(COD)—(D-COD) 4.D-TN=(I N)+(D-ON) 7.TC=(I CY+(TocC)
2.1 N=(NH4-N)+(NO2-N) +(NO3-N) 5. TN=( N)+(ON) 8.P-OC =(TOC)—(D-0C)
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Bl 4 M P2 FRJI )4 B i PR 184E(20064F)

H H HAL | 1/18 | 2/8 | 3/8 | 4/19 | 5/10 | 6/14 | 7/5 |- 8/2 | 9/21 | 10/4 | 11/1 | 12/6 |Be R |fe/ M| i
2 —MI B ng/l — — — — — — — — — — — — — — —
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e I 7i i I I = I R I A I I I O D I

7w poninipkie| me/l | — - - — - - - - — - - - — - -
¥ 7 otymiy depbig) we/l | — - - - - — - - - - - — - - -

JoEE | | - | — | - | - | —- | - - -] - =1 -1 -1 -"1-=-71+-=

HERWN LE mg/l | 1.43 | 1.74 [ 1.88 [ 1.06 [ 1.19 | 1.04 | 1,35 | 1.83 | 1.05 [ 1.30 [ 2.21 [ 1.81 | 2.21 | 1,04 | 1.49

BER(IN 1B e/l — — — — — - — — — — — — — — =

HAE(IN TR me/! — — — — — — — — — — — — — — —
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g B | ¥fr | 1/18| 2/8 | 3/8 | 4/26 | 5/24 | 6/21 | 7/26 | 8/16 | 9/15 | 10/18 | 11/15| 12/20 |5 RAE| Fe/ M| 1518
E L w ] w B M B M| B W] & |
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K B °’C 5.4 | 4.0 | 8.6 [ 155 [20.9]23.8[25.9[27.6[23.3]19.5]151] 84 |27.6] 4.0 | 16.5
4 Bl B0E | RENE | AR | SIEE | BIBB | X% | N3 | 2Ee | ABEB | BER | ANE | kB

2 RHBR feg | R | s | mER | MR | hel | MR | R | MR | BE | MR ) e
HEWE em [ 17.4 ] 13.6] 9.0 [10,5] 12.3] 22.5] 20.5] 15,56 | 16.0] 19.0 | 12.9 | 15.0
BRI m 0.48 | 0.39 | 0.37 | 0.56 | 0.72 [ 0.78 | 0.49 | 0.55 [ 0.75 | 0.68 | 0.48 | 0.57 | 0.78 | 0.37 | 0.57
R 17 17 | 16 17 | 17 18 18 18 17 18 18 | 18 |

p H 81| 75 79818684 (84791838689 o1]l9orl7s]s3

DO ng/l — [13.59]13.16] — [9.38] — — e8] — — J12.80] — J13.59( 6.82 [11.15
BOD g/l — — — — — — — — — — — — — — —
CODyy | g/l — l9.2]9s571| — [717] — — [70] — — [7.81] = Jo9.57]700]8.15
D+ CODy, me/1 — — — — — — — — — — — — — — —

P CODy, e/ — — - — — — — — — — — — — — —

CODg, g/l — — — — — — — — — — — — — — —
D: CODg, mg/1 — — — — — — — — — — — — — — —
Ss | e/t [22.5]37.0 43 0[31.0]25.0] 205 14.56[19.5]13.0]22.0[26.5]18.5] 43.0 13.0 | 24.4

KIS MN0W | — — — — — — — — — — — — — — —
wimeapween | moom [ <1 [1oomra| <0 [e.oBr0] <1 [5.0Er0]7. 05+0]1. 0Er1[5. 0E+0] 2. 0r0] 2. 0Er0[ 3. 0Er0[ 1. 0B+2| <1 |1.2En
wEFN g/l — (40132 — |os] — — |1o05] — — [1.23] — J1.40]0.84] 1.17
29 2 (1P) g/l — Jo.112]0.150] — J0.107] — — l0.135] — — o0.132] — Jo0.150]0.107]0.127
WEEA( Zn) me/1 — — — — — — — — — — — — — — —
7ENEERMH-N | ng/l ] 0.01]0.04 ] 0.04]0.02]0,02]0.03]002]0.040.03]0.03][0.01]0.02]0.04]0.01][0.03

3 Hg/l j— — j— J— _ — pu— — j— — — j— a— p— p—

ng/1 — — — — — — — — — — — — — — —

: mg/l' — — — — — — — — — — — — — — —

FREER( Q) e/l — — — — — — — — — — — — — — —

BAUETREERD o] my/l — — — — — [ .- — — — — — — — ,— —
B HEAREERCP Q) my/] - - - - - - - - - | = — - — = —
ERRERERCD Y | me/l — — — — — — — — — — — — — — —

AERCIN o -l -1 -=1= - |l -1 =1 -1 =-1=1= — — —

AU VEEIEY A PO, -P) me/1 — — — — — = — — — _ — — — — _
e pAaER (> -0 [ me/l — — — — — — — .
FERFERY > (D ) | ne/l — — — — — — | = — — — — . _ _

HTERY OB | me/l — - — — — — — — — — — — — — —
BERERHUO m/l | 13,3 13.6[14.3| — — — — - — — — — |'14.3 | 13.3 | 13.7
ATHRIERR (T me/| 6.0 | 4.8 | 70 | 6.3 [ 5.0 | 6.2 | 5.1 | 4.4 | 49| 5.2 | 652 | 51| 7.0 4.4 | 5.4

RO wg/l |19.3]18.4)21.3) — — — — — — — — — | 21.3118.4] 19.7

wgREmo o] el | — | - | - | - | - [ - | - | = [ -1 =-=T1T-"1-=-1+-=
wrtaaEce o| w1 | — | — | — | = | = | — | =

whtego ) | w) | — | - [ - | = [ = [ -1 -1 -"1T-1-"T-=-1- - — —
wgter M) |/t | — [ - | — [ = | =] = =] -1 =1 —-—1-1 = - - -
$k(Fe) me/| — - — — — - — — - — - — — — —
<29 (W e | — | -1 -1 -1 -1-1-1-1T-"1-71T-=-1-= - - -
S B | 21.3]30.2(37.2]23.4]22.6]16.6]14.7 183 |14.113.4]22.8]151]37.2]|13.4]20.8
HER(20C) ns/m [ — - - - — - | = - — — - = - = —
F vy b(G) ng/1 — - — — — — — — — — — — — — —
< 2 h(M) mg/| — — — — — — — — — — — — — — —
p He.87 4 HY & | e/l — — — — = — — — — — - — — — -
p H. 0B /] — — — - — — — — — — — — — — —

p HO.07 A ) 1 mg/ — — — — — — — — — — — — —
BREA A (8G,2 ) g/l — — — — — — — — — —

et A (aD) | ml — — — — — — — — — — — — — — —
T U AN e/l — — — - — — — — — — — — — — —
HY UHR /| — — — — — — — - — — — — — — —
B AT S0) | e/l = — = = = = = = = — — — — — =
k) /] — — — — — — — — — = — — — — —
youqiea (@l-0) | ugl/l — |e633]115.4] — |78.3] — — | s3.8] — — [97.8] — |115.4] 53.8 [ 81.7
pousiph (Gl | e/l — | 75|85 — |o71]| — — | 88| — — 1o = J1o]| 7.5 | 9.1
yaranee (Gl-e) || pell — |1sel1n7] — [245] — — |10 — — |16 — J24a.5[11.6]16.9
vxA747>  |wed | — (b L1211 = (210 — [ = [ 67| — | — 160 — |2t0[ 67 | 142
A A v RiEEEA [ m/ — — — — — — | = — — — — — — — —
Tz *EIOTEE B RADIEIE Y ROT, 3.P-ON=(ON)—(D-ON) 6.P-TP=(TP)—(D-TP)
1.LP-COD=(COD)—(D-COD) 4.D-TN=(l N)+(D-ON) 7.TC=(1 c)+(TocC)

2.1 N=(NH4-N)+H(NO2-N) +(NO3-N} 5. TN=(I N)+(ON) 8.P-OC=(TOC)—(D-0C)




KEER —mEth— (2)

Bl PrEh KE%% FIRII 1144 gy SRR 184 20064F)

H H wipr | 1718 | 2/8 | 3/8 | 4/26 | 5/24 | 6721 | 7/26 | 8716 | 9715 | 10/18] 11/15 | 12/20 | ek fite] s | i
2 —MIl B ng/! 5 5 4 30 13 8 2 7 4 2 7 4 30 2 8
TAAL Y ng/! 5 11 11 17 7 8 2 3 2 1 3 10 17 1 7

w@hyrairertie | me/1 ]0.068]0.053]0.099]0.088]0.114]0.141]0.142]0.095]0.080]0.098]0.070]0.072] 0.142] 0. 053 [ 0. 093

yonmviekse | me/l [0.035]0.028]0. 061 — — — — — — — — — Jo.o061]0.028]0.041

7 ve/ g engse| me/l 0.023[0.018]0.029] — — — — — — — — — Jo.029]0.018]0.023
v 7 weonayemgie] me/t 10.009]0.007]0.000] — — — — — — — — — J0.009]0.007]0.008
mg/1 | 0.001]0.000]0.000] — — — — — — — — — Jo.001]0.000]0.000
m/l | — [140]1.32] — o8] — — |1.05| — — |1.23] — [140]o084]1.17
g/ — — — — — — — — — — — — | = — —
e/l | — — — — — — — — — — — — — — —
#Y v (P) L me/1 — 0.1120,150 — 0,107 — — 0.13b — — 0.132 — 0,150 0,107 | 0,127
&Y >~ (TP h g/l - — = — — — — — — — — — — — —
12Y >~ (1P TR m/l | — - — — — —~ — — — — — — — - —
CoD LR me/l | — [9.22[9.67] — [7.17] — — l7o00| — — |78 | — |957|700]8.15
CODWR mg/1 — — — — — — — — — — — — — — —
COD TR ng/| — — — — — — — — — — — — — — —
KR AKE °C — — — — — — — — — — —
R °C — — — [16.4]21.0]23.9]26.2]27.6[23.3]19.6[151] 8.3
0.5m °C — — — |15.5]20.9|23.8]|25.9]|27.6]23.3]|19.5[ 151 8.4
L. Om ‘C — — — [14.7]20.6] 23.9]|25.6]27.7]23.3]19.5[ 150 8.4
2.0m °C — = — — — — — [27.7]23.3]19.4]| — -
3.0m C — — — - — — — — — - - -
4.0[‘(‘\ c,C: - - - - - - - - - - - -
5. 0m C — - — — — — — — — — — —
6.0m C - - - — — -~ — - - - - -
i} C - — — | 142)20.3]23.9(256|27.7|23.3|19.4]|15.0] 8.4

*DO Ak | m/l | — — — — — — — — — —
i mw/l | — - — |123]11.7] 80 7(6.2]74]93|11.4][115
0.5m m/l | — — — |12.9]11.4] 7.9 59 [ 74] 93 [11.5][11.4
L. 0m m/l | — = — |132]10.0] 7.8 58 [ 7.4 | 9.2 [10.7[1L3
2.0m m/l | — — — — — — 5.6 | 7.4 | 9.2 | — —
3.0m g/l — — — — — — — — — — — —
4.0]11 ng/l - - - - - - - - - - - -
5.0m Hg/l — _ _ _ - — - _ _ - - _
6.0m g/l - - - — — - = - - — - -
JETH e/l | — — — |123) 92| 78] 95)| 56| 73]|91]|106]11.3

AdiE Ak | Lux — — — [15780] 34200 12380 5400 | 18520] 19680 | 14110 | 58800 ] 8110
i Lux — — — 15360 | 19720 | 8480 | 4470 | 9860 [ 17110| 11750| 34700 | 4550
0.5m Lux — — — 10340 7070 | 2414 | 1385 | 2900 | 7070 | 4720 | 7200 | 1527
1.0m Lux — — — 343 | 1399 587 649 367 2051 | 1301 | 1220 | 485
2. 0m Lux — — — — — — — 11 181 124 — —
3.0m [JJX - - - - st b - _ _ - b -
4, 0m Lux — — — — — — — — — — — —
5.0m Lux — — — — — — — — — — — —
6. 0m Lux — — — — — — — — — — — —
Feifi Lux — — — — — — — — — — — —

iR EORP m — — — 235 85 140 128 64 117 91 45 119
% * DOEDOFHZL 5 RIERE




1.P-COD=(COD)—(D-COD)

2.1 N=(NH4-N)+(NO2-N)+(NO3-!

4.D-TN=(I N)+(D-ON)

5 TN=(I N)+(ON)

7.TC=(I C)+(TOC)
8.P-0C=(T0OC)—(D-0C)

KEER (0 1-1) <@HEBH> —EHRAE+EMALE -
B HEHR K% FHRJI 14 X ISR 184E( 20064F)
= B Bifr | 1718 | 1/25 | 2/8 | 2/22 | 3/8 | 3/27 | 4/19 | 4/26 | 5/10 | 5/24 | 6/14 | 6/21 | 7/5 | 7/26
X & i [ I [ it i 2 i i i & & & [
kR w4y | 11:08] 8:25 | 10:55] 9:20 | 9:30 | 9:20 [ 9:09 | 9:58 [ 9:47 | 10:44 | 8:30 [ 11:20] 9:01 | 9:26
KR m 3.94 | 3.50 | 3.8 | 3.91 37537 |3.72[3.95]370] 3.8 | 359|375 3.68 [ 3.92
BRAKEE n 0.50 | 0.50 [ 0.50 [ 0.50 [ 0.50 [ 0.50 [ 0.50 | 0.50 [ 0.50 [ 0.50 | 0.50 [ 0.50 [ 0.50 { 0.50
R C 7.2 3.3 89 | 10,1 ] 16.1 | 14,8 [ 12.7 | 18.4 ]| 18.0 [ 26.6 [ 25.3 | 22.5 | 23.4 | 32.3
A & °C 5.1 2.7 | 3.7 ] 6.6 | 89 | 10.9] 13.5[16.7 ] 17.7 | 21.3 | 21.8 | 23.5 [ 26.2 | 26.4
5 8B dukiod | AR | wonen | s [socen | wem | wew | mes | ges | eee | ses | sovez| e | ses
B K&K e | ER | ER | s | ER | R | MR | e | me | e | e | &S | KR | &R
TR em | 23.5]10.9] 10.8]10.6 ] 125] 52 [10.7 | 10.2 ] 17.0] 17.5 | 15,5 [ 21.0 | 12.5 [ 25.0
Pl m 0.75 | 0.36 | 0.33 | 0.45 | 0.55 [ 0.31 [ 0.28 | 0.56 | 0.52 | 0.95 | 0.46 | 0.73 | 0.56 | 0.73
) 17 18 18 16 17 17 18 17 18 17 18 18 18 18
p H 8.0 [ 80 [ 78 |82 ] 79 ] 9.2 1] 382/|81 8.0 | 83 | 82 | 89| 77] 86
DO e/t [13.78] — 13.30] — [12.96] — |11.46] — 8.85 — (10,21 — 6. 46 —
BOD g/l | 3.05 — 4.11 — 3.56 — 3.70 — 3.45 — 4.39 — 2.35 —
CODyn mg/l | 7.37 [ 8.45 | 8.86 | 7.20 | 8.51 |13.60].9.79 | 9.15 | 8.36 | 6.42 | 7.55 [ 8.10 | 7.96 | 6.24
D+ CODy, mg/l | 4.64 | 4.55 | 4,99 [ 4,17 [ 3,24 | 4,91 | 4.69 | 4.39 [ 5.31 | 420 | 6.30 [ 4.05 | 4.55 | 4.15
‘P CODwma e/t | 2.73 ] 3.90 | 3.87 [ 3.03 [ 5.27 [ 869 | 5.10 | 4.76 [ 3.05 | 2.22 | 2.25 | 4.05 | 3.41 | 2.09
CODg, g/l — — — — — — |21.23] — Ji1e.80| — [17.13] — 1318 —
D: CODg¢, me/1 —_ — — — — — — — — — — — — —
ss mg/l | 17.0 ] 23.0 | 31.5 | 29.5 | 30.0 | 64,5 [ 37.0 | 35.5 | 22.5 | 13.5 | 22.0 [ 17.5 ]| 29.5 | 9.0
RISHRER wwvioon | 1 1B#3]  — | 17Er2] — 12| — |13Es3| — |2.3m2| — |3.3m2| — |11E3] —
dmxmnik | @moom | 11Ba| — 3.3 — [7oBe0| — [3.08t0] — <1 — |4.0Br0] — <1 —
RGN mg/l | 1.29 | 0.98 | 1,13 | 1.30 [ 1.53 | 1.21 | 1.04 [ 0.98 [ 0.70 | 0.64 | 0.93 | 1.04 | 0.82 | 1.19
@Y > (1P mg/l | 0,082]0.087]0.093[0.104 [ 0,108 ]0.155]0.122]0.130 | 0,090 | 0.075 ] 0.100 | 0.082 | 0.104 | 0. 091
(70 g/l — — 10.002] — — — fo0.005] — Jo.002[ — [0.031] — J0.030] —
AR ERONL-N | et | 0,03 ] 0.01 ] 0,03 | 0.02 | 0.05 | 0.02 [ 0.03 | 0.00 ] 0.01 [ 0.01 [ 0.03 ] 0.02] 0.17 | 0.02
FRREEERNG N | me/t | 0.008]0.005]0.008] 0.010] 0.016 | 0.002 [ 0.007 [ 0.002 | 0.002 | 0.000 | 0.003 | 0.007 | 0.011 | 0.033
mEmEER(No,-N | m/t | 0.55 ] 0.16 | 0.33 | 0.30 [ 0.53 [ 0.00 | 0.10 | 0.00 [ 0.00 | 0.00 | 0.00 | 0.09 | 0.04 | 0.46
ERmERCIN mg/l ] 0.59 | 0.18 ] 0.37 | 0.33 | 0.60 | 0.02 | 0.14 | 0,00 | 0.01 | 0.01 | 0.03 | 0.12 | 0.22 | 0.51
HREER( D e/t | 0.70 ] 0.79 ] 0.76 [ 0.95 [ 0.93 | 1.17 | 0.90 | 0.98 [ 0.70 | 0.62 | 0.89 | 0.93 [ 0.58 [ 0.66
sgpeantEs> o oga [ 0.33 [ 0.28 | 0.34 | 0.33 [ 0.47 ] 0.52 | 0.39 [ 0.33 | 0.41 [ 0.28 | 0.31 | 0.20 | 0.36 | 0.29
writpmasce o] met | 0.37 [ 0.51 | 0.42 | 0.62 [ 0.46 [ 0.65 | 0.51 [ 0.65 | 0.29 | 0.34 | 0.58 | 0.73 | 0.22 | 0.37
wgpiezRC> ™ [ m/t | 0.92 | 0.46 [ 0.71 [ 0.66 | 1.07 | 0.54 | 0.53 | 0.33 | 0.42 | 0,29 | 0.34 | 0.32 [ 0.58 [ 0.80
R (™ w/l | 1,29 ] 0,97 | 1,13 [ 1.28 | 1.53 | 1.19 | 1.04 | 0.98 | 0.71 | 0.63 ] 0.92 | 1.05 [ 0.80 [ 1.17
AygiyA(Pa-P) [ mgtt J0.047| — |0.084[ — [o0.072] — [0.075] — |0.040] — ]0.049( — -Jo.081| —
amtemasuo ra-»| g/t [ 0.003]0.003]0.006] 0.013] 0.006 ] 0.009 [ 0.003 | 0.005] 0.000 | 0.003 | 0.003 [ 0.003 | 0.025 | 0.007
WY v (D ) | me/t ] 0.01810.018]0.01810.025)0.021]0.022]0.014]0.021[0.015]0.015) 0.013)0.017 } 0.075] 0.025
srriesy ~Cpe ) | me/l | 0.064(0.069]0.075]0.079 | 0.087 [ 0.133 ] 0.108 [ 0.109 | 0.075 | 0.060 | 0..081 [ 0.065 | 0.029 | 0. 066
ERERRQ e/t | 13.9 — 13.4 — 13.9 — — — — — — — — —
HBRIEBH(TOD g/l 6.4 | 5.1 5.0 6.2 | 87 | 9.6 | 5.9 7.4 | 6.1 57 | 5.9 6.8 | 5.6 | 4.8
BRECTO we/t | 20.3 — 18.4 — 22.6 — — — — — — — — —
imrc gD o 5.1 | 47 | 40| 45 | 5.0 | 56 [ 5.5 3.7 56 | 44 [ 5.2 ] 55 52| 42
R RERRCE | e/l 1.3 [ 0.4-] 10 1.7 3.7 | 40| 0.4 3.7 0.5 1.3 | 0.7 .3 ] 0.4 ] 0.6
TRAEHEEE(D Fe) mg/t | 0.09 — 0.10 — 0.16 — 0.11 — 0. 03 — 0.03 — 0.20 —
wpgtter (0 M) | met 0,004 — [o0.007] — {0007{ — Jo0.005( — Jo007{ — l0.007| — {0.007| —
k(Fe) ng/l | 0.68 — 0.80 — 1.02 — 1,28 — 0.72 — 0.68 — 1.51 —
¥ H (M) mg/l 0.038] — |o0.055] — [0.063] — o081 — f[o.064] — Jo.068] — [o0.067] —
EIES Jid 17.9 — 28.4 — 27.3 — 29.8 — 19.1 — 19.9 — 22. 1 —
HEH(20°C) ws/m | 27.1 — 28.3 — 27.7 — 27.5 — 28. 8 — 28.3 — 27.8 —
H Ay (G e/l | 19.7 — 17.4 — 18.1 — 17.0 — 16, 2 — 18.2 — 18.9 —
7 BT b(M) me/t | 7.85 — 7.35 — 7.34 — 6.93 — 6.84 — 6.54 — 6. 50 —
pHA487ANYE | nent | 60.6 — 57.5 — | 61.3 — 57.6 — 59. 7 — | 60.7 — 61.9 —
b HO, 0REE me/l |10.57| — [13.71| — [11.58] — 5.76 — 6.17 — 6.56 — |14.34| —
pH.O7VHY & ne/l — — - — — — - — — — — — —_ —
wWEgr A (50,20 | m/t | 29.6 — 20.1 — 28.3 — 29. 1 — 29.1 — 28.7 — 27.5 —
ik A(a) | m/t | 36.8 — 35.0 — 34.6 — 29.3 — 33.5 — 32.6 — 33.7 —
Fb Y Y A(N) e/l | 26.8 — 27.6 — 26, 3 — 27.5 — 29.0 — 27.0 — 26. 8 —
NY AR mg/l | 5.40 — 5.07 — 5. 00 — 5.12 — 5.18 — 5.44 — 5. 36 —
By H(Tsio) [ mn | 25,6 — 30.2 — 25. 7 — 20.0 — 10. 1 — 11.8 — 19.8 =~
sy H g/t |15.55] — |10.80| — 9.99 — 2.41 — 1.81 — 4,30 — 5. 10 —
gomzqpma (l-a) | we/t | 52,8 | 67.2 | 77.8 [106.0] 82.1 [111.8]100.1] 85.8 | 49.1 | 28.2 [ 78.5 [ 104.0| 25.6 [ 56.4
yorzieb (Chl-b) | pg/t 4.1 3.9 | 4.0 59 | 6.3 ] 9.8 144 101.9] 7.4 | 7.6 | 7.4 | 9.8 | 6.0 | 10.8
pozqme (Gl-) | pa/l 9.1 | 14.1 | 11,3 ] 12.9] 6.4 [ 38.2 [ 32.9 | 35.2 | 19.6 | 16.9 | 28.7 | 23.4 [ 12.4 [ 14.1
T =AT 4 TV ne/l 4.0 | 5.9 7.7 2.5 | 9.3 | 17.1[23.8]| 104 16.2] 16.3]|11.9] 7.6 |[11.2 [ 2.7
Ras o pmEta [ men | 0.01 — 0. 03 — 0. 03 — 0.02 — 0.03 — 0. 02 — 0. 01 —
2 ~MI B ng/l 7 7 6 5 4 19 13 38 28 10 11 5 5 2
SHAIV ng/l 5 6 11 14 12 15 5 9 19 8 6 8 3 3.
1Y/ v125y R BRAE mz/1 — — — — — — — — — — — — — —
%5 OB AITRROHEICE Y ki, 3.P-ON=(ON)—(D-ON) 6.P-TP =(TP)—(D-TP)




1LP-COD=(COD)—(D-COD)

2.1 N=(NH4-N)+(NO2-N) +

(NO3-1 5.TN=(1 N)+(ON)

4D-TN=(I N)+(D-ON)

7.TC=(1 C)+(TOC)

. KEER (20D 1-2) <55 > —EMRE+HRRAE -
BP 5 KFL FIRJI )il il SRR LB4E( 200642)
T H wigr | 8/2 | 8/16 | 9715 | 9721 | 10/4 | 10/18 | 11/1 | 11/15| 12/6 | 12/20 S | e | EEHE
® B E | & | W | = | & | B | ® | w | & | &
kR w5y | 9:41 | 9:15 | 9:54 | 9:11 [ 9:59 [10:40] 11:40 | 10:08 [ 9:42 | 9:39
AR m 3.62 | 3.75 | 3.68 | 3.60 | 3.89 | 3.82 [ 4,02 | 3.52 | 3.69 [ 3.82
Rk m 0.50 | 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 6.50 | 0.50 [ 0.50 [ 0.50
& iR C 25.1 | 26,8 | 25.8 | 25.9 | 27.0 [ 23.5 [ 21.2 | 18.4 | 13.0 | 5.2
K ‘c | 252 27.5]23.2] 241223 19.4] 18.6 [ 15,0 10.5 | 8.6 27.5 | 2.7 | 16.6
H 8 3] x| e *uE *Em #igE | BNuE | keus | agua | kran
B R(HR R | ER | ER | ER | ER | B (ELhUR| KR ) B | &R
BRI em | 15.0 | 15,8 | 12.5 [ 14.0 | 17.0 | 19.2 ] 14.5 | 13.5 [ 19.8 | 15.0
B m 0.60 | 0.71 | 0.54 | 0.44 | 0.44 | 0.72 | 0.47 | 0.50 | 0.64 | 0.56 0.95 | 0.28 | 0.55
KA 18 18 17 18 19 18 19 17 18 18
pH 82 | 81| 79 ]| 86 | 7.8 ] 86 | 89 ] 88| 8.1 8.0 9.2 | 7.7 | 8.3
DO m/l | 9.79 — — 882852 — [1301] — [i1L.21] — 13.78 | 6.46 [ 10.70
BOD m/l | 2.62 | — — 1.94 | 2.64 6.13 — 2.75 | — 6.13 | 1.94 | 3.39
CODy, e/t | 6,93 ] 7.10.] 7.20 ] 7.98 | 7.33 | 6.46 | 8.58 | 7.15 | 6.51 | 5.82 13.60 | 5.82 | 7.86
D: CODyy, m/l | 4.79 1 3.80 | 4.65 [ 4.70 | 4,95 | 3.88 | 4.30 | 3.81 | 4.07 | 3.92 5.31 | 3.24 | 4.42
‘P. COD,, mg/t | 2.14 | 3.30 | 2.55 | 3.28 | 2.38 | 2.58 | 4.28 | 3.34 [ 2.44 | 1.90 8.69 | 1.90 | 3.44
CODg, w1471 — — |w72]17.22] — (1477 — |12.14 — 21.23 | 12.14 | 15.66
D+« CODg, g/l —_ —_ — —_ — —_ — —_ — — —_ —_ —_
ER mg/l | 18.0 | 24.5 | 24.5 [ 20.0 | 19.5 | 15.5 | 23.0 | 21.5 [ 18.0 | 21.5 64.5 | 9.0 | 24.5
KB sewioon | 3. 3F+4 |  — — |t3Ee3|7.9803] — 493 — [3.3B#3] — 3.3E+4 | 1. 1B+2 | 4. 6E+3
HEEXWERR | maom | — — |s.0r0]6.6Et2] — |8.0Er0| — |4.8B1] — 6.6B+2| <l |6.5E+1
REHR(TN m/l | 0.88] 0,85 | 1.05 | 0.76 | 0.98 | 1.37 | 1.32 | 1.14 [ 1.47 [ 1.65 1.65 | 0.64 | 1.09
@y (TP mg/l | 0.098]0.113] 0,123 0.090 | 0.101 | 0.082 | 0.101 | 0.096 | 0.083 | 0.083 0.155 | 0.075 | 0. 100
Hi§3(7n) g/l 0.002] — — ‘Jo0.002{0 004 — Jo.002] — Jo.002[ — 0.031 | 0.002 | 0.008
TAYMEER(NG-N | g/t [ 0.02 | 0.03 | 0.06 [ 0.01 | 0.02 | 0.04 | 0.03 | 0.01 [ 0.03 [ 0.03 0.17 | 0.00 | 0.03
mEEERENG N | m1 0.012]0.004 | 0.032] 0.016] 0.011] 0.016 | 0.013 | 0.009 [ 0.013 | 0. 020 0.033 [ 0.000 | 0. 011
mEEERENO Y | mt ] 0.11 | 0,01 | 0.30 [ 0.07 [ 0.14 [ 0.54 [ 0.29 | 0.27 | 0.89 | 1.24 1.24 [ 0.00 | 0.27
ERIEER(1N mg/t ] 0.14 1 0.04 ] 0.39 | 0.10 | 0.17 ] 0.60 | 0.33 | 0.29 ] 0.93 | 1.29 1.29 | 0.00 | 0.31
AR QY mg/t | 0.74 | 0.81 | 0.66 | 0.66 | 0.80 | 0.77 | 0.99 | 0.85 | 0.54 | 0.37 1.17 [ 0.37 | 0.78
aseerbeERo o) mA | 053] 0.42 ] 0.33 ] 0.38] 0.39 ] 0.30 | 0.42 | 0.21 | 0.30 [ 0.17 0.53 | 0.17 | 0.35
wrrieammsrce ao| ma | 0.21 ] 0.39] 0.33 ] 0.28 | 0.41 | 0.47 ] 0.57 | 0.64 [ 0.24 | 0.20 0.73 ] 0.20 | 0.4
vagptiznco w | mn | 0.67 [ 0.46 | 0.72 | 0.48 | 0.56 [ 0.90 [ 0.75 | 0.50 | 1.23 | 1.46 1.46 [ 0.29 | 0.65
BEECM g/l | 0.88 ] 0.85 ] 1.05 | 0.76 | 0.97 | 1.37 | 1.32 | 1.14 | 1.47 | 1.66 1.66 | 0.63 | 1.09
AR EIRAPO-P) | mg/t [0.047| — — Jo.045]0.060] — Jo0.059] — |o.010] — 0.084 | 0.010 | 0.056
ateema s po-o | mg/l 10,0081 0,019 0.030( 0.011 10,009 [ 0.008| 0.0050.005|0.007 | 0.010 0.030 [ 0,006 [ 0.008
wppES) L (> ™ | g/t ]0.025[0.041 [ 0.045 [ 0.032[0.024 [ 0.019 | 0.019 | 0.017 | 0.016 | 0. 021 0.075 ] 0.014 | 0.024
wriesy e | e/ ]0.073]0.072{0.078 [ 0.058 [ 0.077 [ 0.063 | 0.082 | 0: 079 | 0.067 | 0. 062 0.133 | 0.029 | 0.075
ERIRRF O g/l - — — — — — — — — — 13.9 | 13.4 | 13.7
AT B TOD) e/l 4.0 | 5.1 | 51 ]| 52 ] 565 | 47| 60 | 4.8 | 4.7 | 3.7 9.6 | 3.7 | 5.8
BIRECTO me/l — — — - — — — — - — 22.6 | 18.4 | 20.4
AR RELER(D O w1 3.3 | 42 ] 3.4 | 38| 43 [ 28| 43 ] 34| 2.6 | 2.8 5.6 | 2.6 | 4.3
srggEsRCe | my/l 0.7 | 0.9 L7 1.4 | 1.2 | L9 | 17 1.4 [ 21 [ 0.9 4.0 | 0.4 [ 1.5
EESK(D Fe) /1l | 0.07 — — 0.09 | 0.06 — 0.04 — 0.04 | — 0.20 | 0.03 | 0.09
vagper M- M) | e [ 0.004] — — 10.005]0.004] — Jo.006] — |0.006[ — 0.007 [ 0.004 | 0.006
k(%) mg/t | 0.63 — — 1.04 | 0.98 — 1.0.50 — 1.0.60 — 1.51 | 0.50 | 0.87
23 (M) mg/t J0.042] — — |o.041[0.126] — [o.046] — Jo.046] — 0.126 | 0.038 ] 0.061
& e 16.7 — — | 20.5] 21.2 — 21.2 — 13.6 — 29.8 | 13.6 | 21.5
HES(20C) ws/m | 27.8 — — 25.8 | 26.3 — [ 22.4 — 22.3 — 28.8 | 22.3 | 26.7
WY A(C) me/l | 15.9 — — 18.7 | 17.5 — 16. 2 — 18.4 | — 19.7 | 15.9 | 17.7
7 ZLY A0 g/l | 6.68 | — — 6.80 | 6.49 — 5. 67 — 5.92 — 7.85 | 5.67 | 6.75
pHL.87AHY E | m/ | 60.5 — — 68.0 | 61.1 - 55, 4 — 53.4 — 68.0 | 53.4 | 59.8
p HO. 0B e/t | 8.20 — — 6.59 [11.47] — | 2.66 — 7.00 — 14.34] 2.66 | 8.72
p HO.O7 AR Y B g/l — — — bt e — — — — — bt e —
gl Av(s0,20) | men | 25.0 — — 26.2 | 25.1 — 24. 1 — 20.6 — 29.6 | 20.6 | 26.9
e A [ men | 345 — — 34.2 | 29.3 — 24.2 — 23.0 — 36.8 | 23.0 | 31.7
FY Y A(N) e/l | 24.9 — — | 26.1] 24.0 — 18.3 — 17.7 — 29.0 | 17.7 | 25.2
HY Y BK m/t | 5.06 | — — 5.43 | 5.52 — 4.88 — 4.72 — 5.52 | 4.72 | 5.18
@wryA(Tosig) | mA | 151 — — 15.1 | 12.0 — 9, 54 — 16.9 — 30.2 | 9.54 | 17.7
e i | 7.24 ] — — 4.40 | 3.31 6.87 — | 9.89 — 15.55 | 1.81 [ 6.81
gomzqp-a (l-a) | pg/t | 66.0 | 65.4 | 53.2 | 66.4 | 58.5 [ 62.8 [ 110.4| 91.9 | 61.9 | 57.6 111.8] 25.6 | 71.6
gomzqpb (b)) | pg/l 9.8 | 10.4]| 8.8 | 6.4 | 7.2 | 8.4 | 13.5 | 8.1 1.6 [ 0.2 4.4 [ 0.2 [ 7.7
goargpee (al-c) | peg/t | 18,0 | 12,9 [ 18.0 | 10.2 | 12,8 | 13.8 1 18.3 | 15.7 [ 7.0 | 8.7 38.2 | 6.4 [ 17.1
T AT LT ne/l 8.5 [ 18.6 | 13.9 ]| 16.3] 7.7 | 7.5 [ 15.6 [ 14.3 ] 18.8 | 11.3 23.8 | 2.5 | 11.6
R ok RmEss | et | 0.03 — — [ 0.03(0.03 — 0.03 — 0. 02 — 0.03 | 0.o1 [ 0.02
2 —MI B ng/l 2 7 30 20 6 2 3 6 4 2 38 2 10
PARI Y ng/l 2 4 2 3 3 2 2 2 5 4 19 2 6
M A g/l — — — — — — — — — — — — —
= *HINIFBIIRAOFFI LY kD, 3.P-ON=(ON)—(D-ON) 6.P-TP =(TP)—(D-TP)

8.P-OC =(T OC)—~(D-0OC)




KEAFER (£0 2-1) <# 5B > —EHRELHERNRE -

BRIFTA HEH K% FIARJ1 e By @ SR 184E( 20064E)
E B Bifir | 1718 | 1726 | 2/8 | 2/22 | 3/8 | 3727 | 4/19 | 4/26 | 5/10 | 5/24 | 6/14 | 6/21 | 7/5 | 1/26
RER(N LR mg/l 11,29 [ 0.98 | 1,13 ] 1.30 | 1.53 | 1.21 [ 1.04 | 0.98 [ 0.70 | 0.64 | 0.93 | 1.04 | 0.82 | 1.19
REX(IN G mg/l | 119 | — 1.09 | — 1.44 | — 1.01 — Joesa| — Jorg]| — [o16] —
BEE(IN TR mg/l | 130 — .10 — .58 1 — .01 — 0.62 | — 0.69 | — lome] —
Y (1) Lg mg/l ] 0.082]0.087[0.093]0.104] 0.108]0.155 [ 0.122 | 0.130{ 0.090 | 0.075 | 0. 100 | 0.082 [ 0. 104 | 0. 091
Y (TP HE mg/l Jo.o80] — [o0.0903] —. 0098 — [o117] — [0.090] — |o0102] — [o0.106] —
Y () T mg/l Jo.092| — o097 — [o115] — Jo119] — Jo.096] — [o0.092] — [o118] —
coD ki mg/l | 7.37 | 8.45 [ 8.8 | 7.20 | 8.51 [13.60] 9.79 [ 9.15 | 8.36 | 6.42 [ 7.55 | 8.10 | 7.96 | 6.24
CODWIE mg/l ] 6.50 | — | 8.32 — | 82w — 8.95 | — 7.9 | — 6.80 | — 7.69 | —
CoD TR wg/t 60730 — [1832] — [815] — 8.7 — 11720 — [e4] — le668] —
IKIR xEl C — — — — — - | — — — — — — — —
®E| T 5.1 | 27 ] 40 [ 67 [ 89 | 107|136 165 ] 17.7 | 21.4 | 21.8 | 23.5 [ 26.2 | 26.7
0.5m| °C 5.1 | 2.7 | 3.7 | 6.6 | 8.9 | 109 13.5 | 16.7 | 17.7 | 21.3 [ 21.8 | 23.5 [ 26.2 | 26.4
Lom| C 5.0 | 2.7 | 3.7 |1 65 | 88 | 109] 135 15.2 | 17.4 | 20.9 | 21.6 | 23.5 | 26.3 | 25.3
2.0m| C 43| 2.7 | 3.7 | 6.4 | 86 | 10.8[ 13.5 | 14.7 ] 17.2 [ 20.4 [ 21.5 ] 23.5 | 26.3 | 24.7
3.0m| °C 431 271 3.6 ] 6.4 85 ] 10.7]13.4]145] 17.0]20.3 ] 21.4] 23.5] 2631 24.5
4,0m| °C — — — — — — — — — — — — — —
5.0m| C — — — — — — — — — — — — — —
6.0m| °C — — — — — — — — — — — — — —
Em/| C 43 | 2.7 | 3.6 | 6.4 | 85 | 106 [ 13.0 | 14.4 | 17.0 [ 20.2 | 21.4 | 23.5 [ 26.3 | 24.3
*DO Kbl mg/l | — — - -~ - - — - — - — = - -
Fi| ng/t | 13.3 ] 13.8 | 14.1 [ 13.8 ] 12.9 [ 12.0 | 11.0 ] 12.7 [ 10.5 | 1.3 ] 10.1 | 9.9 | 6.5 | 12.1
0.5m| mg/l | 13.4 | 13.7 | 14.3 [ 13.8 | 128 | 12,0 | 11.1 | 12.6 [ 10.2 | 11.3 | 10.2 ]| 9.9 | 6.4 | 12.4
LOm| ng/l | 13.4 | 13.5 | 14.2 ] 13.6 | 129 [ 11.8 | 10.9 ] 12.7 [ 10.2 | 11.3 | 9.8 | 9.8 [ 6.2 | 12.2
2.0m| mg/l | 13.7 [ 13.4 | 14.1 | 12.6 | 12.7 | 11.5 [ 10.7 |"11.6 [ 9.3 [ 10.5] 9.3 | 9.6 | 6.1 | 10.0
3,0m| nmg/l | 13.6 | 13.4 | 14.2 ] 12.1 | 12.6 | 11.3 [ 10.7 | 11.3 ] 9.3 [ 9.0 [ 9.0 | 9.6 [ 6.0 | 9.3
4.0m| mg/l - — — — — — i — — — — — —
5.0m| g/l — — — — — — — — — — — — — —
6.0m| g/l — — — — — — — — — — — — — —
EE| me/t | 13.4 ] 13.5 | 14.2 | 7.1 | 12.5 | 8.8 | 9.8 | 11.3]| 9.2 | 84 | 9.0 | 9.5 | 6.0 8.1
ApfE AKk| Ltux | 20140 | 31400 | 35900 | 24820 | 57200 | 13140 | 8610 | 19990 | 15040 | 27730 | 27130 | 14600 | 3970 [ 6290
Fm| Lux | 18980 | 18140 | 34000 | 17690 | 31200 | 10070 | 5420 | 9980 | 10300 | 19520 | 19400 | 9250 | 2680 | 4660
0.5m| Lux | 4010 | 2600 | 3420 | 2345 | 2510 [ 537 | 569 | 2850 | 2063 | 10920 | 4250 | 2690 | 339 [ 1658
1L.0m| Lux | 895 [ 387 [ 370 | 253 | 366 14 66 588 | 485 | 4420 | 881 [ 711 47 690
2.0m| Lux 79 20 10 3 11 0 2 27 47 671 49 111 1 133
3.0m| Lux 5 4 2 0 3 — 0 6 4 93 3 13 0 48
4,0m| Lux — — — — — — — — — — — — — —
5.0m| Lux — — — — — — — — — — — — — —
6.0m| Lux — — — — — — — — — — — — — —
| Lux — — — — — — - — — — — — — —
EfEHR LORP m | 279 | 286 95 62 -88 52 235 89 228 11 198 | 180 | 232 [ 154

I

+ DORDOFHZL 5 JIERHE




KEER (20 2-2) <H 5% > — EMRE+RNTAE —

[ B4 HE K% FIRI 4 Bl T2 184E( 20064E)
H E| Bz | 8/2 | 8/16 | 9/15 | 9/21 | 10/4 | 10/18 | 11/1 | 11/15| 12/6 |-12/20 BeoAAE | S Mg | EHiE
REHCN LB mg/l | 0.88] 0.85 ] 1.05 ] 0.75 | 0.98 | 1.37 [ 1.32 [ 1.14 [ 1.47 [ 1.65 1.65 | 0.64 | 1.09
BER(N T mg/l | 0.83 | — — [o74]1.03] — .33 — [ 14| — 1.45 [ 0.64 | 1.03
BEXR(N TR m/l | 077 | — — lom|[1os| — [138] — |147] — 1.53 [ 0.62 [ 1.04
@Y > (1P) LB me/l | 0.098[0.113]0.123]0.090 | 0.101 [ 0.082 [ 0.101 [ 0.096 | 0.083 | 0. 083 0.155 | 0,075 [ 0. 100
] mg/l 10.093] — | — Jo.090]o0106] — |o0.082] — Jo.076] — 0.117 | 0,076 | 0. 094
By (D) TR mg/l 10,089 — — Jo.095]0.110] — fo0.087] — fo071] — 0.119 | 0.071 | 0. 098

COD tig we/t | 693|710 7.20] 798| 7.33[6.46[ 858 7.15] 6,51 ] 5.82 13.60 | 5.82 | 7.86
CoD 'R mg/l | 650 — — [7orl747] — |6.94| — |6.35]| — 8.95 | 6.35 | 7.34
.CODTJE me/l | 6.30 | — — |661]6.8] — |[617] — [621] — 8.75 | 6.17 | 7.03

KiE kK C — — — — — — — — — —

- #il| C | 252 27.5] 23.2] 241 22.3]19.4] 18.6] 15.0] 10.5] 8.5

\ 0.5m[ °C | 252 ] 275|232 241 ] 223]19.4]18.6 [ 15.0 [ 10.5] 8.6

"1.om| °C | 249 27.5]23.2 ] 241 | 22.1[19.4]183]150]10.2] 8.7

2.0m| C [248]27.5]23223.9]21.8]19.3]18.2] 150/ 10.2] 87

3.om| °C [ 248275 23.2 | 23.8]21.7]19.3] 18.0] 14.9] 10.2] 8.7

4,0m| °C — — — — — — 18.0 1 — — —

50m| °C — — — — — — — — — —

6.0m| °C — — — — — — — — — —

gl °c | 247|275 23.2 | 23.7 ] 21.7]19.2] 18,0 | 149 [ 10.2 ] 8.7

*DO Kkl ng/l — — — — — — — — — —

#m| g/l | 9.2 ] 720 ] 7.7 ] 8.9 ] 8.4 | 10.4] 10.8 | 10.7 | 10.6 | 10.6

0.5m| me/l | 9.2 | 6.9 | 7.6 | 8.9 [ 8.4 | 10,4 ] 10.9 ] 10.4 | 10.5 | 10.1

1.0m| mg/l | 9.0 [ 6.7 [ 7.6 | 8.8 | 8.3 | 10.2 ] 109 [ 10.3] 10.1 ]| 9.9

2.0m| mg/t | 8.0 | 66 | 7.5 [ 85 | 7.4 [10.1]10.1]10.1] 9.9 | 9.9

3.0m| m/tt | 7.4 6.6 | 7.5 | 8.1 ] 7.1 ] 9.9 | 10.0] 9.9 [ 9.8 | 9.8

4.0m| me/l — — — — — — 9.9 — - [ =

5.0m| mg/l — — — — — — — — — —

6.0m| g/l — — — — — — — — — —

ww| mg/l | 7.2 | 65 [ 75 | 79 71 [ 98] 9.9 ] 9.9] 9.7 97

KeBEE kb Lux. | 29410 | 13490 | 19350 | 58100 | 17410 | 17090 | 44100 | 59300 | 29900 | 8690

#m| Lux | 24310 6930 [ 18410 | 46500 | 11570 { 15500 | 30100 | 36200 | 18270 | 6010

0.5m| Lux | 7490 | 1758 | 1561 [ 4020 | 3310 | 4480 | 6570 | 8340 | 3960 | 854

1.0m| Lux | 1908 | 403 | 196 | 715 | 261 | 1543 | 1269 | 2321 [ 850 | 145

2.0m| fux | 170 14 23 37 10 168 | 130 | 171 53 11

3.0m|  Iux 9 0 7 4 1 16 10 7 4 5

4.0m| Lux — — — — — 3 — — —

5.0m| Lux — — — — — — — — — —

6.0m| Lux — — — — — — — — — —

] - — — — — — — — — —

EREHLEORP mv | 235 | 48 T 136 | 159 | 113 98 31 218 | 133

[GES

* DOIDOFHZX 5 IERFBR




KREEXR (20 1-1)

L.P-COD=(COD)—(D-COD)
2.1 N=(NH4-N)+(NO2-N}+{NO3-]

4. D-TN=(I N)+(D-ON)
5. TN=(l N})+{(ON)

7.TC=(I C)+(TOC)

8.P-OC=(TOC)—(D-0C)

s - B> —EMFEEEMAE -
B4 e KR4 FHR) FoiIEA By %, 184E(20064F)

b} A Bifr | 1718 | 1/25 | 2/8 | 2/22 | 3/8 | 3/27 | 4/19 | 4/26 | 5/10 | 5/24 | 6/14 | 6/21 | 7/5 | 7/26
X & [ [ [ % Iif§ i 2 I g5 i & £ 5l [
KGR w5y | 14:03] 9:37 [ 13:23[10:50 | 11:13 [ 10:50 | 11:45 [ 10:50 [ 11:51 [ 11:41 [ 10:28 [ 13:34 [ 10:51 | 10:13
SR m | 361375413398 [398]402]392[390 (38138 [391]372]402]3.8
kAR m ]| 0.506.50 ] 0.50 | 0.50 ] 0.50 [ 0.50 [ 0.50 | 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 [ 0.50
K A C 59 | 4.0 | 11.9 | 11.5 | 15.2 | 14.8 | 14.2 | 18.6 | 18.5 | 26.9 | 22.0 | 22.0 | 21.9 | 31.8
AR C 5.7 | 3.1 | 5.0 [ 6.8 | 10,9 11.1 ] 147158 18.6 | 21.1 [ 22.1 ] 23.3 [ 26.6 | 27.3
4 @& e | Rl | dem | ges | e | e | el | miee | g | wem | miem | owEm | qwe | ues

] K(AR) R | &R | &R [ ER | ER | By | &R ) &R | BR | &R | &R | ER | ER | 4R
B cm | 15.2 [ 105 [ 13.6 [ 11.6 | 14.6 | 5.0 [ 11.56 [ 11.5 [ 13.9 | 9.5 [ 16.0 [ 16.0 | 11.5 | 27.2
BRI m ] 0.45 | 0.35 ] 0.39 ] 0.65 | 0.64 | 0.30 | 0.31 | 0.69 ] 0.45 | 0.69 | 0.48 | 0.47 | 0.56 | 0.54
K 18 18 18 17. 18 17 17 16 18 17 18 18 18 18

b H 8.7 | 8.8 | 83 [ 87 | 86 | 9.5 [ 85 ] 89 [ 85 ] 89 ] 82 ] 89| 7.6 [ 7.8
Do m/l |15.26] — [13.53] — 1667 — [it.19] — Tiri2| — 19| — 673 —
BOD w/l | 5.90] — [512] — [366] — [542] — |505] — [58] — [515] —
CODy, me/l | 9.41 [ 9.79 [ 9.80 [ 7.34 [ 7.30 [ 14.11] 9.99 | 9.41 [10.95] 9.53 | 8.41 | 9.09 [ 9.51 | 6.02

D CODy, o/t | 4.52 [ 4.75 | 5.19 [ 4.01 | 4.51 | 4.95 [ 4.97 [ 4.31 [ 5.13 [ 5.60 | 6.33 | 5,03 | 5.35 | 4.53 |

P CODy, e/t | 4.89 [ 5.04 [ 4.61 [ 3.33 [ 2.79 [ 9.16 [ 5.02 [ 5.10 [ 5.82 [ 3.93 [ 2.08 | 4.06 | 4.16 | 1.49
COD¢, /1 — = — — — — |23.35] — J22.88] — J18.04] — [15.01] —
D- CODg, n-g/l et _— — —_ _ — —_ — — — — — — —

SS m/t | 27.0 [ 26.5 [ 30.0 | 24.5 | 21.5 | 66.0 | 28.0 | 21.5 [ 29.5 | 27.0 [ 24.0 | 32.0 [ 37.0 | 8.5
NIBE R MN100n | 3, 3E+3 — 1. 7E+3 — 3. 3E+1 — 1. 3E+3 — 3. 3B+ — 1.1E+3 — 4, 9E+3 —

FETHERRS R f#/100n | 2.°68+1 — 7. 0E+0 — <1 — 1. OE+0 — 2. 0E+0 — <1 — <1 —
REFR(M mA sl 76213142 a5 1es] i3] eo 112120 ]1.20] 1.55 | 1.61
Y > (1P me/t |0.111 [ 0.092 [ 0.110] 0.094 | 0.095 ] 0.242 ] 0.143 [ 0.142 [ 0.182 ] 0.176 | 0.164 [ 0.136 [ 0. 204 | 0. 115
4 Z0) ug/1 — — — — — — — — lo.003] — — — — —

TAepMEERO-N | me/l [ 0.01 | 0.0 [ 0.02 [ 0.02 [ 0.03] 0.02]0.03] 0.01]0.07[002]004]002]0.27]0.01

dumsemR(o, N | e/t ] 0.024[0.016 | 0.022]0.011 ] 0.025 ] 0.009 [ 0,019 [ 6,000 [ 0.009 [ 0.001] 0.010 [ 0.012 [ 0.025] 0.015

wmsgR(0,-N | mA [ 1.10 [ 0.69 [ 1.15 [ 0.47 | 1.29 [ 0.09 [ 0.85 [ 0.00 | 0.18 | 0.00 [ 0.07 [ 0.08 | 0.19 | 1.05

BBEEH (N we/l | 1,13 o.72 [ 119 ] 0.50 [ 1.35 [ 0.12 [ 0.90 [ 0.01 [ 0.26 [ 0.02 ] 0.12 [ 0.11 | 0.49 | 1.08

HRIESLE( QY ne/l ] 0.85 | 1.05 | 0.93] 0.93]0.78 | 1.63 | 0.75 [ .11 | 1.33 ] 1.10] 1.09 | 1.07 | 1.06 [ 0.55

maptminERo o w [ 0.34 [ 0.24 [ 0.29 [ 0.29 [ 0.31 ] 0.42]0.37 [ 0.37 ] 0.51 [ 0.35 [ 0.45 [ 0.32 [ 0.40 | 0.29
writwmmsrce oo m/l | 0.51 [ 0.81 | 0.64 [ 0064 | 0.47 | 1.21 [ 0.38 | 0.74 [ 0.82 | 0.75 [ 0.64 | 0.75 [ 0.66 | 0.26

vampiegEnCo ™ | A | 1.47 1 0.96 | 1.48 | 0.79 | 1.66 | 0.54 | 1.27 [ 0.38 | 0.77 [ 0.37 | 0.57 | 0.43 | 0.89 | 1.37
pERC™N) m/t [1.98 ] 1.77 ] 212 1.43 ] 2.13 | 1.75 [ 1.e5 [ 1,12 | 1.59 [ 1,12 ] 1.21 [ 1.18 | 1.55 | 1.63

AyvEmEnro P | mA | 0.058] — [0.059] — Jo.051] — Jo.055] — o.0s8] — Jo.052] — Jo.134] — |

maennaeno ronl w1 | 0.005]0.000]0.0037 0.006 ] 0.005]0.006]0.005]0.003]0.01010.005]0.008]0.00570.051]0.038]

gty » (> | me/l | 0.018]0.018]0.013 [0.015] 0.017 | 0.022 [ 0.017 [ 0.020 [ 0.029 | 0.025 | 0.032 | 0.022 [ 0. 041 0. 064

vty o | met [0.093]0.074 ] 0.097]0.079 [ 0.078 [ 0.220 ] 0.126 [ 0.122 [ 0.153 | 0.151 [ 0.132 [ 0.114] 0.163 | 0. 051

SEGBHHE O m/l 141 — [us| = J1w.7] — — — — — — — — —

ABBERAE(TO) mH | 6.3 ] 57 | 5.4 [ 5.8 49 [1000] 48 7261 ] 6.6 [ 60/ 62]65] 45
BRECTO m/l | 2004] — [16.9] — [16.6 ] — — — — — — — — —

verpieagaeo | m/A | 4.3 | 4.3 [ 3.8 [ 48[ 3.8 ] 5.7 | 3.8 41 ] 45 [ 5.2] 55 ] 56/ 50/ 42]
wrbtmennce oo| m/l | 2.0 | 1.4 ) 1.6 | 1.0 | 1.1 | 43 ] 1.0 | 3.1 | 1.6 | 1.4 | 0.5 ] 0.6 | 1.5 | 0.3

Y REESK(D- Fe) m/ Jo04] — Joo0o6] — Joos|] — o003 — JToo0o3] — [ooo]|] — [o24] —

vt x> m) | me/l [0.0056] — [o0.006] — J0.007] — Jo.008] — fo.008] — TJo.006] — Jo.007] —
$5(Fe) g/t o048 — o[ — o447 — Joes| — Jo| — [os8] — [152] —

) me/l |0.047] — [0.0561] — [o0.058] — Jo0.095] — Jo.096] — TJo.069] — TJo.0o8] —
EES g |30.4] — [30.8] — [265.1 ] — [28.4] — [283] — J202] — [26.4] —
HBF(20C) ws/m [ 2331 — loda1t | — Totgl — 1226l — [26.3] — loaa7| — Ta 2] —

BN A w/l | 17.9 | — 16.3] — [147] — J14a2] — J150| — [16.3] — [15.8] —

~/xeoarg | mh | 707 — [ 6.564| — [58 | — [s564| — [6.04] — [592] — |58 —

pHe87AnUE | m/ | 602 — [ 524 — 499 — [s0.2] — [56.3] — [80.4] — [60.1 ] —
» H9. 0REIE m/l | 549 — [10.08] — [833] — [as| — |57 — 73] — wumn] =

p 119,07 VA Y B mg/1 — — — - — — — — — — — — — —

wr AV (02 | m/!l | 249 — [244] — 229 — [26.4] — [27.1 [ — [226] — [200] —

#fktprAa) | et | 304 — | 26.3] — | 20.6] — J220] — [25.5] — [26.8] — [26.1] —

Fh Y Y A(N) /A 220 — [ota] — 185 — J22.5] — [a243| — J229] — JT1w1] —
B (K m/t | 430] — [395] — [3561] — 395 — [4s5|[ — [473] — [456] —

#wys(rsio) | ma ot | — [2t.8] — [189] — [19.8] — T12.2] —Ti152] = Ta2e2]| —
sy & e/l [11.13] — [10.13] — | 854 — |1.88] — [3.73] — |e656] — [12.75] —

gmigr-a (Gl-a) | pe/t | 89.3 [ 130.0 92.7 [101.7 ] 93.5 [ 246.4 ] 155.6 [ 109.8 [ 140.4 | 110.7] 117. 0] 138.3 | 86.8 | 38.2

pmrrb (ai-b) [ wet | 1.8 | 1.9 | 4.2 [ 3.3 | 4.4 [16.2 [ 18.3 [ 175 [ 17.4 | 15.1 [ 13.0 [ 80 [ 13.5 [ 13.3

pmgie (Gl-o) | pest | 9.7 [ 25,7 | 17.3 [ 18.1 | 9.7 [ 57.0 [ 40.2 [ 49.1 ] 33.3 | 22.0 [ 31.8 | 32.9 | 20.3 | 20.5

TxA T4 T we/t 2000 47 ] 110 10.1| 85 [65.1[35.5] 3.5 [27.2 ] 23,9242 16.0] 26.8] 2.1

s amattn | o) [ 0.01] — Jo02] — Joo2] ~ Too2] —10603] — Joo3] — Joo2]| —

2 —MI B ng/! 11 9 7 7 9 16 32 110 | 180 31 18 11 4 2
VAR Y ng/l 4 6 8 9 13 10 23 32 31 14 2 4 2 2

AR | me/l — — — — — — — — — — — — — —

[FE3 BIOERB IIRAOIFILL Y Rk, 3.P-ON={ON)—(D-ON) 6.P-TP =(TP)—{(D-TP)




: KEER (£ 1-2) <EBE M - B —EMEE+EHAE -
B4 B KE4 FHRI {14 By il E L8 20064F)
H B | Bz | 8/2 | 8/16 | 9/15 | 9/21 | 10/4 | 10/18 | 11/1 | 11/15| 12/6 | 12/20 FOR (| B/ME | FHfE
X & a2 % [ & 2 2 [ a2 & &
kRl Wisy | 12:18]10:01 | 11:06 | 10:57 [ 11:00 | 11:26 | 12:50 | 11:568 [ 11:24 | 10: 21
2ARE m 3.82 [ 3.58 [ 412 | 3.72 [ 3.87 | 3.63 [ 3.70 | 3.62 | 3.72 | 3.67
Folkokig m 0.50 | 0.50 ] 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
&R C | 27.1]29.0] 255|267 23.5([22.1]229]183]12.8] 8.1
KO C | 26.4]27.9]23.2]2.0] 222 19.6]18.9] 157 ] 10.2 ] 8.6 27.9 | 3.1 [17.1
54 B KRD | KES | giew | x0n | &8 | S50 | ane | xen | agns| sooen
AR R | ER | mR | R | B2 | ER | ER | ER | B s
BRE em [ 13051151220 145 155 1 15.5 ] 13,01 20.8 ] 13.9
B m 0.54 | 0.55 | 0.53 [ 0.41 [ 0.41 | 0.43 ] 0.61 | 0.47 [ 0.66 | 0.51 0.69 | 0.30 [ 0.50
K 17 17 17 18 18 18 17 18 18 18
pH 8.0 | 79 | 80 | 81 | 7.7 85|89 | 91 [82] 091 9,5 | 7.6 | 8.5
Do wg/t 10,04 — — | 811 ] 9,91 — |13.42] — J12.38] — 15.67 | 5.73 | 11.38
BOD we/ | 420 — — [5m3l413 — 44| - 3.70 — 5.90 | 3.66 | 4.86
CODy, mg/l | 9.01 ] 7.85 | 8.39 [ 8.60 [ 8.72]8.00] 7.14 | 823 | 6.29 [ 8.93 14.11 | 6.02 | 8.83
D+ CODyy mg/t | 5.09 | 4.18 | 5,01 | 4.58 | 4.95 | 4.65 | 3.70 | 3.75 | 3.47 | 4.78 6.33 [ 3.47 [ 4.72
P COD,y me/! | 3.92 ]| 3.67 | 3.38 [ 402 3.77 ] 3.35] 3.44 | 4.48 [ 2,82 [ 4.15 9.16 | 1.49 | 4.10
CODg, e/l [17.65] — — |17.29]18.16] — J12.89| — [13.68] — 23.35]12.89] 17.76
D+ CODg, ng/l — — —_ — — —_ —_ _— —_ —_ — — —
ss me/l | 25.0 | 26.0 | 23.5 | 26.5 | 25.0 [ 36.0 | 17.0 [ 25.5 | 19.2 | 23.3 66.0 | 8.5 | 27.1
KSR % avioon | 3. 3B+4 |  — — |3.3E3[ 1 aEa| — 703 — [s.3m3] — 3, 3B+4 | 3. 3E+1 | 8. 7TB+3
SEEHERIBIRER | /100 | LGB+ — — |3.om+0f9.9¢1| — JrsErl| — [a2.2Bn1] — 9.2+ <1 [1L.6Br1
RER(TN me/l | 2,07 ] 1.23] 1.31 [ 1.71] 2.10 [ 2,04 | 2.57 [ 2.12 ] 2.70 | 1.57 2.70 [ 1.12 | 1,74
Y (1P mg/tl [ 0.160]0.158 ] 0.165 [ 0.103 | 0.142 [ 0.135 [ 0.090 | 0. 147 [ 0.092 | 0. 101 0.242 | 0.090 | 0.137
A Zn) mg/l 10.003] — — — — — Jo.001| — — — 0.003 | 0.001 | 0.002
EpsEE RN | m/1 | 0.06 ] 0.02 | 0.06 | 0.05 | 0.02 [ 0.02 | 0.01 [ 0.00 | 0,02 | 0.02 0.27 [ 0.00 [ 0.04
MREEEHNG-N | me/1 [0.037]0.153] 0,030 [ 0.103 [ 0.037 ] 0.070 | 0.038 ] 0.036 | 0.035 | 0.018 0.153 [ 0.000 | 0.031
mEkigER(NO, N [ w1 | 0.54 | 0.22 [ 0.19 | 0.64 [ 1.06 | 0.96 | 1.61 | 0.98 | 2.02 | 0.67 2.02 [ 0.00 | 0.67
ERERECIN g/l ] 0.64 ] 0.39 ] 0,28 [0.79 ]| 1.12 [ 1.05] 1.66 [ 1,02 | 2.08 | 0.71 2.08 [ 0.01 | 0.74
HHEER( DN we/t | 1,430 0.84 1 1,02 7109309701 0.99]0.91]1.09]0.60]0.91 1.63 | 0.55 | 1.00
gaptrmggExo o) mi | 0.63 [ 0.37 ] 0.33 ] 0.46 | 0.46 [ 0.26 | 0.43 | 0.18 | 0.10 | 0.21 0.63 | 0.10 [ 0.35
wrerhsgnee oo met | 0.80 ] 0.47 [ 0.69 | 0.47 [ 0.51 | 0.73 [ 0.48 | 0.91 | 0.50 | 0.70 1.21 [ 0.26 | 0.65
whetesgnco ™ | meit | 127 [ 0.76 [ 0.61 | 1.25 | 1.658 | 1.31 [ 2.09 | 1.20 [ 2.18 | 0.92 2.18 | 0.37 | 1.09
wERC™N e/l | 207 | 1,23 ] 1,30 | 1.72 ] 2,09 | 2.04 | 2.57 | 2.11 | 2.68 [ 1.62 2.68 | 1.12 | 1.74
A (PO -P | me/t 10,058 — — lo0.067]0.062{ — lo.047] — T{o0.004] — 0.134 | 0.004 | 0.059
o o [ me/t ] 0.020 [ 0.038]0.052 [ 0.014 ] 0.011 ] 0.013 [ 0.003 | 0.005 | 0.000 | 0. 006 0.052 | 0.000 | 0.013
wapttey >~ (0™ | me/t ] 0.044 ] 0.067 ] 0.071 [ 0,043 { 0.030 | 0.026 [ 0.013 ] 0.020 | 0.018 | 0. 016 0.071 ] 0.013 | 0.029
w7ty »Op- ) | me/l 0,116 0.091 [ 0.094 | 0.060 | 0.112 | 0.109 | 0.077 [ 0.127 | 0.074 | 0.085 0.220 | 0.051 | 0.108
BEEERE0Q e/l — — — — — — — — — — 14.1 | 10.7 | 12.1
ATHIRBRCTOD) g/l 41 | 50| 6.0 [ 5.4 | 5.8 | 5.7 | 5.4 [ 5.5 | 4.3 [ 6.0 10.0 | 4.1 | 5.8
BEECT /] — — — — — — — — — — 20.4 | 15.6 | 17.6
e EERED O e 3.2 | 44 ] 44| 39 ] 44| 3.2 ] 43 .9 | 2.3 3.4 5.7 [ 2.3 [ 4.3
T EEEECe @] e/l 0.9 | 0.6 | 1.6 | 1.5 [ 1.4 | 2.5 | 1.1 1.6 | 2.0 | 2.6 4.3 [ 0.3 | L6
FERRALER(D- Fe) m/t ] 0.05 | — — | 0.05 [ 0.04 — 0.02 | — 0. 04 — 0.24 | 0.00 | 0.05
wwapter U M) | me/t [ 0.004] — — [o0.005]0.004] — Jo0.004] — fo0.005] — 0.008 | 0.004 | 0.006
(Fe) e/t | 0.73°] — — 0.84 1076 | — |o0.49 ] — 0. 49 — 1.52 | 0.47 | 0.71
<2 9 (M) m/t 0.079] — — |o0.079{0.156| — [o0.044] — |o0.056] — 0.156 | 0.044 | 0.077
EIES i | 2.8 — — 20.3 | 24.4 — 16.4 | — 12.4 | — 30.8 | 12.4 | 23.7
HBR(207C) w/m | 205 | — — | 21.5 | 20.7 — 175 | — 17.4 | — 25.3 | 17.4 | 21.8
HALY B(C) e/l | 13.3 ] — — 15.2 | 14,5 — 12,8 — 14.2 — 17.9 ] 12.8 | 15.0
= 229 A(M) mg/t § 5,18 — — | 5.36 ] 5,28 — | 4.57 — | 4.89 — 7.07 | 4.57 | 5.64
pH4.87AbV & | m/l | 53.5 [ — —. | 55.3 | 50.8 — [440] — 39.7 — 80.4 | 39.7 | 54.4
p HO. 0RS(E m/t | 8.80 | — — 7.58 [12.07] — [2.88] — | 5.20 — 14.73 | 2.58 | 7.57
p HO.07 Al Y [ g/l — ~ — 4 — — — — — — -~ — —
g AV (s | mA | 19.4 | — — |o21.7{20.4] — ]20.2]| — 17.2 — 27.1 | 17.2 | 22,3
st 4@ | mt | 18,0 — — 24.5 | 17.5 — 19.3 | — 3.0 — 30.4 | 13.0 | 22.5
Fh U AN e/l | 15.6 | — — 18.5 | 17.1 — 12.3 — 13.5 — 24.3 | 12.3 [ 19.0
HY A m/t | 4.24 | — — | 431|514 — 3.96 | — 3. 49 — 5.14 | 3.49 | 4,22
YN sio) | men | 235 — — [23.3] 175 — 127 — | 20.8 — 26.2 [ 12.2 | 19.4
P2 E) e/t 14,78 — — |16.67]11.88] — [10.30] — [1s5.08] — 16.67 | 1.86 | 10.28
geazgia (Qil-a) | pg/t [ 105.7 ] 75.4 | 74.9 | 99.4 | 95.2 | 70.3 | 92.8 | 134.0| 94.3 | 160.4 246.4 | 38.2 | 110.5
yazqi-b (anl-b) | wg/t | 15.5 | 11.4 | 10.5 | 11.4 [ 14.4 [ 6.9 | 10.3 ]| 12.4 | 1.4 [ 0.1 18.3 [ 0.1 [ 10.1
gaozgbc (Gi-o) | pg/ | 15.1 ] 15.1 | 16.1 | 10.1 [ 18.6 | 9.5 | 21,0 | 19.8 | 16.6 | 27.8 57.0 | 9.5 | 23.2
JxA T4 TV ug/t | 25,9 ] 25.4 | 10.8 ] 46.1 | 17.2 | 9.1 [ 21.6 [ 24.0] 27.6 | 21.2 65.1 [ 2.1 | 21.1
B Ay Rt | met | 0,05 [ — — | 005|004 — 0. 03 — | 0.02 — 0.05 | 0.01 | 0.03
2 —MI B ng/1 3 6 13 10 7 4 6 7 3 5 180 2 21
TAAL Y ng/l 2 3 2 2 3 1 4 2 4 7 32 1 8
b o Apkis | e/l — — — — — — — — —~ — — — —
HE *HIO R B IXRAOFHIC LY Rdiz, 3.P-ON=(ON)—(D-ON) 6.P-TP =(TP)—(D-TP)

1LP-COD=(COD)—(D-COD)

2.1 N=(NH4-N) +(NO2-N)+(NO3-]

4.D-TN=(I N)+(D-ON)

5. TN=(1 N)+(ON)

7.TC=(I C)+(TOC)

8.P-0C=(TOC)~—(D-0C)




KEER (£D 2-1) <@ - W kD —EMAEHEMAE
BT BiE KRA FRI I jiz izl TR 18 (20064F)
H 2] B | 1/18 | 1725 | 2/8 | 2/22 | 3/8 | 3/27 | 4/19 | 4/26 | 5/10 | 5/24 | 6/14 | 6/21 | 7/5 | 7/26
REHCIN LB ng/l | 1,98 ] 1.76 [ 2,13 [ 1.42 | 2.11 | 1.75 | 1.65 | 1.13 | 1.60 [ 1.12 | 1.21 | 1.20 | 1.55 | 1.61
REFCIN FIF g/} — — — — — — — — — — — — — —
REHCIN TE mg/l | 1.87 — 1.98 — 2,22 — 1,61 — .37 | — 1. 47 — 1,47 —
@Y (D) L@ mg/) ]0.11110.092)0.110]0.094]0.095]0.242]0.143]0,.142]0.182]0.176) 0.164 | 0.136 | 0.204 | 0,115
@Y > (TP) thig mg/| — — — — — — — — — — — — — —
&Y~ (TP FE mg/l |0.1156] — Jo0.097| — Jo0.127 — |o0.194] — [0.175] — [0.192| — [o0.204] —
cOoD LR me/l | 9.41 ] 9.79 | 9.80 | 7.34 | 7.30 [ 14.11] 9.99 | 9.41 | 10.95] 9.53 | 8.41 [ 9.09 | 9.51 | 6.02
CODHE g/l — — — — — — — — — — — — — —
COD Fi g/l — — — — — — — — — — — — — —
AR Ak € | - [ =T - T -1 =T-"T-T-T-T-T-T-T-"1T-=
K@ C 57 [ 3.1 | 5.2 | 6.8 | 11,0 ] 11,1 | 147 [ 17.3 | 19.0 | 21.1 | 22.0 | 23.3 | 26.5 [ 28.0
0.5m| °C 57 | 3.1 50 | 6.8 109 ] 11.1 | 14.7 ] 158 | 18.6 | 21.1 | 22.1 | 23.3 | 26.6 | 27.3
1.om| C 57 [ 3.1 | 49 | 6.8 [ 904 [11.1]14.6 | 15,2185 ] 21.1 ] 22.0]23.3] 26,6 25.4]
2.0m| °C 5.6 | 3.1 .5 | 6.2 | 88 | 11.0 | 14.6 | 14,8 | 18.3 | 21.0 | 21.9 | 23.3 | 26.6 | 24.8
3.0m| °C 5.2 | 3.1 | 44 | 6.1 | 87 | 11.0] 145 ]| 14.7 | 18.2 | 20.6 | 21.7 | 23.3 | 26.6 | 24.6
4.0m| °C — — 4,2 — — — — — — — — — 26. 6 —
50m| °C — — — — — — — — — — — — — —
6.0m| C — — — — — — — — — — — — — —
K@ C 5.2 3.2 4.9 6.2 8.7 | 10.8|.14.4 | 14.7 | 18.0 | 20.2 | 21.5 | 23.0 | 26.6 | 24.4
*DO  Ak| mg/l — — — — — — — — — — — — — —
#i| me/l | 15.9 ] 13.7 | 15,3 [ 144163 [ 12,4 [ 12.4 | 12.4] 13.4 [ 12.4] 9.6 | 9.3 | 5.8 | 9.6
0.5m| mg/t | 16.1 ]| 14.0] 15.5 | 14.5 | 16.2 | 12.5 | 12.4 | 12.9 | 10.5 [ 12.4 | 9.6 | 9.3 | 5.6 [ 9.7
1.0m| mg/l | 16.2 [ 14.1 | 15,4 | 14.3 | 16.8 | 12.4 | 12.3 | 12,9 | 89 [ 12.2 | 9.1 | 9.0 | 5.5 | 8.9
2.0m| me/l | 16.3 | 14,1 | 15.4 | 13.7 | 14.7 | 11.9 ] 11.8 | 10.2 ]| 8.1 [11.3| 85 | 87 | 53 [ 7.1
3.0m| mg/t | 16.3 | 14.3 | 15,4 [ 12.6 | 14,2 [ 11.6 | 11.6 | 9.8 | 6.8 [ 9.8 | 6.8 | 8.2 | 5.3 | 6.2
4,0m| g/l — — |.14.3 — — — — — — — — — 5.3 —
5.0m ng/] - - - - - — - _ - - - - - -
6.0m[ ng/t | — — — — — - — — — — — — - —
EFE| m/l | 16.3 ] 14.3 ] 143 7.1 12,1 | 7.1 [ 11.4 ) 9.6 | 48 | 7.3 | 40 [ 45 | 5.3 | 5.9
AFRE Akk| Lux | 16050 | 41400 | 50400 | 16240 | 72500 | 10020 | 11730 | 45800 | 11021 | 34900 | 9420 [ 11730 | 6820 | 8790
#m| Lux | 14240 | 30200 | 34300 | 11730 | 48100 | 3040 | 7650 { 34100 [ 6860 | 26700 [ 7060 | 10020 | 3710 | 6590
0.5m| [ux | 2910 | 6790 | 5370 [ 3350 | 8780 | 323 | 754 | 8460 | 706 | 6470 | 1233 | 1385 | 346 | 2811
1.om| [ux | 729 [ 1332 | 1112 | 856 | 1549 | 41 213 | 1303 | 95 | 1202 | 240 | 200 30 | 1143
2.0m| Lux 49 130 57 56 75 0 53 119 3 30 12 5 0 | 154
3.0m| Lux 5 14 5 4 7 27 26 0 0 1 0 — 35
4,0m| [ux — 1 — — — — — — — — — — —
5. Om LUX _ - _ - - - - - - - - - - -
6.0m| Lux — — — — — — — — — — — — — —
Em| ux — — — — — — — — — — - — — —
ERE EORP w | 218 | 276 | 120 | 141 99 -97 | -170 | 198 | 286 26 196 | 167 89 183

%%

* DOIDOFHZ X % JIER R




BER (0 2-2) <ER M D —EHHEREEAE -
| BlHlpT4 i K% FAR) )14 g SERR1BAE( 20064E)
" H BAT | 8/2 | 8/16 | 9/15 | 9/21 | 10/4 | 10/18 | 11/1 | 11/15| 12/6 | 12/20 R | Fe/IME | EEE
BER(IN LB mg/l | 2,07 [ 123 1,31 | 1.71 [ 2.10 | 2.04 [ 2.57 | 2.12 | 2.70 | 1.57 2,70 | 112 [ 1.74
parNeE | w1 | — — — — — — — — — — — - — |
REF(TN TR m/t | L8t ] — — 17023 ] — JTae] — 2] — 2.93 | 1.37 ] 1.95
Y > (TP) L& me/l | 0.160]0.158 [ 0.165] 0.103 [ 0.142 | 0.135[ 0.090 [ 0.147 [ 0.092 [ 0.101 0.242 | 0.090 | 0, 137
®Y (1D P e/l — — — — — — — — — — — — —
@Y (D) FE m/l [0.159] — — Jo117{o107] — Jo.095] — Jo.103] — 0.204 [ 0.095 | 0. 140
COD LA me/l | 9.01] 7.85 | 8.39 [ 8.60 | 8.72 [ 8.00 | 7.14 | 8.23 | 6.29 | 8.93 14.11 [ 6.02 | 8.83
COD Y me/1 — — — — — - - — - — — — —
CODTFHE mg/! — — — — — — — — — — — — —
KR KE C — — — — — — — — — —
#m| Cc [ 265 27.8 [ 23.2] 25,0 [ 22.2 [ 19.6 [ 19.8 ] 15.7 [ 10.3 ] 8.6
05m| C | 26.4 | 27.9] 23.2] 25.0 | 22.2 ] 19.6 | 18.9 | 15.7 | 10.2 | 8.6
L.om| C |262]27.8[ 232 249 22.1 [ 19.5]18.4 [ 156 [ 10.1] 8.6
2.0m| °C [ 25.7[27.9] 23.2 ] 24.8 [ 21.8] 19.5 [ 18.0 | 15.3 | 10,0 | 8.6
3.0m|{ C | 255 27.9]23.2] 246 [ 21,7 19.6]17.9[16.3] 9.7 | 8.6
4.0m| C — — 23.2 — — — — — — —
5. 0m C — — — — — — — — — —
6. 0m C — — — — — — — — — —
B C | 26,3279 23.1 [ 246 ] 21,7 19.5[17.9]15.3] 9.5 | 8.6
*DO K E| me/l — — — — — — — — =
#m| g/l | 8.4 | 6.5 | 89 | 85 | 8.4 | 9.9 | 141 [ 11.9] 11.8]11.7
0.5m| mg/l | 8.4 [ 6.4 | 88 | 85 [ 86 | 9.7 | 13.9 [ 11.9 | 11.7 | 11.8
1.0m| mg/1 | 81 | 6.2 [ 8.8 | 8.4 | 84 | 9.5 | 12.8 ] 11.9 [ 11.7 [ 11.7
20m| g/t 1 6.2 1 6.1 | 86 | 7.9 | 7.2 | 9.5 | 11.1 | 11.2 | 11.3 | 11.7
3.0m| m/l | 5.9 | 61 ] 85 [ 7.2 68| 9.4 [10.8] 11,2 ] 11.1 ] 11.6
4,0m| me/l — — 8. 4 — — — — — — —
5,0m| ng/i — — — — — — — — — —
6.0m| ng/l — - — — — — - - = =
EE| m/l | 5.7 [ 6.1 [ 8.4 | 7.2 [ 6.8 [ 9.4 [10.0] 11,2 ] 11.0] 115
AoeEE Ak Lux | 35600 | 42700 | 15850 | 74000 | 24330 | 16320 | 45500 | 76100 | 17760 | 9760
#im| Lux | 28208 [ 27210 | 10900 | 42000 | 13280 | 13020 | 27000 [ 35000 | 12900 | 6540
0.5m| Lux | 6100 | 5750 | 2086 | 5030 | 2648 | 1682 | 9070 | 7370 | 2560 | 1567
1.om| Iux | 1085 | 676 | 595 [ 903 | 318 | 307 | 2708 | 1251 | 743 | 378
2.0m| Lux 40 22 15 26 40 11 177 49 70 41
3.0m| Lux 1 0 3 4 17 0 14 3 6 13
4.0m| Lux — — 0 — — — — — — —
5.0m Lux _ — _ — _ — _ — _ -
6.0m| Lux — — — — — — — — — —
G| Lux - — — — — — — — — —
EEE EORP v | 246 | 112 50 93 199 | 136 | 123 16 240 | 117

%
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LP-COD=(COD)—(D-COD)

4. D~TN=(I N)+(D-ON)

7.TC=(I C)+(TOC)

8.P-OC=(TOC)—(D-0C)

) KEER (XD 1-1) <MD —EHREIHMAE -
B4 WL R FURJ [JH 4 By SR 184E( 20064F)
=2 H By | 1/18 | 1/25 2/8 2/22 3/8 3/27 | 4/19 | 4/26 | 5/10 | 5/24 | 6/14 | 6/21 7/5 7/26
El £ | w | w | = | W | wm | B | W | m | w | & | & | B | W
kKA W4y | 8:55 | 7:47 | 9:04 | 8:40 | 8:11 | 8:30 | 7:24 | 8:27 | 7:56 | 9:25 | 7:08 | 9:24 | 8:00 | 8:20
BRI mn 5.98 ] 5.98 | 6.05 | 6,23 | 5.89 | 6.41 5.92 | 6.12 5.91 | 65.85 | 5,89 | 5,90 5,82 | 6.11
AR m 0.50 | 0.50 | 0,50 { 0.50 | 0,50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 { 0.50 | 0.50 | G.50 | 0.50
iR T 4.1 2.8 4.7 9.1 7.5 11.9 | 12,6 | 14.5 | 17.8 | 25.9 | 22.9 | 21.5 | 24.8 | 29.0
KR C 4.0 2.8 3.7 5.8 7.9 10. 2 12.6 14.1 17.2 | 20.5 | 21.1 22.6 [.25.7 | 25.9
4 Bl weE | wem | sooen | ses |socen | see | sen | ses | see | wee | ses | ses | ses | wes
R R #HR) s | Esl | mR | &R | ER | ER | &R | ER | R | SR ) ER | SR | ER | &R
BRLE cm 21,9 | 10.9 | 15.5 | 11.5 | 10.5 6.0 11.5 | 10.5 | 19.0 | 17.5 | 26.0 | 33.5 | 23.0 | 33.5
BB m 0. 72 0.37 | 0.47 | 0.64 | 0,49 | 0.32 | 0.31 0.52 | 0.59 | 0.85 [ 0.82 1.02 0.69 | 0.91
KO 17 17 17 16 17 17 17 17 18 17 17 17 18 18
p Il 7.3 8.1 7.6 8.2 8.1 8.9 8.1 8.0 8.1 8.1 8.0 8.2 7.8 8.4
DO ng/l 13.13 — 13, 34 — 14, 07 — 10. 65 — 9,50 — 8. 56 — 6. 92 —
BOD mg/| 2.79 — 3.31 — 4,84 - 2.64 — 3. 02 — 2,32 — 2.53 -
CODyn ng/l 7.33 7.59 | 8.94 | 7.64 | 9.87 [ 12.77| 8.37 | 7.01 7.37 | 5.58 | 6.48 6.71 6.66 | b.56
D*» CODy, me/l 4.70 | 5.23 | 5.43 | 4.63 | 5.25 | 5.10 | 4.81 3.95 | 4.56 | 4.26 | 5.58 | 4.34 | 5.15 | 4.29
'P: CODy, e/l 2.63 ] 2.36 | 3.51 ) 3.01 | 4.62 | 7.67 | 3.56 | 3.06 | 2.81 1.32 ] 0.90 | 2.37 1.51 1.27
COD¢, ng/l — — — — — — 21.32 — 14.94 — 9.93 — 13.18 —
D' CODg, rrg/] — — —_ — — —_ —_ _ —_ _ —_ — — —_
ss g/l 13.5 | 25,5 | 24.5 | 32.0 | 32,0 | 59.5 | 41,5 [ 39.0 | 18.0 | 13.0 | 12.5 | 10.0 | 14,0 6.5
KIBTERELK svioond | 1,381 — [7.9B+1] — [tL7Er1| — [7.9R2| — [2.3m2| — [2.3B2| — [2.3E#3] —
sExEitg [ maoa | < — <1 — | « — <1 — <1 — <1 — <1 —
BER(TN g/l 0. 83 0.90 1.08 1. 05 1.09 1.12 | 0.81 0.81 | 0.63 ] 0.55 { 0.65 | 0.58 | 0.67 | 0.64
#Y (TP mg/1 0.076] 0.090 | 0.098 | 0.118{0.121 {0,168 { 0.133] 0.135{0.091] 0.077]0.083 | 0.070] 0.081 | 0,071
A Zn) ng/| — — 0. 002 — — — 0, 003 — 0. 002 — 0. 028 — 0. 021 —
TEYHEER(NG-N | mg/ 0.02 ] 0.01 | 0.02 [ 0.02 ] 0.05 ] 0.02 | 0.04 ] 0.01 | 0.03 | 0.02 | 0,03 | 0.02 | 0.09 | 0.01
EHBEBEHNG N mg/1 0.004 ] 0.004 | 0.005 | 0.006 [ 0,003 | 0.002 | 0.003 | 0.002 | 0.001 | 0.000 | 0.001 | 0.000 | 0.007 | 0.009
FHRRIBZER(NO, -N mg/l 0.12 1 0.10 ) 0.16 | 0.03 | 0.01 | 0.00 | 0.08 | 0.00 | 0.00 | 0.00 | 0.01 | 0.00 | 0.01 | 0.03
EREEHECIN g/l 0.14 | 0.11 | 0.19 | 0.06 | 0.06 | 0.02 | 0.12 | 0.01 0.03 | 0.02 | 0.04 | 0,02 0.11 0. 05
FBEER( N mg/1 0.68 | 0.80 | 0.89 | 0.98 | 1.01 | 1.11 | 0.71 | 0.81 | 0.60 | 0.53 | 0.61 | 0.54 | 0.54'| 0.59
EAEARIRER(D QY| me/l 0.38 | 0.33 ] 0.37 | 0.38 ] 0.40 | 0.41 | 0.39 | 0.39 | 0.38 | 0.34 | 0.38 | 0.25 | 0.36 | 0.25
B RiEERCe | m/l 0.30 | 0.47 | 0.52 | 0.60 | 0.61 0.70 | 0.32 | 0.42 0.22 | 0.19 | 0.23 0.29 | 0.18 | 0.34
BEERERCD ™ | m/l 0.52 | 0.44 | 0.56 | 0.44 | 0,46 | 0.43 | 0.51 0.40 | 0.41 0.36 | 0.42 | 0.27 ] 0.47 | 0.30
rEHRCMN g/t 0.82 | 0.91 1.08 | 1.04 | 1.07 | 1.13 | 0.83 | 0.82 | 0.63 | 0.55 | 0.65 | 0.56 | 0.65 | 0.64
ALY EENEY A PO, -P) g/ 0. 030 — 0. 051 — 0. 067 — 0,079 — 0. 035 — 0, 030 — 0. 049 —
TR IRERO> PO -R | e/l 0.003 1 0.003 ) 0.003 ] 0.010 ] 0.006) 0.008 ] 0.006 | 0.007 | 0.003 | 0.005 | 0,006 | 0.008 | 0.024 | 0.011
RAHER) (D D) g/l 0,016 0.018[0.015[ 0.026 | 0.023 | 0.019 | 0.020 | 0.021 | 0.014 | 0.018 | 0.023 | 0.019 | 0. 059 | 0. 027
HEERY (P TR | ng/) 0.060 | 0.072(0.083 | 0.092 (0,098 [0.149(0.113]0.114]0.077]0.059] 0.060 | 0.051 | 0.022 | 6. 044
EEmEREUQ g/l 15.3 — 13.4 — 13.5 — — — — - — — — -
FRIERFR(TA) g/l 6.9 6.0 4.7 6.1 6. 8.2 5.7 6.0 4,8 5.0 5.5 5.2 4.6 4.4
BEHRCTO g/l 22,2 — 18.1 — 20.1 — — — — — — — — —
AR RIBREND O e/ 4.9 4,2 4.0 5.1 5.0 5.1 4.5 3.6 4.1 4.6 4.5 4.7 4.5 4.0 |
Bt gEnsECe | m/ 2.0 1.8 0.7 1.0 1.6 3.1 1.2 2.4 0.7 0.4 1.0 0.5 0.1 0.4
FRAES( D Fe) mg/1 0.07 — 0.11 — 0.12 — 0.08 — 0.00 — 0.00 — 0.09 —
ALY Y (D M) g/l 0. 004 — 0. 007 — 0.015 — 0. 006 — 0. 007 — 0. 005 — 0. 005 —
#(Ie) g/l 0.42 — 0,61 — 0. 67 — 1.19 — 0. 42 — 0.30 — 0. 60 —
= H (M) g/l 0.024 — 0. 043 — 0, 068 — 0.110 — 0. 075 — 0.049 — 0. 051 —
R 1 14.3 — 21.9 — 31.1 — 28.7 — 15.7 — 10.7 — 10.3 —
HEHR(207C) nS/m | 27.4 — 29.7 — 28.2 — 28.3 — 30.5 — 29.8 — 30.2 —
H iy s Gr) me/| 19.2 — 17.4 — 16.6 — 16,0 — 16. 4 — 18.2 — 19,2 —
<2y H(M) g/l 7.98 — 7.74 — 7.59 — 7.08 — 7.27 — 6.98 — 7.11 —
p H4.87 v Y [ g/l 58. 8 — 54.7 — 61.7 — 56.0 — 59.5 — 62.7 — 65.9 —
p HO, ORRHE g/l 10. 97 — 11. 89 — 8.33 — 4.76 — 6.97 — 8. 54 — 12,15 —
p Ho. 07 vV B me/l — — — — — — — — — — — — — —
MEAAv (500 | mnt | 29.4] — |304] — [27.4] — Vase| — [300] — Vag1] — {286 —
i (a) | wn | 4.6 | — |30.7| — |33.7| — |36.1| — |36.9| — |35.5] — | 448 —
Frovae) | mA | 28.4| — | 300 — |287| — | 298| — |[3.7] — | 298] — |30.5] —
7 7R00 m/ | 514 — |603] — [493] — [497| — [s20] — [537] — |647| —
BYUATS0) | m/ | 23.3] — |26.1| — |244] — [245| — |97 | — |88 | — |i121| —
Wy 7 m/ |14.76] — |10.80] — | 7.44| — |2.41] — | 23| — |312| — |43 —
yeerara (Gi-w) | pg/l | 69,7 | 74.8 | 69.8 | 110.8| 106.2 | 110.2 | 58.0 | 70.9 | 40.7 | 25.2 | 35.7 | 38.0 | 24.1 | 56.4
pmrgie (Gi=b) | ug/t | 1.9 | 1.5 | 3.1 | 3.2 | 4.1 | 13.3 | (1.4 | 15.3 | 8.9 | 9.5 | 5.7 | 9.3 | 8.8 | 10.6
pomrgis (il | ng/ | 0.9 | 7.8 | 7.7 | 8.1 | 0.5 | 52,1 | 25.4 | 38.4 | 24.7 | 20.3 | 18.0 | 23.7 | 21.5 | 16.8
7 AT ATV ug/l 1.9 2.1 16.0 1.6 23.1 | 24.3 ] 22.7 ] 24.3 14.1 | 11.2 9.9 9.1 11.6 9.9
BEA A RETE R g/l 0,01 — 0,03 — 0,03 - — 0,02 — 0,02 — 0, 02 — 0,02 —
2 —MI B ng/l 6 6 7 5 4 15 10 16 24 11 8 6 5 2
VARV ng/1 5 4 10 8 13 15 10 7 20 8 6 10 6 2
Ha T RS /\ — — — — — — — — — — — — — —
{%? ENIDOHE HITR RO EIZ LY Rdi-, 3.P-ON=(ON)—(D-ON) 6.P-TP =(TP)—(D-TP)

2,1 N=(NH4-N)+(NO2-N)+(NO3-1 5 TN=(I N)+{(ON)



<L

— KEER (2D 1-2) —EHHAERMEE - .
BRI Wt KFA FIARI (IES - TR 18HE(20064E)
H B Bz | 8/2 | 8/16 | 9/15 | 9/21 | 10/4 | 10/18 11/% 11/15 | 12/6 | 12/20 B | B/ ME | T
B & i I ] & 2 i [ i &
Bk W5y | 8:00 | 8:05 | 8:00 | 8:08 | 7:59 | 9:16 | 9:50 | 8:39 | 8:30 | 8:40
DR m 5.90 | 5.97 | 6.21 | 5.82 | 5.94 | 6.16 | 6.02 | 5.80 | 5.95 | 6.10
FRARKER m 0.50 | 0.50 | 0.50 | 0.50 [ 0.50 [ 0.50 | 0.50 | 0.50 [ 0.50 | 0.50
i C | 23.7] 260 25.0] 259 | 225 [ 22.1 [ 1890153 5.7 | 64
KR T 24.8 | 27.0 | 23,6 | 23.7 | 21.8 | 19.4 | 17.7 | 15.2 | 10.6 8.9 27.0 2.8 16.1
4 B RIEBE | AE | RER | KISE | RIBE | K | NI0E | REE | feE | mRE
R K[R(ER) R | EBR [ ER | ER | &R | ER | ER | R | &R | BER
BRI em | 23.3 ] 24.4 ] 17.5 | 20,5 | 27.5 [ 21.0 [ 21.0 [ 15.5 | 20.5 | 20.5
BRI m 0,83 ] 0.90] 0.78 | 0.60 | 0.80 | 0.81 | 0.77 | 0.62 | 0.77 | 0.78 1.02 | 0.31 | 0.68
Ko 18 17 17 17 18 17 17 17 18 18
p H 8.0 8.4 8.1 8.4 7.8 8.8 8.8 8.7 8.4 8.6 8.9 7.3 8.2
Do g/l | 891 . — — | 872|831 [ — [1l.84] — [1L.06[] — 14.07 | 6.92 | 10.42
BOD w/t | 2.11 [ — — | 1.86 [2.03] — |287] — [344] — 4.84 | 1.86 [ 2.81
CODy, me/l 6.44 | 6.84 | 6.88 | 7.58 | 7.33 | 6.71 | 7.74 | 7.07 | 7.54 | 7.91 12.77) 5.56 | 7.50
D: CODy, mg/] 4,77 | 4.78 | 4.57 | 4.86 | 5,58 | 4.55 | 4.36 | 3.77 | 5.12 | 5.26 5.58 | 3.77 | 4.79
‘P CODyyy mg/t | 1.67 | 2.06 | 231 [ 2.72 [ 1.75 | 2.16 | 3.38 ] 3.30 [ 2.42 [ 2.65 7.67 | 0.90 [ 2.71
CODc, ng/l 13.13 — — 14,56 | 14.28 — 13.51 — 14,30 — 21,32 9.93 | 14.35
D+ CODg, /! — — — — — — — — — — — — —
Ss g/t | 12.0 | 15.0 [ 16,5 [ 15.5 [ 13.5 [ 14.0 | 17.0 [ 20.5 [ 17.2 | 13.7 59.5 | 6.5 | 20.7
KEGHIREK wvioon [ 1,36k | — — Juriem[7 03] — [3.3m2| — [7.0ms| — 1.3B+1 | 1. 3B+1 | 2. 8E+3
W ABIEREN | @/100n | 5,641 | — — <1 |2.381] — [e6.0Br0] — [3.8Er1| — 5.68+1] <1 [1. 0B+
REH(IY g/t | 0.80 | 0.73 [ 0.82 [ 0.75 | 0.85 | 0.92 | 0.86 | 0.88 | 0.65 | 0.63 1.12 | 0.55 [ 0.80
@ (1) me/l ] 0.086 ) 0.131] 0.107] 0.127 ] 0.100] 0,089 | 0.087 ] 0. 113 | 0. 078 | 0. 072 0.168 | 0.070 0.100
HEHA( Zn) mg/1 0.001 — — 0.002 | 0.002 — 0. 001 — 0. 001 — 0.028 | 0.001 | 0.006
TADMBERNG-N | g/t 0.01 ] 0.01 | 0.03 | 0,00 | 0.02 | 0.03 | 0.02 | 0.00 | 0.02 | 0.02 0.09 | 0.00 | 0.02
AHEBERNG-N [ me/1 [0.012]0.002] 0.003 [ 0.000 [ 0.002 | 0.016 | 0,001 | 0. 000 | 0. 000 | 0. 000 0,016 | 0.000 | 0.003
mimmEEENa-N | ma | 0.09 [ 0.00 [ 0.01] 0.00 [ 0.00] 0.07 [ 0.007] 0.01] 0.007] 0.00 0.16 | 0.00 [ 0.03
SEEEHECIN g/l 0,11 ] 0.01 | 0.04 | 0.00 | 0,02 | 0.12 | 0.02 | 0.01 0.02 | 0.02 0.19 | 0.00 | 0,06
HEBLE( QY ng/l 0.68 ] 0.71 1 0,76 | 0.74 ] 0.82 | 0.80 | 0.83 | 0.87 | 0.61 | 0.61 1.11 | 0.53 | 0.74
BRMEATRBER(D M| m/ 0.52 ] 0.32 ] 0.33 | 0.43 | 0.41 ] 0.33 ] 0.34 | 0.13 | 0.33 | 0.21 0.52 | 0:.13 | 0.35
A RRERCP )| e/l 0.16 | 0.39 | 0.43 | 0.31 | 0.41 | 0.47 | 0.49 | 0.74 | 0.28 | 0.40 0.74 ] 0.16 | 0.39
ragrbesg (> ™y | m/t | 0.63 [ 0.33 [ 0.37 ] 0.43 | 0.43 ] 0.45 [ 0.36 [ 0.14 | 0.35 [ 0.23 0.63 | 0.14 [ 0.40
REHRC'™N mg/l 0.79 1 0.72 ) 0.80 | 0.74 | 0.84 | 0.92 | 0.85 | 0.88 | 0.63 | 0.63 1.13 | 0.55 | 0.80
AwyuEsiE(Po, P | m/t | 0.033] — — Jo.028]0.031] — Jo.034] — [0.004] — 0.079 | 0.004 | 0.039
AHEPHL A D PP | me/) 0.0081{0.011]0.027] 0.006 | 0,012 | 0.008 | 0.000 | 0.003 | 0.000 | 0.004 0,027 | 0. 000 | 0.008
gy (o) | me/t ] 0.024 [0.029 [ 0.041]0.032] 0.024 [ 0.021 [ 0.012[0.015 | 0.014 [ 0.014 0.059 [ 0.012 [ 0.023
wrkesy o | me/l [ 0,062 ]0.102 ] 0.066 [ 0.095 ] 0.076 [ 0.068 | 0.075 | 0.098 [ 0. 064 [ 0. 058 0.149 | 0.022 ] 0.077
SERBRE(O g/l — — — — — — — — — — 15.3 | 13.4 | 14.1
ATHRE R (TAD g/l 4.1 4,4 5.3 5.4 5.0 5.3 6.1 5.5 5.2 5.3 8.2 4,1 5.5
Br#ECTO mg/1 — — — — — — — — — — 22.2 | 18.1 | 20.1
rgptorgmieeo o w4 | 40 | 43 [ 40 4.2 ] 46 ] 3.4 [ 40 3.9 ] 3.3 .4 5.1 | 3.3 [ 42
wriiaRsssECe ol m/l 0.1 0.1 1.3 1.2 0.4 1.9 2.1 1.6 1.9 1.9 3.1 0.1 1.2
VEARPESK(D- Fo) /!l | 0.03] — — Joo02]o003] — Jooo] — Jooo]| — 0.12 | 0.00 | 0.05
gt (o ) | me/t | 0,003] — — [o0.003[0.007] — TJo.004] — [0.005] — 0.015 [ 0,003 [ 0. 006
#%(Fe) g/l 0.26 — — 0.32 | 0.30 — 0. 28 — 0, 22 — 1.19 | 0.22 | 0.47
=V (M) g/l 0. 035 — — 0,039 0.103 — 0.033 — 0. 060 — 0.110 ([ 0.024 | 0.058 |
& K )3 9.9 — — 12.8 9.8 — 13.8 — 10.5 — 31.1 9.8 15. 8
WERK(20°C) nS/m | 28.8 — — 29.2 | 28.4 — 25.7 — 25.3 — 30.5 | 25.3 | 28.5
HAYY () mw/l | 16,1 — — |1Bef[181 ] — 187 — 16.5 | — 19.2 [ 15,7 | 17.3
~J R (M) ng/1 7.01 — — 7.30 | 6.82 — 6.19 — 6. 53 — 7.98 | 6.19 | 7.13
p H4.87 ) [ g/l 63,1 — — 66.0 | 64.1 — 59.0 — 54.6 — 66.0 | 54.6 | 60.5 |
p HO. 0 e/l (10,79 — — | 559 [12.27] — [3.04] — [4as0] — 12.27] 3.04 | 8.34
p HO. 0P ) B me/1 — —_ b —_ b i b — — — — — —
FillA A (5,2 7) m/t | 24.9 — — 26.5 | 25.7 — 23.9 — 19.6 — 30.4 | 19.6 | 26.9
A A (AT g/ 35.7 — — 37.5 | 36.1 — 32.7 — 34.3 — 44.8 | 32.7 | 37.0
FhY AN m/ 211 ] — — |l2r9 275 — ]23.8] — 26.7 | — 31.7 ] 23.8 | 28.4
HY 9 H(K e/l 5.14 — — 5.41 | 5.30 — 5.15 — 5. 06 — 5.47 | 4.93 | 5.18
Yy (rsioy) | wi [ 18] — — |812{s532( — Jeu1| — (721 — 26.1 | 5.32 | 14.0
) ng/1 8. 26 — — 2.66 | 0.93 — 1.54 — 0.42 — 14.76 | 0.42 | 4,92
yon740-a (Chl -a) g/l 54.2 | 61.5 | 61,7 | 63.2 | 54.4 | 69.6 | 81.3 | 80.8 | 59.1 | 53.1 110.8 | 24,1 | 63.7
28740-b (Chl -b) u g/l 10.5 9.9 8.1 9.8 8.2 8.2 8.2 7.5 1.5 0.2 15.3 0.2 7.4
yuuZgi-c (Chl-c) g/l 16.0 | 13.6 | 25,2 | 20.2 | 20.2 9.0 15,7 | 14.1 9.1 4,3 52.1 0.5 17.2
TaxA74 FV g/l 13.1 1.1 7.1 17.1 4,4 5.9 19.2 | 18.3 | 16.4 6.1 24.3 1.1 12. 1
gt REweR | wen 10,04 [ — — 1003 o002 — Tooz] — Toot] — 0.04 | 0.01 ] 0,02
2 —MI B ng/l 3 15 7 10 - 7 3 4 3 3 3 24 2 8
JAAL v ng/i 2 6 2 2 2 1 1 2 6 9 20 1 7
KRN s AR /1 — — — — — — — — — — — — —
%% *HIOE R IFRAOHAIZL Y Kb, 3.P-ON=(ON)~(D-ON) 6.P-TP=(TP)—(D-TP)

v

1.P-COD=(COD)—(D-COD)

4.D-TN=(1 N)+(D-ON)

7.TC=(I C)+(TOC)
8.P-0C =(TOC)—(D-0OC)

2.1 N=(NH4-N)+(NO2-N)+(NO3-1 5TN=(I N}+(ON)



KEFER (£02-1) <ML > —EMAEFEMMAE - ‘

BAPTA W K54 FER) )l By AR 184E( 20064F)
B B | Bz )18 1/es | a8 | 2/22 | 3/8 | a/27 | 4719 | 4726 | 5/10 |'5/24 | 6714 | e/21 | /5 | 7/26
W™ 8 | mg/l | 0.83 | 0.90 | 1,08 | 1,05 | 1.09 | 1.12 | 0.81 | 0.81 | 0.63 | 0.55 | 0.65 | 0.58 | 0.67 | 0.64
wER(NYH | m/l | 075 | — |09 | — |1.00| — |08 — |o60| — [o056] — |o062] —
RERMNTE | me/l |08 | — | too]| — |ro2| — [o9]| — [o6l| — |o05]| — |o062]| —
# (M EE | mg/l |0.076]0.090] 0,098 ] 0.118 ] 0.121 [ 0.168] 0.133 | 0.135 ] 0.091 | 0.077 | 0.083 ] 0.070 | 0.081 | 0.071
wiocmed | mg/l |0.076] — 0087 — |o0.120] — lo0.126] — [0.092] — [o0.084] — [o0.083] —
w (R | me/l |0.078] — o089 — Jo18] — Jo1a47] — Jo.097] — Jo.084] — [o.086] —
COD LR mg/l | 7.33 | 7.59 | 8.94 | 7.64 | 9,87 | 12.77] 8.37 | 7.0L | 7.37 | 5.58 | 6.48 | 6.71 | 6.66 | 5.56
CODH me/l | 6.93 | — |83 | — [927] — [841]| — 717 — [6.09] — [6.30] —
CODTA m/t |73 = |88 — [919] — [879] — (70| — [625] — [|6.26] —
KR Kkl C — — — — — — — — — — - — —
®@ C | 41 | 28 | 37 [ 6.0 | 7.9 [ 10.2 127|141 | 17.2 ] 208 21.2 1 226 | 25.7 | 25.9
0.5m| C | 40| 28 [ 3.7 [ 58 | 79 | 102|126 [ 141 17.2] 205 [ 21.1 [ 226 | 25.7 | 25.9
Lom| C | 40 | 28 | 3.7 | 5.6 | 7.8 | 10.2 | 126 [ 13.9 | 17.2 | 20.2 [ 21.1 | 22.6 | 25.7 | 25.4
20m] C [ 40] 28] 36 | 55 | 7.7 | 10.2 [ 12.6 [ 13.6 | 17.1 [ 19.9 | 21.1 | 22.6 | 25.7 | 25.0
3.0m| °C | 3.9 | 28 | 3.6 | 5.4 | 7.7 | 10.2 | 12.6 | 13.5 | 17.1 | 19.9 | 21.1 | 22.6 | 25.7 | 24.9
40m| °C | 39 | 28| 35 | 5.4 | 7.7 [ 10.2 | 12.6 | 13.5 | 17.1 | 19.9 | 21.1 | 22.6 | 25.7 | 24.9
5.0m] C | 3.9 | 28 | 3.5 | 5.4 | 7.7 | 10.2 [ 12.5 | 13.5 | 17.1 | 19.6 | 2.1 | 22.5 | 25.7 | 24.9
6.0m| C — — [ 35|54 = 1] — |35 — = — — — [ 248
EE C | 3.9 | 28| 35 | 5.4 | 7.7 | 10.1 | 12.2 | 13.5 | 16.9 | 19.5 | 21.1 | 22.3 | 25.6 | 24.8
*DO AL me/l | — — — — — — — — — — — — — —
#@| e/t [ 16,2 (2] 1@olws{mol1wr7{1w03] 9994 1285 ]| 81]69]113
0.5m| mg/l | 15.3 | 13.0 | 14.0 | 13.8 | 13.1 | 10.7 [ 10.2 | 9.8 | 9.3 | 11.1 | 8.5 | 8.1 | 6.9 | 11.2
1.om| mg/l | 15.2 | 12.9 | 13.8 [ 13.5 | 13.1 [ 10.5 | 10.1 | 9.6 | 9.2 [10.8] 8.3 | 80 | 6.8 | 11.1
2.0m| mg/l | 15.2 [ 12.8 | 13.7 | 12.7 [ 12.8 | 10.3 | 9.9 | 9.1 | 88 | 10.2 | 8.1 | 7.9 | 6.6 | 9.7
3.0m| mg/t | 15.3 [ 12.8] 13.7 [ 12.4 ] 126 | 10.0]| 9.8 | 8.9 | 8.7 | 9.4 | 8.0 | 7.8 | 6.6 | 8.9
4.0m| mg/l | 15.5 | 13.0 | 14.1 | 12.3 | 12.6 | 10.1 | 9.8 | 9.0 | 88 | 9.3 | 8.6 | 7.8 | 6.7 | 8.8
5.0m| mg/l | 15.7 | 13.4 | 14.2 | 122 | 128 [ 10.1 | 10.0] 9.2 | 89 | 9.1 | 7.9 | 7.2 | 6.8 | 8.7
6.0m| mg/l | — — |44 120] = Jwo] = | 93| = — — — — | 7.8
EfE| me/l | 15.5 | 13.6 | 14.4 | 12.0 | 12.8 | 8.8 | 9.0 | .85 | 8.4 | 8.2 | 7.8 | 6.3 | 6.8 | 7.8
AHRE ALK Lux | 11970 | 8550 | 45000 | 31100 | 33600 | 13370 | 6530 | 12800 | 9550 | 33300 | 10580 | 7160 | 19200 | 8370
#iE| Lux | 9230 | 6554 | 32300 | 12870 | 24980 | 3320 | 4200 | 4230 [ 6320 | 29800 | 9660 | 5340 | 16330 | 5870
0.5m| Iux | 2840 | 1903 | 6800 | 2678 | 3240 | 480 | 512 | 1086 | 1510 | 17270 | 3820 | 2930 | 6800 | 3030
1.0m| Lux | 862 | 463 | 1235 | 471 | 425 | 100 | 67 | 119 | 411 | 6120 | 1690 | 1508 | 1874 | 1492
2.0m| L[ux | 136 | 28 85 13 16 2 1 5 67 | 908 | 204 | 438 | 320 | 492
3.0m| Lux | 19 5 7 0 3 0 0 0 7 132 | 55 | 133 | 54 | 193
4.0m| Lux 3 0 2 — 1 — — — 1 17 12 39 9 66
5.0m| Lux 0 — 1 — 0 — — — 0 i1 3 13 1 22

6.0m| Lux | — = 0 — — = — — — — — = — 0
| Lux — — — — — — — — — — - — — —
EREHLORP mv | 284 | 281 | 252 | 97 | 197 | 75 | 154 | 194 | 284 | 42 | 228 | 144 | 188 | 136
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] KEER (£ D 2-2) < >
BAFTA I KA% IR faIE3 Ho ERE184E( 20064F)
g B | Bz | 8/2 | 8/16 | 9/15 | 9/21 | 10/4 | 10/18 | 11/1 | 11/15 | 12/6 | 12/20 Bl | B/ ME | £
REH(N LE me/l | 0.80 [ 0.73 ] 0.82 [ 0.75 [ 0.85 | 0.92 | 0.86 [ 0.88 [ 0.65 | 0.63 1.12 | 0.55 | 0.80
RER(N ng/l | 0.83 [ — — 0.67 | 0.72 — 0.80 | — 0.67 [ — 1.00 | 0.56°| 0.75
HWEHR(IN TR m/l o078 — — 0.65 | 0.72 — 0.92 | — 0.55 [ — 1.02 | 0.55 | 0.76
12y > (TP) £ mg/l 0.086|0.131[0.107[0.127] 0.100] 0.089 | 0.087 | 0.113 | 0. 078 | 0. 072 0.168 | 0.070 | 0. 100
BU v (10) B mg/l 0.088] — — J10.140(0.090] — ]o0.087] — 10.079] — 0.140 | 0. 076 | 0. 096
#Y v (1P TR me/l 0,093 — — |0.145]0.099| — 0.093] — [0.083] — 0.147 [ 0.078 ] 0. 101
COD LR m/l | 6.44 | 6.84 [ 6.88 | 7.68 | 7.33 | 6.71 | 7.74.| 7.07 | 7.54 | 7.01 12.77 ] 5.56 | 7.50
CODHIg m/l | 5.9 | — — 7.58 | 6.97 | — 7.16 | — 7.54 | — 9.27 | 5.96 | 7.31
CODTR mg/l | 5.86 [ — — 7.58 | 7.09 | — 7.18 [ — 7.62 | — 9.19 | 5,86 | 7.39
7RI xEl C — — — — — — — — — —
Fm| C | 24.8]27.0]23.5]23.7]21.8]19.4]17.7] 152 10.7] 8.9
0.5m| °C | 24.8 [ 27.0 [ 23.5] 23.7 | 21.8 | 19.4| 17.7 ] 15.2 ] 10.6 | 8.9
lLom| °C | 249 270 23.5 | 23.7 | 21,7 ] 19.4 | 17.7 [ 156.2 | 10.6 | 8.9
2.0m| °C [24.8[ 270 23.5 ]| 23.7[21.7]19.4] 17.7] 152 10.6 | 8.9
3.0m| °C | 24.8 [ 27.0f 23.5 | 23.7 | 21.7 | 19.4 | 17.7 | 15.2 ] 10.6 | 8.9
40m| C | 248 27.1|23.4 237217 19.4]17.7] 152 10.6 [ 8.9
- 50m| C | 248 271 [ 23.4 ] 23.7 21,7 ] 19.4]17.7] 152 10.6 | 8.9
6.0m| °C — — | 23.3] — — 19.4 | 17,7 ] — — 8.9
E@m| °C 24,7 |'27.1 | 23.3 ] 23.7 | 21.7 | 19.4 | 17.7 ]| 15.2 [ 10.6 | 8.9
*DO Ak mN | — [ — [ — [ — 1T — T —T -—T-—"T-1T-=
F=m| me/t | 8.2 | 7.5 ] 82|86 ] 79 97 99 ]105]100] 112
0.5m| mg/1 | 8.0 | 7.5 | 8.2 | 86 | 7.8 | 9.6 | 9.9 [ 10.1] 10.8 | 11.1
Lom| mg/l | 7.8 | 7.4 [ 8.2 | 85 | 7.8 | 95 ]| 9.9 ] 9.9 [10.6] 11.1
2.0m| mg/t | 7.6 | 7.3 | 84 ] 83 [ 7.7 ] 9.3 9.8 ] 9.6 [ 10.5 [ 10.9
3.0m| mg/l | 7.4 | 7.3 [ 84 [ 81 [ 7.6 ] 93] 9.7 [ 9.6 [ 10.4] 10.8
4.0m| mg/l | 7.4 7.2 | 8.4 ] 81 | 7.5 | 9.3 | 9.7 ] 9.7 | 10.5 | 10.9
50m| mg/t | 7.7 | 7.4 | 82 | 82 | 7.6 | 9.0 | 9.8 | 5.6 | 10.8 ] 11.1
6.0m| g/l — — 7.8 — — 8.9 | 9.8 — — [ 11.4
Bkl e/t | 7.7 | 7.3 | 76 | 8.2 | 7.6 | 89 [ 9.8 | 5.6 | 10.7] 11.4
Aemes AKE[ Lux ] 18870 10080 | 14900 | 62700 | 30500 | 18530 | 34500 | 28000 | 36900 | 2372
#im| Lux | 16280 | 8220 | 7670 | 46300 | 20250 | 17340 | 26180 | 27800 | 19000 | 1396
0.5m| Iux | 4870 | 2880 | 4570 | 13470 | 1410 | 5430 | 7320 | 15620 [ 5290 | 729
L.om| Lux | 1821 | 957 [ 1532 | 4170 | 782 | 2257 | 2189 | 2258 | 2821 | 371
2.0m| Iux | 277 | 121 | 214 | 665 65 252 | 348 | 350 | 340 95
3,0m| Lux 65 14 46 83 | 10 66 46 36 40 20
4.0m| Lux 10 4 12 18 3 16 6 3 8 8
5.0m| Lox 1 1 3 4 0 2 1 0 1 0
6,0m| Lux — — — — — 0 0 — — —
JER| Lux — — — — — — — — — —
EiRE FORP v 221 59 91 100 73 98 136 5 218 125
i

e
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EHETE R R R (20 1)

VA% 185E2H8H A4
K F A4 FUARS AR FUARS | FUARN | FUERIH ) FHRIFURIN| FAR S BRI FURI | FARS | FORR 0| FARSFURI| FARS | FUARN
R DR DU P N P s N Whe | ke | B | Wk

Il 4- B B | @EW | E W S & | Eow (@] e | A | der e e e HEAIRII

B4 B RS I\ A IR A 5A It o 06 | T 5 BR[| moonitan | R AE BRI HER| 2 B R E ARl k| o B, AE[E wEAAB N

HH BAr | 2/8 | 2/8 | 2/8 | 2/8 | 2/8 | 2/8 | 2/8 | 2/8 | a/8 | 2/8 | 2/8 | 2/8 | 2/8 | 2/8 | 2/8 | 2/8
AR A(Cd) mg/l |<0.001| — — — 1<0.001[<0.001| — 1<0.001] — ]<0.001]<0.001] — ]<0,001[<0.001] — —
237 (CN) ~mg/l |<0.01| — — — 1<0.01]<0.01 — 1<0.01 — 1£0.01]<0.01 — 1<0.01]<0.01 — —
#a(Pb) mg/l |<0.001] — — — 1€0.001]<0,001| — [<0.001] — ]<0.001[<0.001] — [<0.001[<0.001] — —
Aflizna(Cr(VI) | meg/t |<0.005] — - — |<0.005[<0.005] — |<0.005] — ]<0.005/<0.005] — [<0.005]|<0.005| — —
e (As) mg/l <0.001] — — — 140.001]<0.001| — ]<0.001] — [<0.001]<0.001] — ]<0.001[<0.001] — —
#AKER(T-Hg) mg/1 |<o0.0005] — — — | <0.0005] <0.0005] — |<0.0005] — [<0.0005]<0.0005] — [<0.0005[<0.0005] — —
PCB mg/l J<o.0005] — — — [<0.0005( <0.0005| — [<0.0005] — [<0.0005<0.0005] — |<0.0005]<0.0005] — —
Nyupxfry mg/l | <o.0002] — — — [<o.0002[<0.0002] — [<o0.0002] — [<o.0002(<0.0002] — |<o.0002]<0.0002] — —
7h7mnxfLy mg/1 |<o.0002] — — — | <0.0002]|<0.0002] — |<o0.0002] — |<0.0002|<0.0002] — |<0.0002[<0.0002] — —
kb ek mg/l | <o.0002| — — — |<o.0002<0.0002] — |<o.0002] — |<o.0002f<0,0002] — |<0.0002]<0.0002) — —
Vyaupyy mg/l |<o.0002] — — — | <0.0002] <0.0002) — [<o.0002]. — [<0.0002]<0.0002] — [<0.0002]<0.0002] — —
1,2-V'ynpxyy me/t | <o.0002] — — — [<0.0002]<0.0002| - — ]<0.0002] — ]<0.0002]<0.0002] — |<0.0002]<0.0002| — —
L1, 1-M7unxyy mg/l | <o.0002| — — — | <0.0002]| <0.0002] — |<o0.0002] — |<0.0002]<0.0002] — [<o0.0002[<o0.0002[ — —
1.1.2-F/onxyy mg/l | <o.0002]| — — — [<o0.0002[<0.0002] — [<o0.0002] — , [<0.0002(<0.0002] — |<0.0002]<e.0002] — —
1L,1-¥' gLy mg/l |<o.0002| — — — |<0.0002] <0.0002] — |<o.0002] — [<o0.0002]<0.0002] — |<o0.0002]<0.0002] — —
YA-1,2-Y by me/l | o000z — — — | <0.0002]<0.0002| — |<0.0002] — [<0.0002]<0.0002] — |<0.0002)<0.0002| — —
1,3-V'ymi7un’y | me/l |<o.oo02| — — — | <0.0002] <0.0002] — |<o.0002] — [<o.0002]<0.0002] — |<o.0002]<0.0002] — —
FUIAh mg/l | <o0.0005| — — — [<o0.0005(<0.0005] — |<o0.0005] — ]<o.0006(<0.0006] — |<0.0006]<0.0006] — —
eV mg/l |<o.0002) — — — [<0.0002<0.0002] — [<0.0002) — [<0.0003(<0.0003] — |<0.0003]<0.0003[ — —
FANVIVT mg/l | <0.0002| — — — [<0.0002] <0.0002] — [<0.0002] — [<0.0003]<0.0003] — |<0.0003]<0.0003] — —
~B mg/l |<o.0002| — — — |<o.0002f<0.0002] — |<o.0002] — |<o.0002f<0.0002] — |<o0.0002]<0.0002] — —
L mg/l |<0.001 — — — <0.001 | <0.001 — <0.001 — <0.001]<0.001 — <0.001 [ <0.001 — —
(NO2-+NO3)-N mg/l |0.338]0.115]0.226| 1.172] 0.309 | 0.165 | 0.105 ] 0.159 | 1.315 [ 0.485 ] 0.001 | 0.255 | 0.183 | 0.092 ] 0.134 ] 0.183
T mg/1 0.13 — - — 0.12 | 0.13 — 0.13 — 0.09 | 0.10 — 0.14 | 0.15 — —
Ve mg/1 0.03 — — — 0.03 | 0.03 — 0.03 — 0.03 | 0.04 — 0.05 | 0.05 - —
EPN mg/l | <0.0005| — — — ]<0.0005] <0.0005] — [<0.0005] — [<0.0005]<0.0005] — [<0.0005]<0.0005| — —
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SERRIBESH2H A
PASE FUAR U [ FURRIN | FARI [ FUARIV | FOARS () FIART | FURR [ FOARI O | FURR) T FARN | TR FRRI | FUGRIT| SR FIAR) 1 FUAR D
s A AL s AL

W 4 A (8 (| i | R o [ i | A | i | R | R | R i

BRIET4A BB P A TR 2 34 ) R 0BT 2R X (36T 0| mooua | TBR A IR Rh{ S8 AR Wh{ 4 AR k| st | B AE[EE |\ EE N

HH Hifz 8/2 8/2 8/2 8/2 8/2 8/2 8/2 8/9 8/2 8/2 8/2 8/2 8/2 8/2 8/2 8/2
AR XU LG mg/l [<0.001] — — — [<0.001|<0.001] — [<0.001] — [<0.001[<0.001] — ]<0.001|<0.001[ — —
RUT (M mg/l [<0.01| — — — [£0.01[<0.01] — [<£0.01] — [£0.01[<0.01] — (<0.01[<0.01] — —
#A(Pb) mg/l |<0.001] — - — |<0.001|<0.001) — [<0.001] — |<0.001|<0.001] — <0.001|<0.001] — —
Aliye (VD) | me/l |<o.005| — — — 1<0.005/<0.005] — ]<0,005] — |<0.005|<0.005] — [<0.005/<0.005| — —
b #(As) mg/l lo.001| — — — |<0.001|0.001| — [o.001] — Jo.001[0.001] — [<0.001)0.001| — —
K ER( T-Hg) g/l |<0.0005] — — — |<o0.0005[<0.0005] — |<0.0005] — |<o.0005|<0.0006] — [<o.0005]<0.0005] — —
PCB mg/l |<o.0005] — — — |<0.0005]<0.0005] — |<o.o005] — [<o.0005[<0.0005] — [<0.0005]|<0.0005] — —
N ypozf mg/l |<o0.0002] — — — |<o0.0002[<0.0002] — |<o.0002] — |<o0.0002|<0.0002] — [<o0.0002)<0.0002[ — —
FhFronzfvy mg/l |<o.0002] — — — |<o0.0002|<0.0002] — |<0.0002] — |<0.0002)<0.0002] — |<o0.0002]|<0.0002] — —
MR mg/l |<0.0002] — — — [<0.0002| <0.0002] — [<0.0002] — |<o0.0002[<0.0002] — |<o0.0002|<0.0002] — —
Y ooy mg/l |<0.0002] — — — | <o.0002f{<0.0002] — [<o.0002] — |«<o0.0002[<0.0002] — |<0.0002[<0.0002] — —
1,2~ Jopd mg/l f<o.0002| — — — |<o.0002[<0.0002] — |<o.0002] — |<o0.0002[<0.0002] — |<0.0002[<0.0002] — —
1, 1, 1-pY ooy, mg/l f<0.0002] — — —  |<0.0002[<0.0002] — [<0.0002] — [<0.0002[<0.0002] — [<0.0002[<0.0002] — _
1.1 2-Myoosys | me/l J<co.0002| — — — |<o.0002f[<0.0002] — [<0.0002] — |<o0.0002|[<0.0002] — [<o0.0002[<0.0002] — —
1,1-¥ Jmozfiy mg/l - |<o0.0002) — — — |<o.0002)<0.0002| — |<0.0002] — [<0.0002]|<0.0002] — [<0.0002|<0.0002| — —
AL, 2 pmxfvs | me/t |<o.0002]  — — — |<o0.0002[<0.0002] — |<o.0002] — |<o0.0002|<0.0002] — |<o.0002]|<0.0002[ — —
1,3=Y 7 oy | m/l f<o.0002] — — — |<o.0002|<0.0002] — |<o.0002] — |<o.0002[<0.0002] — |<o.0002|<0.0002] — —
FU T b me/l |<o.0005| - — — |<0.0005|<0.0005] — [<0.0005] — |<o.0005)<0.0005] — |<o0.0005)|<0.0005] — —
eV mg/l |<o.0002) — — — [<0.0002|<0.0002] — [<0.0002] — |<o.0002f{<0.0002] — [<o0.0002]<0.0002] — —
AN 7' mg/l J<o.0002] — — — |<o.0002|<0.0002] — <o.0002] — [<0.0002|<0.0002] — |<o0.0002]|<0.0002] — —
~ Y mg/l |<o.0002] — — — |<o.0002[<0.0002] — [<0.0002] — |<o.0002[<0.0002] — |<0.0002[<0.0002] — —
L mg/l |<0.001] — — — ]<0.001{<0.001] — |<0.001 — |£0.001]£0.001] — |<0.001]<0.001f — —

(N®2+N®B) -N me/l 10,122]0.276/0.134[0.577]0.574(0.102{0.036]0.000]0.069]0.000/0.000]0.000[0.000{0.001]0.000]0.000
7y R g/ 0.14 — — — 0.15({ 0.16 — 0. 17 — 0.1110.11 — 0.151 0.14 — —
S ng/1 0.03 — — — 0.02 | 0.03 — 0.03 — 0.04]0.04 — 0.04]0.04 — —
EPN mg/l |<0.0005) — — — |<0.0005]|<0.0005] — |<0.0005] — [<0.0005)<0.0005] — |<0.0005]<0,0005] — —

e AU (VD) : SERELTHRSA L 0 FER FIRHD. 0051 AR
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